
CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

VIA GROUP ELEMENTS

PROBLEMS

1. What is the percentage make up of most abundant element in the most

abundant liquid of the earth's crust? 

Watch Video Solution

2. Oxygen is a gas, but other elements of group 16 are solids at room

temperature. Why? 

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aFFSUC32zLNp
https://dl.doubtnut.com/l/_yWekSusXU2o3


3. First and second electron gain enthalpies of oxygen are

-141 and + 702kJmol - 1 How is large number of oxides accounted for ? 

Watch Video Solution

4. Viscosity of sulphur increases when molten sulphur is heated from

120 ∘C to 160 ∘C. Why

Watch Video Solution

5. What are the oxidation numbers exhibited by oxygen?

Watch Video Solution

6. Comment on the catenation capacity of sulphur.

Watch Video Solution

https://dl.doubtnut.com/l/_yWekSusXU2o3
https://dl.doubtnut.com/l/_O5W407kOJvTZ
https://dl.doubtnut.com/l/_qyHlz1nygoup
https://dl.doubtnut.com/l/_jJ5DtWLutd6R
https://dl.doubtnut.com/l/_LaadtPjlGUw4


7. What is the maximum covalency of oxygen ? Give examples.

Watch Video Solution

8. The dissociation constants of H2O, H2S, H2Se are 

1.8 × 10 - 6, 1.4 × 10 - 16, 1.3 × 10 - 7 and 2.2 × 10 - 5, respectively. What do

these values denote? 

Watch Video Solution

9. The Ka values also denote that OH -  is a stronger base and TeH -  is a

weaker base.

View Text Solution

10. Oxygen forms only �uorides, but other chalcogens form di�erent

halides. Why? 

https://dl.doubtnut.com/l/_LaadtPjlGUw4
https://dl.doubtnut.com/l/_YCCBLKrgXY5a
https://dl.doubtnut.com/l/_pF5VptPm5EKG
https://dl.doubtnut.com/l/_UkZDm84Dxed8
https://dl.doubtnut.com/l/_yZ4h4njfGZ6t


Watch Video Solution

11. Dry sulphurdioxide does not bleach dry �owers. Explain. 

Watch Video Solution

12. A and B are elements with atomic numbers 16 and 17. Write di�erent

combinations of binary compounds known from them. 

Watch Video Solution

13. Which oxyacid of sulphur has S - O - S link ? How is it prepared?

Watch Video Solution

14. Oxygen is divalent in its compounds, but sulphur is even hexavalent.

Why?

https://dl.doubtnut.com/l/_yZ4h4njfGZ6t
https://dl.doubtnut.com/l/_UqDAU981HEOb
https://dl.doubtnut.com/l/_vqka18Mv1l7R
https://dl.doubtnut.com/l/_OacxDvFZtgxl
https://dl.doubtnut.com/l/_NBQiOGgAO6e7


Watch Video Solution

15. Write the tautomerism in sulphurous acid.

Watch Video Solution

16. Justify that peroxymono and peroxydisulphuric acids have a peroxy

linkage. How are they structurally di�ferent?

Watch Video Solution

17. Protocity of sulphuric acid is two. Explain?

Watch Video Solution

18. Write the structure and oxidation numbers of sulphur in tetrathionic

acid.

https://dl.doubtnut.com/l/_NBQiOGgAO6e7
https://dl.doubtnut.com/l/_EwJ04eJ5UtLu
https://dl.doubtnut.com/l/_a07VhX8vyzqW
https://dl.doubtnut.com/l/_5tSZhSfJ59Nx
https://dl.doubtnut.com/l/_wtBgGjLbgtv4


SUBJECTIVE EXERCISE - 1(LONG ANSWER QUESTIONS)

SUBJECTIVE EXERCISE - 1(SHORT ANSWER QUESTIONS)

Watch Video Solution

1. Discuss the general characteristics of Group - 15 elements with

reference to their electronic con�guration, oxidation state, atomic size,

ionization enthalpy and electronegativity.

Watch Video Solution

1. Discuss the electronic con�guration of group 16 elements.

Watch Video Solution

2. Write the trends in atomic radius, ionisation potential and metallic

nature of group VIA elements.

https://dl.doubtnut.com/l/_wtBgGjLbgtv4
https://dl.doubtnut.com/l/_FCsenC6eNXJu
https://dl.doubtnut.com/l/_DKFi1PEgIE4M
https://dl.doubtnut.com/l/_caeLjOWxC6w2


SUBJECTIVE EXERCISE - 1(VERY SHORT ANSWER QUESTIONS)

Watch Video Solution

3. Write a short note on the allotropy of sulphur.

Watch Video Solution

4. Discuss the valency and bonding in oxygen and sulphur molècules 

Watch Video Solution

5. Why oxidation states of sulphur are all even numbers ? 

Watch Video Solution

https://dl.doubtnut.com/l/_caeLjOWxC6w2
https://dl.doubtnut.com/l/_3aAkD2EnUVH5
https://dl.doubtnut.com/l/_kVcaZFq8sXoe
https://dl.doubtnut.com/l/_oFy5SRLWhlEn


1. What are the elements of VIA group ? Write their valency shell

electronic con�gurations 

Watch Video Solution

2. Why are group - 16 elements called chalcogens ?

Watch Video Solution

3. Write the structure of gaseous sulphur molecule at low temperatures.

Watch Video Solution

4. Explain the di�erent oxidations states of S in terms of its electronic

con�guration. 

Watch Video Solution

https://dl.doubtnut.com/l/_XpYhsBm6BimW
https://dl.doubtnut.com/l/_RpFsaA85roNk
https://dl.doubtnut.com/l/_TOIF8TAxNbZL
https://dl.doubtnut.com/l/_3hyAfzjRcGNn
https://dl.doubtnut.com/l/_0d1BsLLw20hb


5. What the oxidation states of oxygen ? Why does it not show higher

oxidation states like +4 or + 5? 

Watch Video Solution

6. What is allotropy ? Give the allotropes of oxygen. 

Watch Video Solution

7. Write the names of the allotropic forms of sulphur. 

Watch Video Solution

8. Compare the electron a�nity of oxygen with sulphur. 

Watch Video Solution

https://dl.doubtnut.com/l/_0d1BsLLw20hb
https://dl.doubtnut.com/l/_5PBtaH26t1kG
https://dl.doubtnut.com/l/_VamJKNwakDVu
https://dl.doubtnut.com/l/_kUkhIYci5TZ9


SUBJECTIVE EXERCISE - 2(SHORT ANSWER QUESTIONS)

9. What is transition temperature ?

Watch Video Solution

1. Write on the stability and acidic nature of hydrides of chalcogens. 

Watch Video Solution

2. Water is a liquid and abnormally has low volatility. Explain. 

Watch Video Solution

3. How are oxides of sulphur prepared ? What are their properties?

Watch Video Solution

https://dl.doubtnut.com/l/_a9F6R5OnBm1I
https://dl.doubtnut.com/l/_z3R7MPLPbYOY
https://dl.doubtnut.com/l/_9UQN1Fr6ZOSu
https://dl.doubtnut.com/l/_fZiEcQYwDoST
https://dl.doubtnut.com/l/_0cxwxHIn46ZU


4. Discuss the structures of sulphur dioxide and sulphur trioxide

molecules.

Watch Video Solution

5. How are �uorides of oxygen prepared ? Write their structures. 

Watch Video Solution

6. Mention the preparation and discuss the structures of

S2Cl2, SF2, SF4 and SF6.

Watch Video Solution

7. What are the hydrides of chalcogens ? How do you prepare them in the

laboratory?

Watch Video Solution

https://dl.doubtnut.com/l/_0cxwxHIn46ZU
https://dl.doubtnut.com/l/_qKFhlUqaTvZI
https://dl.doubtnut.com/l/_8fdke26GigRz
https://dl.doubtnut.com/l/_Wrkc8T3zmP37


SUBJECTIVE EXERCISE - 2(VERY SHORT ANSWER QUESTIONS)

8. Why the bond angles in H2O&H2S are di�erent ? Give reason.

Watch Video Solution

1. Write the names and formulae of the hydrides of oxygen.

Watch Video Solution

2. At room temperature H2O is a liquid while H2S is a gas. Explain.

Watch Video Solution

3. How does the stability of the hydrides of chalcogens vary ? Explain. 

Watch Video Solution

https://dl.doubtnut.com/l/_Wrkc8T3zmP37
https://dl.doubtnut.com/l/_8TpGzX2KkpD9
https://dl.doubtnut.com/l/_eSnpbuFCPFpi
https://dl.doubtnut.com/l/_qUPJ7FaVQERw
https://dl.doubtnut.com/l/_hHf9hQ43gbLV


4. What is th   shape of H2S molecule ? What kind of hybridization is

under gone by S in it ? 

Watch Video Solution

5. What are the bond angles in H2O and H.S ? Why they di�er in their

bond angles even through the central atoms exhibit same hybridisations.

Watch Video Solution

6. What the shapes of SO2 and SO2 molecules ? Give the hybridizations in

them. 

Watch Video Solution

7. What are the products of hydrolysis of SCI? Give the necessary

equations. 

https://dl.doubtnut.com/l/_hHf9hQ43gbLV
https://dl.doubtnut.com/l/_cbQ8MbuNTs2N
https://dl.doubtnut.com/l/_EgVWwXfb6pYo
https://dl.doubtnut.com/l/_KJF1z0CfuZhr
https://dl.doubtnut.com/l/_LZrEFEcUew1w


SUBJECTIVE EXERCISE - 3(SHORT ANSWER QUESTIONS)

Watch Video Solution

8. Which is more reactive SF6 or TeF6? 

Watch Video Solution

9. What happens when tellurium tetrahalide is hydrolysed ?

Watch Video Solution

1. Mention the four types of oxyacids of sulphur and give examples.

Watch Video Solution

2. Draw the structures of sulphite and sulphate. 

https://dl.doubtnut.com/l/_LZrEFEcUew1w
https://dl.doubtnut.com/l/_djjlBnX3D55H
https://dl.doubtnut.com/l/_IaFYcpqUk71X
https://dl.doubtnut.com/l/_URAm8SjYVPCN
https://dl.doubtnut.com/l/_vEmBGhdgSAEs


SUBJECTIVE EXERCISE - 3(VERY SHORT ANSWER QUESTIONS)

Watch Video Solution

3. Write the peroxy acids and polythionic acids of sulphur.

Watch Video Solution

4. How is oxygen di�erent from other elements of the same group ? What

are the reasons ?

Watch Video Solution

1. Give any two oxo acids of S in its + IV and + VI states. 

Watch Video Solution

https://dl.doubtnut.com/l/_vEmBGhdgSAEs
https://dl.doubtnut.com/l/_wNPx9bd7Qdtd
https://dl.doubtnut.com/l/_YCIxi0Red71e
https://dl.doubtnut.com/l/_fWK2qm6v97Ao


OBJECTIVE EXERCISE - 1 (GENERAL CHARACTERISTICS)

2. Write the structural formulae of 

(i) Sulphurous acid H2S03  and  

(ii) Sulphuric acid H2SO4  

Watch Video Solution

( )
( )

3. What are the oxidation states of sulphur atoms in peroxy sulphuric

acids?

Watch Video Solution

1. Which of the following set of atomic numbers belongs to group 16

elements ? 

A. 56, 37, 20

B. 52, 8, 84

https://dl.doubtnut.com/l/_9CAtgGoKL1CJ
https://dl.doubtnut.com/l/_csIFSmmPX09I
https://dl.doubtnut.com/l/_H9OQeTnt8cJi


C. 14, 32, 50

D. 36, 9, 17

Answer: B

Watch Video Solution

2. Oxygen and Sulphur have same

A. outer electronic con�guration

B. Atomic size

C. electronic con�guration

D. electron a�nity

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_H9OQeTnt8cJi
https://dl.doubtnut.com/l/_d0w7yvm0aIxC


3. Element with the lowest atomicity

A. Te

B. S

C. Se

D. O

Answer: D

Watch Video Solution

4. The number of atoms present in one molecule of rhombic sulphur is

A. 2

B. 4

C. 6

D. 8

https://dl.doubtnut.com/l/_3SI0uHjhF2VP
https://dl.doubtnut.com/l/_6F45T0L5B0rR


Answer: D

Watch Video Solution

5. The total number of covalent bonds present in one S8 molecule is

A. 4

B. 6

C. 8

D. 10

Answer: C

Watch Video Solution

6. The S - S - S bond angle in S8 molecule is

A. 109.5 ∘

https://dl.doubtnut.com/l/_6F45T0L5B0rR
https://dl.doubtnut.com/l/_m8BjGHaxkhzs
https://dl.doubtnut.com/l/_e5CSQy4OfbhM


B. 105 ∘

C. 120 ∘

D. 60 ∘

Answer: B

Watch Video Solution

7. The decreasing tendency to exist in puckered 8 - membered ring

structure is 

A. S > Se > Te > Po

B. Se > S > Te > Po

C. S > Te > Se > Po

D. Te > Se > S > Po

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_e5CSQy4OfbhM
https://dl.doubtnut.com/l/_4rbh9ESuQ1rI


8. S2 molecule in vapour state is paramagnetic due to the presence of

unpaired electrons is 

A. Bonding boiling σ orbitals

B. Anti bonding σ∗  orbtials

C. Anti bonding π∗  orbitals

D. Bonding π orbitals

Answer: C

Watch Video Solution

9. α, β and γ forms of sulphur di�er in

A. Overal packing of rings

B. Molecular weight

C. Atomicities

https://dl.doubtnut.com/l/_4rbh9ESuQ1rI
https://dl.doubtnut.com/l/_RGyvHEyR4Sro
https://dl.doubtnut.com/l/_bK2cYk87Ihar


D. Their ring structure 

Answer: A

Watch Video Solution

10. The oxidation state of oxygen is zero in

A. CO

B. O3

C. SO2

D. H2O2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bK2cYk87Ihar
https://dl.doubtnut.com/l/_WYuxn0oiqB2n


11. In which of the following compounds, oxygen exhibits +2 oxidation

state ?

A. H2O

B. H2O2

C. OF2

D. H2SO4

Answer: C

Watch Video Solution

12. Which of the following element does not show an oxidation state of

+4 ?

A. Oxygen

B. Sulphur

C. Seleium

https://dl.doubtnut.com/l/_QiAA0CeNKReT
https://dl.doubtnut.com/l/_qMLPDNWe8je0


D. Tellurium

Answer: A

Watch Video Solution

13. Generally oxygen is converted into its ion by

A. Losing electrons

B. Increasing oxidation number

C. Decreasing atomic size

D. Gaining electrons 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qMLPDNWe8je0
https://dl.doubtnut.com/l/_uzZSm0sDxd89


14. If X is a member of chalcogen family, the highest stability of X - 2 is

exhibited by

A. Oxygen

B. Selenium

C. Tellurium

D. Sulphur 

Answer: A

Watch Video Solution

15. Oxygen is always divalent while sulphur can form 2, 4 and 6 bonds

because

A. Oxygen is more electronegative than sulphur

B. Sulphur has vacant d-orbitas while oxygen does not

C. Sulphur has large atomic radius than oxygen

https://dl.doubtnut.com/l/_iPX1I3ML0ih8
https://dl.doubtnut.com/l/_3rOZlyKyCDLq


D. Sulphur is more electronegative than oxygen.

Answer: B

Watch Video Solution

16. In sulphate ion the oxidation state of sulphur is +6 and the

hybridization state of sulphur is 

A. sp

B. sp2

C. sp3

D. sp2 or sp3d2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3rOZlyKyCDLq
https://dl.doubtnut.com/l/_tyaXcVePm9Fm


17. The second most electronegative element in periodic table is

A. F

B. O

C. Cl

D. N

Answer: B

Watch Video Solution

18. Which of the following has higher IP ?

A. Oxygen

B. Sulphur

C. Selenium

D. Tellurium

https://dl.doubtnut.com/l/_jwFZ679ndacE
https://dl.doubtnut.com/l/_oAcKAvNNFHUB


Answer: A

Watch Video Solution

19. Element with higher catenation capacity is

A. S

B. Se

C. Te

D. Po

Answer: A

Watch Video Solution

20. The order of electron gain enthalpy of VI A group elements is

A. S > Se > Te > Po > O

https://dl.doubtnut.com/l/_oAcKAvNNFHUB
https://dl.doubtnut.com/l/_VDLoSF6qq0Zg
https://dl.doubtnut.com/l/_LKHE33k8oDuD


B. S > Se > Te > O > Po

C. O > Se > S > Te > Po

D. O > Te > Se > S > Po

Answer: A

Watch Video Solution

21. The most common oxidation state of VI A group elements is

A. -2

B. +2

C. +4

D. +6

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_LKHE33k8oDuD
https://dl.doubtnut.com/l/_VOhBIrJ3wAx6
https://dl.doubtnut.com/l/_V8zzAq7Jfyk4


OBJECTIVE EXERCISE - 1 (HYDRIDES)

22. Chair form of S6 rings are present in

A. α -  sulphur

B. β -  sulphur

C. Engle's sulphur

D. γ -  sulphur

Answer: C

Watch Video Solution

1. The pair of exothermic hydrides of VI A group are 

A. H2O, H2S

B. H2O, H2Se

C. H2Se, H2Te

https://dl.doubtnut.com/l/_V8zzAq7Jfyk4
https://dl.doubtnut.com/l/_GsLi4HxpCTEq


D. H2S, H2Te

Answer: A

Watch Video Solution

2. Which is non poisonous hydride ?

A. sp3

B. sp2

C. H2Se

D. H2Te

Answer: A

Watch Video Solution

3. Sulphur uses ...... orbitals for bonding in H2S

https://dl.doubtnut.com/l/_GsLi4HxpCTEq
https://dl.doubtnut.com/l/_H0ewINoQs9fX
https://dl.doubtnut.com/l/_uZzAPiBMYZC9


A. sp3

B. sp2

C. one s and one p

D. pure p orbitals

Answer: D

Watch Video Solution

4. A stronger reducing agent is

A. H2O

B. H2S

C. H2Se

D. H2Te

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_uZzAPiBMYZC9
https://dl.doubtnut.com/l/_yXk0j8iBSZsz


5. Correct decreasing order of volatility is

A. H2O > H2S > H2Se

B. H2S > H2O > H2Se

C. H2Se > H2O > H2S

D. H2S > H2Se > H2O

Answer: D

Watch Video Solution

6. The most acidic and thermally stable hydride of chalcogens are

respectively 

A. H2O, H2Te

B. H2Te, H2S

C. H2S, H2Te

https://dl.doubtnut.com/l/_yXk0j8iBSZsz
https://dl.doubtnut.com/l/_EU1YeL5gyuph
https://dl.doubtnut.com/l/_i2t5t1PH1NZd


D. H2Te, H2O

Answer: D

Watch Video Solution

7. In the hydrides of VIA elements largest bond angle and bond length is

observed respectively in 

A. H2O, H2O

B. H2Po, H2O

C. H2O, H2Po

D. H2S, H2Se

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_i2t5t1PH1NZd
https://dl.doubtnut.com/l/_pfZ0kpRrEEg6


8. The e�ect of repulsion between the two lone pairs of electrons present

on oxygen in H2O molecule is

A. no change in H - O - H bond angle

B. increase in H - O - H bond angle

C. decrease in H - O - H bond angle

D. all atoms will be in one plane

Answer: C

Watch Video Solution

9. Which of the following is a weakest acid in its aqueous solution ?

A. H2Te

B. H2Se

C. H2S

D. H2Po

https://dl.doubtnut.com/l/_ovNH7hvuVqQ0
https://dl.doubtnut.com/l/_3hzc4R5ywrip


Answer: C

Watch Video Solution

10. Which of the following is least covalent hydride?

A. H2O

B. H2S

C. H2Se

D. H2Te

Answer: A

Watch Video Solution

11. The bond angle in H2S is

A. 109 ∘28′

https://dl.doubtnut.com/l/_3hzc4R5ywrip
https://dl.doubtnut.com/l/_lJaY2wPBcz3F
https://dl.doubtnut.com/l/_ME0xYai5bTld


OBJECTIVE EXERCISE - 1 (HALIDES AND OXIDES)

B. 104 ∘51′

C. 120 ∘

D. 92.5 ∘

Answer: D

Watch Video Solution

1. The element of VI A group which cannot form hexahalides is

A. O

B. S

C. Se

D. Te

Answer: A

https://dl.doubtnut.com/l/_ME0xYai5bTld
https://dl.doubtnut.com/l/_jtgPEJYxxfB5


Watch Video Solution

2. The hybridization of Sin SF4 is

A. sp3d2

B. sp3d

C. sp3d3

D. sp3

Answer: B

Watch Video Solution

3. The least stable dioxide of group 16 elements is

A. SO2

B. SeO2

C. TeO2

https://dl.doubtnut.com/l/_jtgPEJYxxfB5
https://dl.doubtnut.com/l/_kueO4wU11X63
https://dl.doubtnut.com/l/_Qf98TnLFqgkz


D. PoO2

Answer: D

Watch Video Solution

4. The oxide obtained in the roasting of ironpyrites 

A. SO2

B. SO3

C. FeO

D. SO2 and SO3

Answer: A

Watch Video Solution

5. Among hexahalides of VIA group, the stable halides are

https://dl.doubtnut.com/l/_Qf98TnLFqgkz
https://dl.doubtnut.com/l/_vhYPnK9PnmZh
https://dl.doubtnut.com/l/_A9TQc33l8sJm


A. hexa iodides

B. hexa bromides

C. hexa chlorides

D. hexa �uorides 

Answer: D

Watch Video Solution

6. SO2 bleaches by

A. Reduction

B. Oxidation

C. Hydrolysis

D. Acidic nature 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_A9TQc33l8sJm
https://dl.doubtnut.com/l/_RidvQl3tFj5V


7. The hybridization of sulphur in SO2 is: 

A. sp

B. sp3

C. sp2

D. dsp2

Answer: C

Watch Video Solution

8. In SO2 two oxygen atoms are linked to the sulphur atom through

double bonds. The two π bonds are

A. bond pπ - pπ

B. both pπ - dπ

C. both dπ - dπ

https://dl.doubtnut.com/l/_RidvQl3tFj5V
https://dl.doubtnut.com/l/_D1Jp67CLxjzH
https://dl.doubtnut.com/l/_S3ND4CbF5T2x


D. one dπ - pπ and one pπ - pπ

Answer: D

Watch Video Solution

9. SO2 forms an addition compound sulphuryl chloride with Cl2 in

presence of

A. Charcoal

B. CCl4

C. H + /K2Cr2O7

D. H + /KMnO4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_S3ND4CbF5T2x
https://dl.doubtnut.com/l/_edsZ0NefSJRt


10. In HO -

O
∣ ∣

S - OH the oxidation states of S are

A. +4, - 2

B. +4, 0

C. +2, - 2

D. +4, - 4

Answer: A

Watch Video Solution

11. Acid that contains S - O - S linkage is

A. H2S2O7

B. H2S2O5

C. H2S2O6

D. H2S2O4

https://dl.doubtnut.com/l/_wRKIujsyz2mw
https://dl.doubtnut.com/l/_vELi9BTv36ny


Answer: A

Watch Video Solution

12. Which of the following has S - S bond ?

A. H2S2O2

B. H2S2O7

C. mustard gas

D. H2S2O6

Answer: D

Watch Video Solution

13. Peroxy linkage is present in 

A. H2S2O2

https://dl.doubtnut.com/l/_vELi9BTv36ny
https://dl.doubtnut.com/l/_AHJOemOjVhrB
https://dl.doubtnut.com/l/_RhqPkCuMrWLh


B. H2S2O3

C. H2S2O6

D. H2S2O8

Answer: D

Watch Video Solution

14. Pyrosulphurous acid is 

A. H2S2O5

B. H2S2O2

C. H2S2O3

D. H2S2O4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RhqPkCuMrWLh
https://dl.doubtnut.com/l/_RwkCC2xKmUao
https://dl.doubtnut.com/l/_sCIH28amK0aj


15. Basicity of any oxyacid of sulphur is

A. 3

B. 4

C. 2

D. 1

Answer: C

Watch Video Solution

16. Partial neutralisation of sulphuric acid gives

A. Sulphites

B. Bisulphates

C. Sulphates

D. Bisulphites

https://dl.doubtnut.com/l/_sCIH28amK0aj
https://dl.doubtnut.com/l/_pPjEgaT6o8sS


Answer: B

Watch Video Solution

17. Hybridisation of central sulphur in all oxo anions of sulphur is

A. sp3d

B. sp3

C. sp3d2

D. sp2d

Answer: B

Watch Video Solution

18. What is the number of sigma and pi bonds present in H2SO4 molecule

? 

https://dl.doubtnut.com/l/_pPjEgaT6o8sS
https://dl.doubtnut.com/l/_bAKzNKJXF0pC
https://dl.doubtnut.com/l/_hwrDDalvZ3I6


A. 6σ and 2π

B. 6σ and 0π

C. 2σ and 4π

D. 2σ and 2π

Answer: A

Watch Video Solution

19. Permonosulphuric acid is known as

A. Marshall's acid

B. Caro's acid

C. Sulphuric acid

D. Sulphurous acid Ozone

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hwrDDalvZ3I6
https://dl.doubtnut.com/l/_qqeZM5ClVJFK


OBJECTIVE EXERCISE - 1 (OZONE)

1. The formation of O3 from O2 is

A. exothermic and reversible

B. endothermic and irreversible

C. endothermic and reversible

D. exothermic and spontaneous

Answer: C

Watch Video Solution

2. O3 is prepared by subjecting 0, to silent electric discharge. The

favourable conditions for the formation of ozone according to Le-

chatlier's principle are

https://dl.doubtnut.com/l/_qqeZM5ClVJFK
https://dl.doubtnut.com/l/_zJ5xHkKCKPcK
https://dl.doubtnut.com/l/_H81ViF4lWQqq


A. low temperature, low pressure

B. high temperature, high pressure

C. low temperature, high pressure

D. high temperature, low pressure 

Answer: B

Watch Video Solution

3. Mercury sticks to glass when it comes in contact with

A. H2O

B. HNO3

C. I3

D. O3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_H81ViF4lWQqq
https://dl.doubtnut.com/l/_mPnQxmAT9Yya


4. Decomposition of Ozone into Oxygen has

A. ΔH = - ve

B. ΔS = - ve

C. ΔH = + ve

D. All of these

Answer: A

Watch Video Solution

5. Dry bleaching agent is

A. O3

B. SO2

C. Cl2

https://dl.doubtnut.com/l/_mPnQxmAT9Yya
https://dl.doubtnut.com/l/_MChmw3I46vSY
https://dl.doubtnut.com/l/_UM1pqqhCT51h


D. H2O2

Answer: A

Watch Video Solution

6. A black compound 'X' when treated with O3 turned white. The

compound 'X' is

A. ZnS

B. PbS

C. CuS

D. Ag2S

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_UM1pqqhCT51h
https://dl.doubtnut.com/l/_bMmIf1b0xGdi


7. The O - O bond length in Ozone is 

A. 1.33A ∘

B. 1.28A ∘

C. 1.48A ∘

D. 1.39A ∘

Answer: B

Watch Video Solution

8. With respect to both oxygen and ozone, which one of the following

statements is not correct?

A. They are allotropes together

B. oxygen is colourless while ozone is coloured

C. valency of oxygen is 2 in both

D. oxygen has 2 bonds and ozone has 3 bonds

https://dl.doubtnut.com/l/_N2l0G1bKt6xd
https://dl.doubtnut.com/l/_892jwj1uNvvc


Answer: C

Watch Video Solution

9. In which of the following reactions ozone acts as a reducing agent?

A. BaO2 + O3 → BaO + 2O2

B. 2HCl + O3 → Cl2 + H2O + O2

C. PbS + 4O3 → PbSO4 + 4O2

D. 2KI + O3 + H2O → 2KOH + I2 + O2

Answer: A

Watch Video Solution

10. Which one of the following reactions does not occur ?

A. BaO + O3 → BaO2 + O2

https://dl.doubtnut.com/l/_892jwj1uNvvc
https://dl.doubtnut.com/l/_pQb3zNOXf8yX
https://dl.doubtnut.com/l/_fPBGavPCbnrx


OBJECTIVE EXERCISE - 1 (SULPHURIC ACID)

B. PbS + 4O3 → PbSO4 + 4O2

C. H2O2 + O3 → H2O + 2O2

D. 2Hg + O3 → Hg2O + O2

Answer: A

Watch Video Solution

1. Oil of vitriol is

A. H2SO4

B. H2SO3

C. H2S2O7

D. H2S2O8

Answer: A

https://dl.doubtnut.com/l/_fPBGavPCbnrx
https://dl.doubtnut.com/l/_ace141oYvcpp


Watch Video Solution

2. The catalyst used in the manufacture of sulphuric acid by contact

process is

A. Al2O3

B. Cr2O3

C. V2O5

D. MnO2

Answer: C

Watch Video Solution

3. In the preparation of H2SO4

A. SO2 is dissolved in H2SO4

B. SO2 is dissolved in water

https://dl.doubtnut.com/l/_ace141oYvcpp
https://dl.doubtnut.com/l/_1IGW2JpV6K1u
https://dl.doubtnut.com/l/_xSBUryuV6LMM


C. SO3 is dissolved in conc. H2SO4

D. SO3 is dissolved in dilute H2SO4

Answer: C

Watch Video Solution

4. Poison for platinum, a catalyst in Contact process is 

A. S

B. P

C. As

D. C

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xSBUryuV6LMM
https://dl.doubtnut.com/l/_iJgUqX68XMIv


5. In Contact process impurities of arsenic are removed by: 

A. Al(OH)3

B. Fe(OH)3

C. Cr(OH)3

D. Fe2O3

Answer: B

Watch Video Solution

6. Oleum or fuming H2SO4 is

A. A mixture of conc. H2SO4 and oil

B. Sulphuric acid which gives fumes of sulphur dioxide

C. Sulphuric acid saturated with sulphur trioxide, i.e., H2S2O7

D. A mixture of sulphuric acid and nitric acid

https://dl.doubtnut.com/l/_OcmnJMhJb4RV
https://dl.doubtnut.com/l/_EYu0djT6Puva


Answer: C

Watch Video Solution

7. The common impurity in sulphur dioxide used in contact process 

A. SO3

B. CO2

C. As

D. As2O3

Answer: D

Watch Video Solution

8. Practical pressure utilised in contact tower 

A. 2 bar

https://dl.doubtnut.com/l/_EYu0djT6Puva
https://dl.doubtnut.com/l/_nwUJuBnREPCv
https://dl.doubtnut.com/l/_CONvpYRu8TcU


B. 0.2 bar

C. 20 bar

D. 200 bar

Answer: A

Watch Video Solution

9. Hypo is a salt of the oxyacid

A. thiosulphuric acid

B. Thiosulphurous acid

C. dithionous acid

D. dithionic acid

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CONvpYRu8TcU
https://dl.doubtnut.com/l/_TnUu7xV5l1yo


OBJECTIVE EXERCISE - 1 (ASSERTION AND REASON TYPE)

1. (A): Thermal stability of the hydrides of VIA group elements decreases

from H2O → H_(2)Po` 

(R): The heats of dissociation of M-H bond of hydrides of VIA group

decreases down the group 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

2. (A): H,0 is thermally more stable than H2S  

(R): H2O molecules can form inter-molecular hydrogen bonds where as 

https://dl.doubtnut.com/l/_Cd5FFjwyo3OB
https://dl.doubtnut.com/l/_DzG560MqsCHD


H2S molecules can not.

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

3. (A): Direct absorption of SO3 in H2O is commercially not possible  

(R): Direct absorption of SO3 in water forms a mist of corrosive vapours. 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

https://dl.doubtnut.com/l/_DzG560MqsCHD
https://dl.doubtnut.com/l/_Xi17biTNhq7J


Answer: A

Watch Video Solution

4. (A) The formation of SO3 by contact process is an example of

heterogeneous catalysis 

(R): The reactants and product are in di�erent phase in the formation of

SO3 by contact process 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Xi17biTNhq7J
https://dl.doubtnut.com/l/_jQyXYf833UUk


5. (A): Oxygen has highest tendency, among chalcogens, to form

dinegative ion 

(R): Electron a�nity of oxygen is highest among chacogens

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: C

Watch Video Solution

6. (A): Diatomic sulphur has a dicovalent bond  

(R): Maximum valency of sulphur is six 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

https://dl.doubtnut.com/l/_KkcRacOWWheV
https://dl.doubtnut.com/l/_bcszSUt9cayR


C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

7. (A): Water forms hydronium ion in acid solutions 

(R): The maximum covalency of oxygen is three 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bcszSUt9cayR
https://dl.doubtnut.com/l/_XnPDl6avU4iD
https://dl.doubtnut.com/l/_0SUlhmhb8YQs


8. (A): Sulphur is hexavalent in the ground state 

(R): Sulphur can form a minimum of six bonds 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: D

Watch Video Solution

9. (A): Oxygen exhibits positive oxidation states in some of its compounds

(R): In binary �uorides, �uorine is always more electronegative

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

https://dl.doubtnut.com/l/_0SUlhmhb8YQs
https://dl.doubtnut.com/l/_B7t59R1PBplM


D. A is false, R is true

Answer: A

Watch Video Solution

10. (A): Ozone is an allotrope of oxygen. 

(R): Ozone is better oxidising agent as compared with oxygen. 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_B7t59R1PBplM
https://dl.doubtnut.com/l/_PPmYYVmqiKsP


11. (A): Catanation ability of sulphur is observed in polysulphides 

(R): A polysulphide with eight sulphur atoms is known 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: C

Watch Video Solution

12. (A): Water is the most stable hydride of chalcogens 

(R): Among M-H bonds of chacogen hydrides, O - H bond is more stable. 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

https://dl.doubtnut.com/l/_flQpj4LIMBIC
https://dl.doubtnut.com/l/_t1GLX9cD7esq


D. A is false, R is true

Answer: A

Watch Video Solution

13. (A): Ozone can be used qualitatively to distinguish unsaturated

hydrocarbons from saturated 

(R): Ozonides are formed with unsaturated hydrocarbons

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_t1GLX9cD7esq
https://dl.doubtnut.com/l/_ZliwfnJoNtEz
https://dl.doubtnut.com/l/_kKr7WkKliCH2


14. (A): Conc.H2SO4 reacts with KCl to give Cl2 gas  

(R): HCI cannot be oxidised by conc.H2SO4 

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: D

Watch Video Solution

15. (A): SO3 molecule has a planar structure  

(R) : S atom in SO3 is sp2 -  hybridized and O - S - O bond angle is 120 ∘

A. Both A & R are true, R is the correct explanation of A

B. Both A & R are true, R is not correct explanation of A

C. A is true, R is false

https://dl.doubtnut.com/l/_kKr7WkKliCH2
https://dl.doubtnut.com/l/_FWJ5i85qlStp


OBJECTIVE EXERCISE - 2 (GENERAL CHARACTERISTICS)

D. A is false, R is true

Answer: A

Watch Video Solution

1. Name the most abundant element present in earth's crust.

A. O

B. Se

C. S

D. Te

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FWJ5i85qlStp
https://dl.doubtnut.com/l/_DGNLbqhOD4og
https://dl.doubtnut.com/l/_MpbfwXDOn5Rr


2. 

LIST - I LIST - 2
A) Gypsum 1) PbS
B) Baryts 2) ZnS
C) Galena 3) BaSO4

D) Zinc blende 4) CaSO4.2H2O

5) Fe3O4

 

The correct match is

A. 
A B C D
4 5 1 3

B. 
A B C D
3 5 1 2

C. 
A B C D
4 3 1 2

D. 
A B C D
3 4 1 2

Answer: C

Watch Video Solution

3. Oxygen exhibits least oxidation state in

A. OF2

https://dl.doubtnut.com/l/_MpbfwXDOn5Rr
https://dl.doubtnut.com/l/_AffzY4e1DYdE


B. KO2

C. H2O

D. H2O2

Answer: C

Watch Video Solution

4. Polyanion formation is maximum in

A. Nitrogen

B. Oxygen

C. Sulphur

D. Boron

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_AffzY4e1DYdE
https://dl.doubtnut.com/l/_iDLGmoxb3Prn
https://dl.doubtnut.com/l/_a4fCiHgmZTRb


5. In a compound of sulphur, the sulphur atom is in second excited state.

The possible hybridisation of sulphur is 

A. sp2

B. sp3

C. sp3d2

D. sp2( or )sp3( or )sp3d2

Answer: D

Watch Video Solution

6. Which of the following has strong metallic interactions ? 

A. O

B. Se

C. Se

D. Te

https://dl.doubtnut.com/l/_a4fCiHgmZTRb
https://dl.doubtnut.com/l/_bjISH86Nyngu


OBJECTIVE EXERCISE - 2 (HYDRIDES)

Answer: D

Watch Video Solution

1. Among the following, the weakest conjugate base is 

A. OH -

B. SH -

C. she -

D. the -

Answer: D

Watch Video Solution

2. The geometry of H2S and its dipole moment are

https://dl.doubtnut.com/l/_bjISH86Nyngu
https://dl.doubtnut.com/l/_oj9TJNtFGh1s
https://dl.doubtnut.com/l/_MqM6WiF4iGF5


A. Angular and non zero

B. Angular and zero

C. Linear and non zero

D. Linear and zero

Answer: A

Watch Video Solution

3. In which of the following bond angle can not be explained by Valence

Bond Theory?

A. H2O

B. H2Po

C. H2S

D. H2Te

Answer: A

https://dl.doubtnut.com/l/_MqM6WiF4iGF5
https://dl.doubtnut.com/l/_fnnMswfxs412


OBJECTIVE EXERCISE - 2 (HALIDES AND OXIDES)

Watch Video Solution

1. Which among the following compound cannot be prepared by direct

union of elements ?

A. SF6

B. Se2Br2

C. S2Cl2

D. SF4

Answer: D

Watch Video Solution

2. The shape of sulpher hexa�uoride molecule is

https://dl.doubtnut.com/l/_fnnMswfxs412
https://dl.doubtnut.com/l/_vxJUJoM44vxJ
https://dl.doubtnut.com/l/_W1ltio9z8pfr


A. Tetrahedral

B. Square planar

C. pyramidal

D. Octahedral

Answer: D

Watch Video Solution

3. Which of the following can give an oxyacid when dissolved in H2O ?

A. Cl2O

B. SO3

C. SO2

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_W1ltio9z8pfr
https://dl.doubtnut.com/l/_NHg71NobLaoB


4. Which is an amphoteric oxide ?

A. SO2

B. B2O3

C. ZnO

D. Na2O

Answer: C

Watch Video Solution

5. The acidic character of dioxides of members of oxygen family decreases

in the order 

A. SeO2 > SO2 > TeO2 > PoO2

B. SO2 > SeO2 > TeO2 > PoO2

C. PoO2 > TeO2 > SeO2 > SO2

https://dl.doubtnut.com/l/_NHg71NobLaoB
https://dl.doubtnut.com/l/_I7yUY6kWjStB
https://dl.doubtnut.com/l/_RFuH4i2nibbW


D. TeO2 > PoO2 > SeO2 > SO2

Answer: B

Watch Video Solution

6. One gas bleaches the colour of the �owers by reduction while the other

by oxidation in the presence of moisture. The gases are 

A. CO and CO2

B. H2S and Br2

C. SO2 and Cl2

D. NH3 and SO3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RFuH4i2nibbW
https://dl.doubtnut.com/l/_ifkFnkLnQplD


7. When moist coloured �owers are added into SO2 gas the �owers are

decolourised because

A. SO2 absorbs colouring matter

B. SO2 oxidised vegetable colouring matter

C. SO2 reduces vegetale colouring matter

D. SO2 gives colourless product 

Answer: C

Watch Video Solution

8. Sulphurous anhydride is

A. SO2

B. SO3

C. HSO -
3

D. SO2 -
3

https://dl.doubtnut.com/l/_ZBIOt841vvMp
https://dl.doubtnut.com/l/_0jWxSmBLweEQ


OBJECTIVE EXERCISE - 2 (OXYACIDS)

Answer: A

Watch Video Solution

9. Which of the following dissolves in water but does not give any oxyacid

solution ?

A. SO2

B. OF2

C. SCl4

D. SO3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0jWxSmBLweEQ
https://dl.doubtnut.com/l/_JqOz81pEm7Qw


1. Which of the following has S - O - S bond in it is

A. pyrosulphurous acid

B. Oleum

C. Caro's acid

D. Marshal's acid 

Answer: B

Watch Video Solution

2. The ratio of pπ - dπ bonds is SO2 and SO3 molecules 

A. 1: 1

B. 1: 2

C. 2: 1

D. 2: 3

https://dl.doubtnut.com/l/_NuiMz8rztf8C
https://dl.doubtnut.com/l/_XI7tIp7ZYKFJ


Answer: B

Watch Video Solution

3. A salt of sulphurous acid is called

A. Sulphate

B. Sulphurate

C. Sullphite

D. Sulphide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XI7tIp7ZYKFJ
https://dl.doubtnut.com/l/_TA6J3nudAw82


4. 

LIST - 1 LIST - 2
A) H2SO4 1) +4

B) H2(S)nO6 2) +3

C) H2SO3 3) +2, - 2

D) H2SO3 4) +6

5) +5,0

 

The correct match is

A. 
A B C D
2 5 2 4

B. 
A B C D
3 2 1 4

C. 
A B C D
4 5 1 2

D. 
A B C D
2 3 1 5

Answer: C

Watch Video Solution

5. Number of hydorxyl groups present in pyrosulphuric acid is

A. 3

https://dl.doubtnut.com/l/_n0a4PbLfQ1rR
https://dl.doubtnut.com/l/_Fs5HvISGTRO7


B. 4

C. 2

D. 1

Answer: C

Watch Video Solution

6. The acid containing S - O - O - S bond is 

A. H2SO5

B. H2S2O7

C. H2S2O6

D. H2S2O8

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Fs5HvISGTRO7
https://dl.doubtnut.com/l/_0EbWlTbYLjUj
https://dl.doubtnut.com/l/_SMe2k1QbxBbe


7. S - S bond is not present in

A. Pyro sulphurous acid

B. Dithionic acid

C. Dithionous acid

D. Pyro sulphuric acid 

Answer: D

Watch Video Solution

8. Oxidation state of S in H2SO5 and H2S2O8 respectively are

A. +6, + 6

B. +6, + 4

C. +8, 7

D. +4, + 4

https://dl.doubtnut.com/l/_SMe2k1QbxBbe
https://dl.doubtnut.com/l/_1lsjEgij67Kj


Answer: A

Watch Video Solution

9. Iron sulphide is heated in air to form A, an axide of sulphir. A is

dissolved in water to give an acid . The basicity of this acid is

A. 2

B. 3

C. 1

D. zero

Answer: A

Watch Video Solution

10. Identify the correct sequence of increasing number of π - bonds in the

structures of the following molecules. I H2S2O6   IIH2SO3   III.H2S2O5

https://dl.doubtnut.com/l/_1lsjEgij67Kj
https://dl.doubtnut.com/l/_NPThSahMOYVL
https://dl.doubtnut.com/l/_xECPcotc24H1


OBJECTIVE EXERCISE - 2 (OZONE)

A. I, II, III

B. II, III, I

C. II, I, III

D. I, III, II

Answer: B

Watch Video Solution

1. The number of sigma and pi bonds in peroxodisulphuric acid are,

respectively.

A. 9 and 4

B. 11 and 4

C. 4 and 8

D. 4 and 9

https://dl.doubtnut.com/l/_xECPcotc24H1
https://dl.doubtnut.com/l/_rRvT9ks8xEV7


Answer: B

Watch Video Solution

2. Select the wrong statement

A. Ozone is a pale blue gas

B. O3 acts as both oxidant and reductant

C. Ozone is used as an antiseptic inhaler

D. Ozone is used in sterlization of water 

Answer: C

Watch Video Solution

3. Pure ozone is

A. Pale blue gas

https://dl.doubtnut.com/l/_rRvT9ks8xEV7
https://dl.doubtnut.com/l/_qZN18A0FsSbY
https://dl.doubtnut.com/l/_NYU0r0pAtO0T


B. Dark blue liquid

C. Violet black solid

D. All the above 

Answer: D

Watch Video Solution

4. The incorrect statement among the following

A. Ozone is an angular molecule

B. O3 is a poisonous gas

C. O3 is highly soluble in water

D. Ozone is present in stratosphere 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NYU0r0pAtO0T
https://dl.doubtnut.com/l/_jj43752O3X6M
https://dl.doubtnut.com/l/_SRxYHmFyXKi9


5. Which of the following conversion is not brought about by ozone ? 

A. HF to F2

B. Moist KI to I2

C. Ag2O to Ag

D. PbS to PbSO4

Answer: A

Watch Video Solution

6. Number of volumes of Oxygen that gives 4 volumes of Ozone is

A. 4

B. 6

C. 8

D. 2

https://dl.doubtnut.com/l/_SRxYHmFyXKi9
https://dl.doubtnut.com/l/_E1JqzIP33aBx


Answer: B

Watch Video Solution

7. Starch paper moistened with KI solution turns blue in ozone because of

A. Iodine liberation

B. Oxygen liberation

C. Alkali formation

D. Ozone is acidic 

Answer: A

Watch Video Solution

8. Higher concentrations of ozone is characte rised as

A. Dangerously explosive

https://dl.doubtnut.com/l/_E1JqzIP33aBx
https://dl.doubtnut.com/l/_eJxA9D0IqpBq
https://dl.doubtnut.com/l/_gtFeKS1z0iKo


B. Harmless gas

C. Both (1) and (2)

D. None of these

Answer: A

Watch Video Solution

9. Which of the following is not correct?

A. 2O2

Silent electric
⇔ discharge2O3, ΔH = - 284.5KJ

B. Ozone undergoes addition reaction with unsaturated carbon

compounds.

C. Nitrogen oxides emitted from jet planes might be slowly depleting

ozone.

D. Ozone oxides lead sulphide to lead sulphate 

Answer: A

https://dl.doubtnut.com/l/_gtFeKS1z0iKo
https://dl.doubtnut.com/l/_9K5MiN0DB2YD


OBJECTIVE EXERCISE - 2 (SULPHURIC ACID)

Watch Video Solution

10. Ethylene on reaction with ozone gives

A. Glyoxal

B. Formaldehyde

C. Ethylene ozonide

D. Acetaldehyde Sulphuric acid

Answer: C

Watch Video Solution

1. Which characteristic property of H2SO4 is responsible for its chemcial

properties

https://dl.doubtnut.com/l/_9K5MiN0DB2YD
https://dl.doubtnut.com/l/_TtK94W1nWmIY
https://dl.doubtnut.com/l/_xndNUpHu8UaR


A. low boiling point

B. weak acidic nature

C. acting as reductant

D. a�nity for water 

Answer: D

Watch Video Solution

2. Pick out the ideal condition for H2SO4 manufactured by Contact

process

A. Low temperature, high pressure and high concentration of

reactants

B. Low temperature, low pressure and low concentration of reactants

C. High temperature, high pressure and high concentration of

reactants

https://dl.doubtnut.com/l/_xndNUpHu8UaR
https://dl.doubtnut.com/l/_hlsGw7w31Zaf


PRACTICE EXERCISE

D. Low temperature, low pressure and high concentration of reactants

Answer: A

Watch Video Solution

1. The chalogen containing equal number of 's' and 'p' electrons is

A. O

B. S

C. Mg

D. Te

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hlsGw7w31Zaf
https://dl.doubtnut.com/l/_cyAvMdrUYwYT
https://dl.doubtnut.com/l/_OjrEkl53LtPl


2. Oxygen cannot exhibit higher oxidation states due to

A. small size

B. more electronegativity

C. less density

D. absence of d' orbitals 

Answer: D

Watch Video Solution

3. Magnetic moment of O2 is nearly 

A. 1.8 BM

B. 2.8 BM

C. 3.8 BM

D. Zero

https://dl.doubtnut.com/l/_OjrEkl53LtPl
https://dl.doubtnut.com/l/_Af0RFUIw0jYc


Answer: B

Watch Video Solution

4. The oxidation numbers of sulphur in S8, SO2 and H2S respectively are

(M-2010 & IIT 1999) 

A. 0, + 4 and - 2

B. +2, + 4 and - 2

C. 0, + 4 and + 2

D. -2, + 4and - 2

Answer: A

Watch Video Solution

5. The pair of VI A group elements available in native state is

https://dl.doubtnut.com/l/_Af0RFUIw0jYc
https://dl.doubtnut.com/l/_L1t6tejZjqCU
https://dl.doubtnut.com/l/_BEipVLBn5KnQ


A. S, Po

B. S, Se

C. Te, Po

D. O, S

Answer: D

Watch Video Solution

6. In the hydrides of VI A group elements the boiling point increases from

H2S to H2Po. It is because of increase in the

A. size of atoms

B. Stability

C. atomic weight of chalcogens

D. Acidic nature 

Answer: C

https://dl.doubtnut.com/l/_BEipVLBn5KnQ
https://dl.doubtnut.com/l/_Q7RFbR2KoGbE


Watch Video Solution

7. In the hydrides of VI A group elements, the acidic strength gradually

increases from top to bottom. This is due to

A. decrease in the EN of the chalcogens

B. increase in their Ka values

C. increase in the metallic strength of chalcogen

D. increase in the m.p. of chalcogen

Answer: B

Watch Video Solution

8. Oxygen is more electronegative than sulphur, yet H2S is acidic while 

H2O is neutral. This is because

A. Water is a highly associated compound

https://dl.doubtnut.com/l/_Q7RFbR2KoGbE
https://dl.doubtnut.com/l/_K40r3lu4Muxi
https://dl.doubtnut.com/l/_cv6eWUP28QgS


B. H - S bond is weaker than H - O bond

C. H2S is a gas while H2O is a liquid

D. The molecular weight of H2S is more

Answer: B

Watch Video Solution

9. SF4 is obtained by treating sulphur with

A. F2

B. CoF2

C. CoF3

D. CoF3 -
6

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cv6eWUP28QgS
https://dl.doubtnut.com/l/_4o8yujjhY40U
https://dl.doubtnut.com/l/_aK0TOipyTH0o


10. Oxidation state of S in compound 'Z' is

A. +1

B. +4

C. +6

D. +2

Answer: B

Watch Video Solution

11. The hybridisation of sulphur atom in SCl4 and the shape of the

molecule are

A. sp3 and tetrahedral

B. sp3d and distorted tetrahedral

C. sp3d and trigonal bipyramidal

D. sp3d and tetrahedral 

https://dl.doubtnut.com/l/_aK0TOipyTH0o
https://dl.doubtnut.com/l/_c7fypnYRUkkC


Answer: B

Watch Video Solution

12. 

LIST - 1 LIST - 2
A) SF6 1) angular

B) SF4 2) open book

C) SF2 3) octahedral

D) S2F2 4) pyramidal

5) distorted tetrahedral

 

The correct match is

A. 
A B C D
1 2 3 4

B. 
A B C D
4 2 5 3

C. 
A B C D
2 4 1 5

D. 
A B C D
3 5 1 2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_c7fypnYRUkkC
https://dl.doubtnut.com/l/_yzGRHdXJoNrV
https://dl.doubtnut.com/l/_HaOfFsVOeOuc


13. TeCl4is expected to be

A. Tetrahedral

B. Square plannar

C. Octahedral

D. Trigonal bipyramid 

Answer: D

Watch Video Solution

14. In SCl4 the central atom involves

A. sp3 hybridization

B. sp2d2 hybridization

C. sp2d2 hybridization

D. dsp2 hybridization 

https://dl.doubtnut.com/l/_HaOfFsVOeOuc
https://dl.doubtnut.com/l/_rmaVz7fezL06


Answer: A

Watch Video Solution

15. Which of the following is incorrectly matched?

A. SCI4 - unstable liquid

B. SeCI4 - Sublimative solid

C. TeC14 - hygroscopic solid

D. SCI2 - yellow oily liquid 

Answer: D

Watch Video Solution

16. Which of the following can be prepared by the direct union of

elements ?

https://dl.doubtnut.com/l/_rmaVz7fezL06
https://dl.doubtnut.com/l/_QbR7pEBhm96E
https://dl.doubtnut.com/l/_roVP9uMgKPc8


A. SF6

B. SeF6

C. TeF6

D. All

Answer: D

Watch Video Solution

17. Which of the following is least soluble in water?

A. TeO2

B. SO2

C. PoO2

D. SeO2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_roVP9uMgKPc8
https://dl.doubtnut.com/l/_PrPNxdU8cDW1


18. The wrong statement regarding sulphur oxides is

A. SO3 is formed in 2nd excited state of 'S'

B. Molecule of SO3 contains both Pπ - Pπ  bonds and Pπ - dπ  bonds

C. SO2 and SO3 can be di�erentiated by acidi�ed K2Cr2O7

D. γ - SO2 is more stable than α - SO3 19. During the bleaching action

of SO2 it is converted to

Answer: D

Watch Video Solution

19. During the bleaching action of SO2, it is converted to

A. H2SO3

B. SO3

https://dl.doubtnut.com/l/_PrPNxdU8cDW1
https://dl.doubtnut.com/l/_emSFJJamY2uP
https://dl.doubtnut.com/l/_THf4RpcyjqLE


C. H2S

D. H2SO4

Answer: D

Watch Video Solution

20. Reducing property of SO2 is shown in  

A) 2H2S + SO2 → 3S + 2H2O  

B) I2 + SO2 + 2H2O → SO - 2
4 + 2I - + 4H +   

C) 3Fe + SO2 → 2Fe + FeS

A. A

B. B

C. A, B

D. A, C

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_THf4RpcyjqLE
https://dl.doubtnut.com/l/_ipL05Pg52dAa


Watch Video Solution

21. Bond angle, bond length and hybridisation in SO3 molecule

respectively are

A. 119.5 ∘ , 143 nm, sp2

B. 119.5 ∘ , 143 pm, sp2

C. 119.5 ∘ , 143 pm, sp3

D. 119.5 ∘ , 143 pm, sp3d

Answer: B

Watch Video Solution

22. Number of ′ σ′  and ′ π′  bonds in solid SO3 cyclic structure are

A. 12σ and 6π

B. 12σ and 12π

https://dl.doubtnut.com/l/_ipL05Pg52dAa
https://dl.doubtnut.com/l/_IV9vt9eHvDzP
https://dl.doubtnut.com/l/_ihbjs4Erp2xB


C. 6σ and 12π

D. 6σ and 6π

Answer: A

Watch Video Solution

23. The oxide which acts as a reducing, oxidising, bleaching agent and a

Lewis base is

A. SO2

B. SO3

C. CO2

D. NO

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ihbjs4Erp2xB
https://dl.doubtnut.com/l/_kfoQxZInzhBn
https://dl.doubtnut.com/l/_rrLa5pj4nsyA


24. In γ-form of SO3, the hybridisation of sulphur is

A. sp

B. sp3d

C. sp2

D. sp3

Answer: D

Watch Video Solution

25. X and Y are anhydrides of sulphurous and sulphuric acid respectively.

The hybridisation state and the shape of X and Y are 

            X       Y

1) sp2,  angular sp2, tetrahedral

2) sp2, angular sp2, angular

3) sp2, angular sp2, planar triangular

4) sp3, planar sp3, planar

Watch Video Solution

https://dl.doubtnut.com/l/_rrLa5pj4nsyA
https://dl.doubtnut.com/l/_TBRtLpLQEfNO
https://dl.doubtnut.com/l/_G3H88CZTN4jB


26. An oxyacid of sulphur contained S = S linkage and the oxidation

number of S in it is +6 and -2. It belongs to 

A. -  ous series

B. -  ic series

C. peroxo series

D. thionic acid series

Answer: B

Watch Video Solution

27. The anhydride of pyrosulphuric acid is

A. SO2

B. S2O
2 -
3

C. SO3

D. S2O
2 -
7

https://dl.doubtnut.com/l/_G3H88CZTN4jB
https://dl.doubtnut.com/l/_Oh4UWFUWi7Dr


Answer: C

Watch Video Solution

28. Which of the following does not contain a symmetrical structure ?

A. H2S2O4

B. H2S2O5

C. H2S2O7

D. H2S2O6

Answer: B

Watch Video Solution

29. In the following oxyacid of sulphur the two sulphur atoms exhibit the

oxidation numbers of + IV and - II

https://dl.doubtnut.com/l/_Oh4UWFUWi7Dr
https://dl.doubtnut.com/l/_dsO9UcXM559x
https://dl.doubtnut.com/l/_4Bh5mQalfy9i


A. H2S2O2

B. H2S2O7

C. H2S2O3

D. H2S2O6

Answer: A

Watch Video Solution

30. H2SO4 reacts with sugar and acts as

A. A dehydrating agent

B. An oxidizing agnet

C. A sulphonating agnet

D. A salt forming agent 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4Bh5mQalfy9i
https://dl.doubtnut.com/l/_UFSkqcrCjJNb


31. The acid used in lead storage battery is

A. Nitric acid

B. Sulphuric acid

C. Hydrochloric acid

D. Phosphoric acid 

Answer: A

Watch Video Solution

32. On heating ozone, its volume

A. decrease to half

B. becomes double

C. increases to 3/2 times

https://dl.doubtnut.com/l/_UFSkqcrCjJNb
https://dl.doubtnut.com/l/_hXTvdRggwkls
https://dl.doubtnut.com/l/_OJ1k5bnbZ4QG


D. remain unchanged 

Answer: C

Watch Video Solution

33. The compound that cannot be oxidised by ozone is 

A. KMnO4

B. PbS

C. KI

D. SO2

Answer: A

Watch Video Solution

34. Regarding ozone the wrong statement is

https://dl.doubtnut.com/l/_OJ1k5bnbZ4QG
https://dl.doubtnut.com/l/_nrhhBb723JEV
https://dl.doubtnut.com/l/_lUdSHO43z58c


A. The bond angle is 1160491

B. O3 acts as both oxidant and reductant

C. O - O bond lengths are equal

D. It is paramagnetic 

Answer: D

Watch Video Solution

35. The correct order of O-O bond length in O2, H2O2 and O3 is

A. H2O2 > O3 > O2

B. O3 > O2 > H2O2

C. O2 > H2O2 > O3

D. H2O2 > O2 > O3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lUdSHO43z58c
https://dl.doubtnut.com/l/_Wfz9JNgIBnkU


36. When O3 is passed through an aqueous solution of KI, the pH of the

resulting solution is

A. 7

B. 6.8

C. 2.8

D. 4.2

Answer: D

Watch Video Solution

37. Which is a mutual reduction reaction ? 

A) KMnO4 + O3  

B) H2O2 + O3  

3) Ag2O + O3  

D) KI + H2O + O3

https://dl.doubtnut.com/l/_Wfz9JNgIBnkU
https://dl.doubtnut.com/l/_BLYCZyFr7Nb9
https://dl.doubtnut.com/l/_r4cRbfQU8Eqm


A. A, B

B. A, C

C. A, D

D. B, C

Answer: D

Watch Video Solution

38. Which is not true for ozone ?

A. It oxidizes lead sulphate

B. It oxidizes potassium iodide

C. It oxidizes HCI .

D. It can act as bleaching agent 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_r4cRbfQU8Eqm
https://dl.doubtnut.com/l/_X4V7G4FaXR3C


39. In the tailing of mercury ozone oxidises X to Y, X and Y are

respectively 

A. Hg, Hg(I)O

B. Hg, Hg(II)O

C. Hg(I)O, Hg(II)O

D. Hg(II)O, He(I)O

Answer: A

Watch Video Solution

40. Ozonised oxygen mixture when condensed which is �rst liqui�ed. 

A. O2

B. O3

C. Both are at same time

https://dl.doubtnut.com/l/_X4V7G4FaXR3C
https://dl.doubtnut.com/l/_tKxYr9YZN9ec
https://dl.doubtnut.com/l/_g2mJkhERNh46


D. Both are never condensed

Answer: B

Watch Video Solution

41. Anhydride of phyrosulphuric acid is

A. SO2

B. H2S

C. SO3

D. S2O3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_g2mJkhERNh46
https://dl.doubtnut.com/l/_TXkfk3jlcuJ6


42. The advantage of manufacturing H2SO4 by Contact process than

other methods is 

A) The acid obfained is highly pure and concentrated 

B) It is comparitively cheap method. 

C) The impurities can be tested and the reactants can be recycled.

A. A only

B. A and B

C. A and C

D. A, B and C

Answer: D

Watch Video Solution

43. In the reaction of hypo with I2 to form Na2S4O6 and Nal, the

equivalent weight of hypo is (M is mol.wt. of hypo) 

https://dl.doubtnut.com/l/_aAoUbPFJ6jjI
https://dl.doubtnut.com/l/_dWZ6tBDAeIpS


A. M

B. M/2

C. M/4

D. M/6

Answer: A

Watch Video Solution

44. In the reaction where hypo acts as antichlor, hypo undergoes

A. oxidation

B. reduction

C. disproportionation

D. halogenation

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_dWZ6tBDAeIpS
https://dl.doubtnut.com/l/_QqM6VmX4wMsu


45. What is the oxidation number of sulphur in Na2S4O6?

A. +2

B. +2.5

C. 3.5

D. -2.5

Answer: B

Watch Video Solution

46. Example of neutral oxide is

A. CO2

B. TeO

C. ZnO

https://dl.doubtnut.com/l/_QqM6VmX4wMsu
https://dl.doubtnut.com/l/_CnEXjCzg2Di4
https://dl.doubtnut.com/l/_NzrWe1bJNjL8


D. NO

Answer: D

Watch Video Solution

47. Iodine oxidises S2O
2 -
3  ion to 'X', change in oxidation state of sulphur 

A. +3

B. +2

C. +0.5

D. +4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NzrWe1bJNjL8
https://dl.doubtnut.com/l/_tpKlqh2HBg4Q


48. The chemical reaction between sulphur dioxide gas and gaseous

ozone is best represented by the equations as

A. 3SO2 + O3 → 3SO3

B. SO2 + O3 → SO3 + O2

C. 2SO2 + O3 → 2SO3 + (O)

D. SO2 + 3O3 → SO3 + 4O2

Answer: A

Watch Video Solution

49. Very dilute solution of sodium thiosulphate reacts with a solution of

silver nitrate �nally to give

A. White Ag2S2O3 precipitate

B. Black Ag2S2O3 precipitate

C. White Ag2S precipitate

https://dl.doubtnut.com/l/_zZWwQMISzESU
https://dl.doubtnut.com/l/_kJ8ihILPgK7a


D. Black Ag2S precipitate

Answer: D

Watch Video Solution

50. Sodium thiosulphate reacts with which of the following to convert

into complex thiosulphates 

A) ferric chloride 

B) auric chloride 

C) cupric chloride 

The correct option is 

A. B only

B. A and C

C. A and B

D. A, B and C

Answer: D

https://dl.doubtnut.com/l/_kJ8ihILPgK7a
https://dl.doubtnut.com/l/_4NjTXGZGVtZu


Watch Video Solution

51. Ordinary oxygen contains

A. Only O16 isotope

B. Only O17 isotope

C. A mixture of O16, O17 and O18 isotopes

D. Only O18 isotope

Answer: C

Watch Video Solution

52. Oxygen gas can be prepared from solid KMnO4 by

A. Dissolving the solid in dil. HCI

B. Dissolving the solid in dil. H2SO4

C. Treating the solid with H2 gas

https://dl.doubtnut.com/l/_4NjTXGZGVtZu
https://dl.doubtnut.com/l/_QAqArZW9cC08
https://dl.doubtnut.com/l/_jZthm2OkcLSa


D. Strongly heating the solid

Answer: D

Watch Video Solution

53. It is possible to obtain oxygen from air by fractional distillation

because:

A. Oxygen is in di�erent group of periodic table from nitrogen

B. Oxygen is more active than nitrogen

C. Oxygen has higher boiling point than nitrogen

D. Oxygen has lower density than nitrogen 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jZthm2OkcLSa
https://dl.doubtnut.com/l/_DhIBsUbWEOYL


54. Oxygen molecule exhibits paramagnetism since it contains

A. paired electrons

B. unpaired electrons

C. odd number of electrons

D. two electrons in its valence shell

Answer: B

Watch Video Solution

55. Low volatile nature of H2SO4 is due to

A. Hydrgen bonding

B. Ionic nature

C. Strong bonds

D. Weak bonds 

https://dl.doubtnut.com/l/_stjI4dXJXC6D
https://dl.doubtnut.com/l/_0nMDSHmjtwyR


Answer: A

Watch Video Solution

56. Most abundand and most reactive element of group VIA elements

A. O, O

B. O, S

C. O, Po

D. S, O

Answer: A

Watch Video Solution

57. Which compound on heating alone does not form O2 ?

A. KClO4

https://dl.doubtnut.com/l/_0nMDSHmjtwyR
https://dl.doubtnut.com/l/_wuVBsTbMBXXJ
https://dl.doubtnut.com/l/_wNtzclWy3oiy


B. KMnO4

C. KNO3

D. NH4NO2

Answer: D

Watch Video Solution

58. The pair of compounds containing peroxy (O - O) group is 

A. H2SO5 and PbO2

B. HClO4 and H2S2O8

C. P2O5 and MnO2

D. H2SO5 and H2S2O8

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wNtzclWy3oiy
https://dl.doubtnut.com/l/_edjXfUbNnNnZ
https://dl.doubtnut.com/l/_yrQdaBmddsFy


59. Anhydride of phyrosulphuric acid is

A. SO2

B. H2S

C. SO3

D. S2O3

Answer: C

Watch Video Solution

60. What is the oxidation number of sulphur in

A. +2

B. +2.5

C. 3.5

D. -2.5

https://dl.doubtnut.com/l/_yrQdaBmddsFy
https://dl.doubtnut.com/l/_0UDmFcjh9IGk


Answer: B

Watch Video Solution

61. Which is not true for ozone ?

A. It oxidizes lead sulphate

B. It oxidizes potassium iodide

C. It oxidizes HCI

D. It can act as bleaching agent ? 

Answer: A

Watch Video Solution

62. On heating ozone, its volume

A. decrease to half

https://dl.doubtnut.com/l/_0UDmFcjh9IGk
https://dl.doubtnut.com/l/_VuO65MGODg0W
https://dl.doubtnut.com/l/_CiacTcbIwkJd


B. becomes double

C. increases to 3/2 times

D. remain unchanged 

Answer: C

Watch Video Solution

63. The acid used in lead storage battery is

A. Nitric acid

B. Sulphuric acid

C. Hydrochloric acid

D. Phosphoric acid 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CiacTcbIwkJd
https://dl.doubtnut.com/l/_jR8MOMHwafBi
https://dl.doubtnut.com/l/_E8ZsVTyolNmI


64. When KBr is treated with conc. H2SO4 reddish-brown gas is evolved.

The gas is 

A. Br2

B. HBr

C. NO2

D. H2O2

Answer: A

Watch Video Solution

65. Which of the following does not contain a symmetrical structure ? 

A. H2S2O4

B. H2S2O5

C. H2S2O7

D. H2S2O6

https://dl.doubtnut.com/l/_E8ZsVTyolNmI
https://dl.doubtnut.com/l/_SAwhkdtzDEKO


Answer: B

Watch Video Solution

66. Oxygen molecule exhibits paramagnetism since it contains

A. paired electrons

B. unpaired electrons

C. odd number of electrons

D. two electrons in its valence shell

Answer: B

Watch Video Solution

67. Dry bleaching is doen by using

A. Cl2

https://dl.doubtnut.com/l/_SAwhkdtzDEKO
https://dl.doubtnut.com/l/_RexQ6Mc7rVD1
https://dl.doubtnut.com/l/_yacJzpbpfBkT


EXAMPLE

B. SO2

C. O3

D. H2O2

Answer: C

Watch Video Solution

1. Oxygen is a gas, but other elements of group 16 are solids at room

temperature. Why? 

Watch Video Solution

2. What is the percentage make up of most abundant element in the

most abundant liquid of the earth's crust? 

Watch Video Solution

https://dl.doubtnut.com/l/_yacJzpbpfBkT
https://dl.doubtnut.com/l/_t4qbsnPIkJhg
https://dl.doubtnut.com/l/_3cQyN64SOPAX


3. First and second electron gain enthalpies of oxygen are

-141 and + 702kJmol - 1 How is large number of oxides accounted for ? 

Watch Video Solution

4. Viscosity of sulphur increases when molten sulphur is heated from

120 ∘C to 160 ∘C. Why

Watch Video Solution

5. What are the oxidation numbers exhibited by oxygen?

Watch Video Solution

6. What is the maximum covalency of oxygen ? Give examples.

Watch Video Solution

https://dl.doubtnut.com/l/_3cQyN64SOPAX
https://dl.doubtnut.com/l/_MZMq9WfE1gCo
https://dl.doubtnut.com/l/_uad8IIlA0k9a
https://dl.doubtnut.com/l/_POIr12ljchEJ
https://dl.doubtnut.com/l/_hmf4ipXPSocx


7. Comment on the catenation capacity of sulphur.

Watch Video Solution

8. The dissociation coustant of H2O, H2Se and H2 Te are 

1.8 × 10 - 16, 1.4 × 10 - 7, 1.3 × 10 - 4 and 2.2 × 10 - 3,  respectively. What do

these values denote ?

Watch Video Solution

9. Tellurium forms oxides of the formula Teo, TeO2 and Te3. What is the

nature of these oxides?

Watch Video Solution

https://dl.doubtnut.com/l/_hmf4ipXPSocx
https://dl.doubtnut.com/l/_tGu5WVsWCwoj
https://dl.doubtnut.com/l/_9rGwqOqqxMj7
https://dl.doubtnut.com/l/_GFRiM7GZEO0f


10. Oxygen forms only �uorides, but other chalcogens form di�erent

halides. Why? 

Watch Video Solution

11. Dry sulphurdioxide does not bleach dry �owers. Explain. 

Watch Video Solution

12. A and B are elements with atomic numbers 16 and 17. Write di�erent

combinations of binary compounds known from them. 

Watch Video Solution

13. Which oxyacid of sulphur has S - O - S link ? How is it prepared?

Watch Video Solution

https://dl.doubtnut.com/l/_siqrqMJYbY7Y
https://dl.doubtnut.com/l/_BTQa2NSZ01W3
https://dl.doubtnut.com/l/_sHnXLaTEzZZn
https://dl.doubtnut.com/l/_epeQLNc5ssV7
https://dl.doubtnut.com/l/_6x1v8wso5W9J


14. Oxygen is divalent in its compounds, but sulphur is even hexavalent.

Why?

Watch Video Solution

15. Write the tautomerism in sulphurous acid.

Watch Video Solution

16. Justify that peroxymono and peroxydisulphuric acids have a peroxy

linkage. How are they structurally di�ferent?

Watch Video Solution

17. Protocity of sulphuric acid is two. Explain?

Watch Video Solution

https://dl.doubtnut.com/l/_6x1v8wso5W9J
https://dl.doubtnut.com/l/_O6aSppiHkVEN
https://dl.doubtnut.com/l/_ygraN03bQrLf
https://dl.doubtnut.com/l/_Y5SApL2jvMLj
https://dl.doubtnut.com/l/_riD38IhqrYtn


SUBJECTIVE EXERCISE-1 (LONG ANSWER QUESTIONS)

SUBJECTIVE EXERCISE-1 (SHORT ANSWER QUESTIONS

18. Write the structure and oxidation numbers of sulphur in tetrathionic

acid.

Watch Video Solution

1. Discuss the general properties of VIA group elements.

Watch Video Solution

1. Discuss the electronic con�guration of group 16 elements.

Watch Video Solution

https://dl.doubtnut.com/l/_riD38IhqrYtn
https://dl.doubtnut.com/l/_ju3ewr5k5noR
https://dl.doubtnut.com/l/_vWIELs1r6NtW


2. Write the trends in atomic radius, ionisation potential and metallic

nature of group VIA elements.

Watch Video Solution

3. Write a short note on the allotropy of sulphur.

Watch Video Solution

4. Discuss the valency and bonding in oxygen and sulphur molecules

Watch Video Solution

5. Why oxidation states of sulphur are all even numbers ?

Watch Video Solution

https://dl.doubtnut.com/l/_LTBE9sdMMzwV
https://dl.doubtnut.com/l/_r9LyZJsRXvrM
https://dl.doubtnut.com/l/_yEWpop67fdgk
https://dl.doubtnut.com/l/_pptFALEJh8Vl


SUBJECTIVE EXERCISE-1 (VERY SHORT ANSWER QUESTIONS)

1. What are the elements of VIA group ? Write their valency shell

electronic con�gurations

Watch Video Solution

2. Why are group - 16 elements called chalcogens ?

Watch Video Solution

3. What are the molecular formulae of VI group elements ?

Watch Video Solution

4. Write the structure of gaseous sulphur molecule at low temperatures,

Watch Video Solution

https://dl.doubtnut.com/l/_JI0S2Iq9MM6a
https://dl.doubtnut.com/l/_30skMFwW2CQX
https://dl.doubtnut.com/l/_dwI3FrHb5Wp4
https://dl.doubtnut.com/l/_cBjJwulEDOVf


5. Explain the di�erent oxidations states of S in terms of its electronic

con�guration. 

Watch Video Solution

6. What the oxidation states of oxygen ? Why does it not show higher

oxidation states like +4 or + 5? 

Watch Video Solution

7. What is allotropy ? Give the allotropes of oxygen. 

Watch Video Solution

8. Write the names of the allotropic forms of sulphur. 

Watch Video Solution

https://dl.doubtnut.com/l/_cBjJwulEDOVf
https://dl.doubtnut.com/l/_gdbShMKGI7nQ
https://dl.doubtnut.com/l/_ND5lqJpykhvR
https://dl.doubtnut.com/l/_XdANtlAJipww
https://dl.doubtnut.com/l/_UDecEMBp3UDt


SUBJECTIVE EXERCISE-2 (SHORT ANSWER QUESTION)

9. Compare the electron a�nity of oxygen with sulphur. 

Watch Video Solution

10. What is transition temperature ? 

Watch Video Solution

1. Write on the stability and acidic nature of hydrides of chalcogens. 

Watch Video Solution

https://dl.doubtnut.com/l/_Z9AePKgwd6Au
https://dl.doubtnut.com/l/_iM4TfC7BC5gk
https://dl.doubtnut.com/l/_ZAHIGmXsIpUp


2. Water is a liquid and abnormally has low volatility. Explain. 

Watch Video Solution

3. How are oxides of sulphur prepared ? What are their properties?

Watch Video Solution

4. Discuss the structures of sulphur dioxide and sulphur trioxide

molecules.

Watch Video Solution

5. How are �uorides of oxygen prepared ? Write their structures. 

Watch Video Solution

https://dl.doubtnut.com/l/_MCX6YFaHA5nw
https://dl.doubtnut.com/l/_GwpArWXjgIDx
https://dl.doubtnut.com/l/_LEcX55B4mRwK
https://dl.doubtnut.com/l/_Nli8HX5zJRPK


SUBJECTIVE EXERCISE-2 (VERY SHORT ANSWER QUESTION)

6. Mention the preparation and discuss the structures of

S2Cl2, SF2, SF4 and SF6.

Watch Video Solution

7. What are the hydrides of chalcogens ? How do you prepare them in the

laboratory?

Watch Video Solution

8. Why the bond angles in H2O&H2S are di�erent ? Give reason.

Watch Video Solution

1. Write the names and formulae of the hydrides of oxygen.

https://dl.doubtnut.com/l/_xoakfBGW9RAa
https://dl.doubtnut.com/l/_ley5nwyynJm3
https://dl.doubtnut.com/l/_v4Hc2edb6Y2L
https://dl.doubtnut.com/l/_tE4wfwEOzCM9


Watch Video Solution

2. At room temperature H2O is a liquid while H2S is a gas. Explain.

Watch Video Solution

3. Write the order of thermal stability of the hydrides of group 16

elements.

Watch Video Solution

4. Explain the shape of water molecules.

Watch Video Solution

5. What is th  shape of H2S molecule ? What kind of hybridization is under

gone by S in it ? 

https://dl.doubtnut.com/l/_tE4wfwEOzCM9
https://dl.doubtnut.com/l/_fLentgsNYnwd
https://dl.doubtnut.com/l/_uvSrlbEfjP1s
https://dl.doubtnut.com/l/_zOMkTNBRv5Zq
https://dl.doubtnut.com/l/_8ex5wFb2fPNa


Watch Video Solution

6. What are the bond angles in H2O and H.S ? Why they di�er in their

bond angles even through the central atoms exhibit same hybridisations.

Watch Video Solution

7. What the shapes of SO2 and SO2 molecules ? Give the hybridizations in

them. 

Watch Video Solution

8. What are the products of hydrolysis of SCI? Give the necessary

equations. 

Watch Video Solution

9. Which is more reactive SF6 or TeF6? 

https://dl.doubtnut.com/l/_8ex5wFb2fPNa
https://dl.doubtnut.com/l/_C8d2WI8DNqZA
https://dl.doubtnut.com/l/_Z1jk1JX30RHX
https://dl.doubtnut.com/l/_J4yKDQ238Psq
https://dl.doubtnut.com/l/_mGblEVDYkTSF


SUBJECTIVE EXERCISE-3 (SHORT ANSWER QUESTION)

Watch Video Solution

10. What happens when tellurium tetrahalide is hydrolysed ?

Watch Video Solution

1. Mention the four types of oxyacids of sulphur and give examples.

Watch Video Solution

2. Draw the structures of sulphite and sulphate. 

Watch Video Solution

3. Write the peroxy acids and polythionic acids of sulphur.

https://dl.doubtnut.com/l/_mGblEVDYkTSF
https://dl.doubtnut.com/l/_T3CZqng0Nh5Z
https://dl.doubtnut.com/l/_420f0iwwKJVW
https://dl.doubtnut.com/l/_0bZYaMjX9c97
https://dl.doubtnut.com/l/_6Uz9PSNRWVld


SUBJECTIVE EXERCISE-3 (VERY SHORT ANSWER QUESTIONS)

Watch Video Solution

4. How is oxygen di�erent from other elements of the same group ? What

are the reasons ?

Watch Video Solution

1. Give any two oxo acids of S in its + IV and + VI states. 

Watch Video Solution

2. Write the structural formulae of 

(i) Sulphurous acid H2S03  and  

(ii) Sulphuric acid H2SO4  

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_6Uz9PSNRWVld
https://dl.doubtnut.com/l/_eEC3qa3ku8Lg
https://dl.doubtnut.com/l/_Lkajv54Onkmw
https://dl.doubtnut.com/l/_BhEpzhqUKGP7


OBJECTIVE EXERCISE-1

3. Write the structure of thio sulphuric acid and dithionic acid

Watch Video Solution

4. What are the oxidation states of sulphur atoms in peroxy sulphuric

acids?

Watch Video Solution

1. Which of the following set of atomic numbers belongs to group 16

elements ? 

A. 56, 37, 20

B. 52, 8, 84

C. 16, 32, 50

https://dl.doubtnut.com/l/_BhEpzhqUKGP7
https://dl.doubtnut.com/l/_gGuwaqjN8Bwk
https://dl.doubtnut.com/l/_qjJfhT8XK7rJ
https://dl.doubtnut.com/l/_ClPnNJEAL4El


D. 36, 9, 17

Answer: B

Watch Video Solution

2. Oxygen and Sulphur have same

A. outer electronic con�guration

B. atomic size

C. electronic con�guration

D. electron a�nity

Answer: A

Watch Video Solution

3. Element with the lowest atomicity

https://dl.doubtnut.com/l/_ClPnNJEAL4El
https://dl.doubtnut.com/l/_l5IK2sMktBIT
https://dl.doubtnut.com/l/_OORyH5ZxwrXC


A. Te

B. S

C. Se

D. O

Answer: D

Watch Video Solution

4. The number of atoms present in one molecule of rhombic sulphur is

A. 2

B. 4

C. 6

D. 8

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OORyH5ZxwrXC
https://dl.doubtnut.com/l/_QGmsHQMCSzit


5. The total number of covalent bonds present in one S8 molecule is

A. 4

B. 6

C. 8

D. 10

Answer: C

Watch Video Solution

6. The S - S - S bond angle in S8 molecule is

A. 109.5 ∘

B. 105 ∘

C. 120 ∘

https://dl.doubtnut.com/l/_QGmsHQMCSzit
https://dl.doubtnut.com/l/_gp0FhnFaKrWi
https://dl.doubtnut.com/l/_iWKqyoCRNyVw


D. 60 ∘

Answer: B

Watch Video Solution

7. The decreasing tendency to exist in puckered 8 - membered ring

structure is 

A. S > Se > Te > Po

B. Se > S > Te > Po

C. S > Te > Se > Po

D. Tr > Se > S > Po

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iWKqyoCRNyVw
https://dl.doubtnut.com/l/_7SeOKlAwZIlr


8. S2 molecule in vapour state is paramagnetic due to the presence of

unpaired electrons is 

A. Bonding σ orbitals

B. Anti bonding σ∗  orbital

C. Anti bonding π∗  orbitals

D. Bonding π orbitals

Answer: C

Watch Video Solution

9. α, β and γ forms of sulphur di�er in

A. Overal packing of rings

B. Molecular weight

C. Atomicties

D. Their ring structure

https://dl.doubtnut.com/l/_1KyafLWUOKT5
https://dl.doubtnut.com/l/_rupsNpGMz0NA


Answer: A

Watch Video Solution

10. The oxidation state of oxygen is zero in

A. CO

B. O3

C. SO2

D. H2O2

Answer: B

Watch Video Solution

11. In which of the following compounds, oxygen exhibits +2 oxidation

state ?

https://dl.doubtnut.com/l/_rupsNpGMz0NA
https://dl.doubtnut.com/l/_T47Abm3DL7JV
https://dl.doubtnut.com/l/_GmKvQJr71SJZ


A. H2O

B. H2O2

C. OF2

D. H2SO4

Answer: C

Watch Video Solution

12. Which of the following element does not show an oxidation state of

+4 ?

A. oxygen

B. Sulphur

C. Selenium

D. Tellurium

Answer: A

https://dl.doubtnut.com/l/_GmKvQJr71SJZ
https://dl.doubtnut.com/l/_InqgCcpc6pC7


Watch Video Solution

13. Generally oxygen is converted into its ion by

A. Losing electrons

B. Increasing oxidation number

C. Decreasing atomic size

D. Gaining electrons

Answer: D

Watch Video Solution

14. If X is a member of chalcogen family, the highest stability of X - 2 is

exhibited by

A. Oxygen

B. Selenium

https://dl.doubtnut.com/l/_InqgCcpc6pC7
https://dl.doubtnut.com/l/_JLKI84Covc9M
https://dl.doubtnut.com/l/_hFXaXZRtGMhY


C. Tellurium

D. Sulphure

Answer: A

Watch Video Solution

15. Oxidation state, covalency of sulphur and total number of lone pairs of

electrons in S8 molecule are respectively

A. +6, 6, 16

B. Zero,2, 16

C. Zero,6, 12

D. -2, 2, 16

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hFXaXZRtGMhY
https://dl.doubtnut.com/l/_6ebWpWTbGPc3
https://dl.doubtnut.com/l/_OaazyBjKvWXh


16. Which of the following resembles dioxygen in its magnetic property

A. S8

B. S6

C. S4

D. S2

Answer: D

Watch Video Solution

17. Oxygen is always divalent while sulphur can form 2, 4 and 6 bonds

because

A. Oxygen is more electronegative than sulphur

B. Sulphur was vacant d-orbitals while oxygen does not

C. Sulphur has large atomic radius than oxygen

D. Sulphure is more electronegative than oxygen.

https://dl.doubtnut.com/l/_OaazyBjKvWXh
https://dl.doubtnut.com/l/_ZwWp4BtWF9NI


Answer: B

Watch Video Solution

18. In sulphate ion the oxidation state of sulphur is +6 and the

hybridization state of sulphur is 

A. sp

B. sp2

C. sp3

D. sp3d2

Answer: C

Watch Video Solution

19. The second most electronegative element in periodic table is

https://dl.doubtnut.com/l/_ZwWp4BtWF9NI
https://dl.doubtnut.com/l/_YBj9SC3oNKAX
https://dl.doubtnut.com/l/_NF5pJO3FivOB


A. F

B. O

C. Cl

D. N

Answer: B

Watch Video Solution

20. Which of the following has higher IP ?

A. Oxygen

B. Sulphur

C. Selenium

D. Tellurium

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NF5pJO3FivOB
https://dl.doubtnut.com/l/_eKafkNvRGbpt


21. Element with higher catenation capacity is

A. S

B. Se

C. Te

D. Po

Answer: A

Watch Video Solution

22. The order of electron gain enthalpy of VI A group elements is

A. S > Se > Te > Po > O

B. S > Se > Te > O > Po

C. O > Se > S > Te > Po

https://dl.doubtnut.com/l/_eKafkNvRGbpt
https://dl.doubtnut.com/l/_nFF5vf27y3VA
https://dl.doubtnut.com/l/_otFR3BLawGz6


D. O > Te > Se > S > Po

Answer: A

Watch Video Solution

23. The most common oxidation state of VI A group elements is

A. -2

B. +2

C. +4

D. +6

Answer: A

Watch Video Solution

24. What is the role of MnO2 in the preparation of O2 from KClO3 ?

https://dl.doubtnut.com/l/_otFR3BLawGz6
https://dl.doubtnut.com/l/_M6JV7OmhegQm
https://dl.doubtnut.com/l/_8nSICrz4OLuO


A. Activator

B. Catalyst

C. Oxidizing agent

D. Dehydrating agent

Answer: B

Watch Video Solution

25. In photosynthesis , oxygen is liberated due to

A. P

B. Na

C. F2

D. I2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_8nSICrz4OLuO
https://dl.doubtnut.com/l/_ymjVjhVqlUcm


26. Chair form of S6 rings are present in

A. α -  sulphur

B. β -  sulpur

C. Engle's sulphur

D. γ - sulphur

Answer: C

Watch Video Solution

27. The pair of exothermic hydrides of VI A group are 

A. H2O, H2S

B. H2S, H2Se

C. H2Se, H2Te

https://dl.doubtnut.com/l/_ymjVjhVqlUcm
https://dl.doubtnut.com/l/_tWZpmm0qteLa
https://dl.doubtnut.com/l/_PrixARjA8LpP


D. H2O, H2Te

Answer: A

Watch Video Solution

28. The Ka values of H2Se and H2 Te are respectively

A. 1.3 × 10 - 4, 2.3 × 10 - 3

B. 2 × 10 - 3, 2.3 × 10 - 3

C. 2 × 10 - 14, 2.3 × 10 - 4

D. 2.3 × 10 - 3, 2 × 10 - 4

Answer: A

Watch Video Solution

29. Which is non poisonous hydride ?

https://dl.doubtnut.com/l/_PrixARjA8LpP
https://dl.doubtnut.com/l/_p8C5IW0N2sW1
https://dl.doubtnut.com/l/_nvZUfEV3wVQE


A. H2O

B. H2S

C. H2Se

D. H2Te

Answer: A

Watch Video Solution

30. Sulphur uses ...... orbitals for bonding in H2S

A. sp3

B. sp2

C. one s and one p

D. pure p orbitals

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nvZUfEV3wVQE
https://dl.doubtnut.com/l/_NOpnEx78k2tt


31. A stronger reducing agent is

A. H2O

B. H2S

C. H2Se

D. H2Te

Answer: D

Watch Video Solution

32. Correct decreasing order of volatility is

A. H2O > H2S > H2Se

B. H2S > H2O > H2Se

C. H2Se > H2O > H2S

https://dl.doubtnut.com/l/_NOpnEx78k2tt
https://dl.doubtnut.com/l/_W9lTYxfTDsiN
https://dl.doubtnut.com/l/_0ryoEwSxNMmS


D. H2S > H2Se > H2O

Answer: D

Watch Video Solution

33. The most acidic and thermally stable hydride of chalcogens are

respectively 

A. H2O, H2Te

B. H2Te, H2S

C. H2S, H2Ts

D. H2Te, H2O

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0ryoEwSxNMmS
https://dl.doubtnut.com/l/_KIhLuWRG0B0L


34. In the hydrides of VIA elements largest bond angle and bond length is

observed respectively in 

A. H2O, H2O

B. H2Po, H2O

C. H2O, H2Po

D. H2S, H2Se

Answer: C

Watch Video Solution

35. The e�ect of repulsion between the two lone pairs of electrons

present on oxygen in H2O molecule is

A. no chang in H - O - H bond angle

B. increase in H - O - H bond angle

C. decrease in H - O - H bond angle

https://dl.doubtnut.com/l/_BK6155WPQ3we
https://dl.doubtnut.com/l/_5z3zNc26YBB4


D. all atoms will be in one plane

Answer: C

Watch Video Solution

36. Which of the following is a weakest acid in its aqueous solution ?

A. H2Te

B. H2Se

C. H2S

D. H2Po

Answer: C

Watch Video Solution

37. Which of the following is least covalent hydride?

https://dl.doubtnut.com/l/_5z3zNc26YBB4
https://dl.doubtnut.com/l/_Ac9Icm0Vu01b
https://dl.doubtnut.com/l/_Yjx6HM860mDn


A. H2O

B. H2S

C. H2Se

D. H2Te

Answer: A

Watch Video Solution

38. The bond angle in H2S is

A. 109 ∘28

B. 104 ∘51

C. 120 ∘

D. 92.5 ∘

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Yjx6HM860mDn
https://dl.doubtnut.com/l/_KfOFKiRkzKMQ


39. The pair of exothermic hydrides of VI A group are 

A. H2O, H2S

B. H2O, H2Se

C. H2Se, H2Te

D. H2S, H2Te

Answer: A

Watch Video Solution

40. The correct order of boiling points of the given hydrides of 16th group

elements is

A. H2O > H2S > H2Se > H2Te

B. H2S > H2O > H2Te > H2Se

C. H2O > H2Te > H2Se > H2S

https://dl.doubtnut.com/l/_KfOFKiRkzKMQ
https://dl.doubtnut.com/l/_jznR8ojivzVs
https://dl.doubtnut.com/l/_zDHk2NaRlYEz


D. H2O > H2S > H2Se > H2Te

Answer: C

Watch Video Solution

41. The least stable dioxide of group 16 elements is

A. SO2

B. SeO2

C. TeO2

D. PoP2

Answer: D

Watch Video Solution

42. The oxide obtained in the roasting of ironpyrites 

https://dl.doubtnut.com/l/_zDHk2NaRlYEz
https://dl.doubtnut.com/l/_k4LOYG4QE6sv
https://dl.doubtnut.com/l/_m7uetclBhOTi


A. SO2

B. SO3

C. FeO

D. SO2 and SO3

Answer: A

Watch Video Solution

43. Among hexahalides of VIA group, the stable halides are

A. hexa iodides

B. hexa bromides

C. hexa chlorides

D. hexa �uorides

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_m7uetclBhOTi
https://dl.doubtnut.com/l/_sdfDKkkUWgES


44. SO2 bleaches by

A. Reduction

B. Oxidaiton

C. Hydrolysis

D. Acidic nature

Answer: A

Watch Video Solution

45. The element of VI A group which cannot form hexahalides is

A. O

B. S

C. Se

https://dl.doubtnut.com/l/_sdfDKkkUWgES
https://dl.doubtnut.com/l/_loSZMkOWNKZA
https://dl.doubtnut.com/l/_mJJn6Aqwn0xl


D. Te

Answer: A

Watch Video Solution

46. The hybridization of Sin SF4 is

A. sp3d2

B. sp3d

C. sp3d3

D. sp3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mJJn6Aqwn0xl
https://dl.doubtnut.com/l/_B8k6tOPuxAbm


47. SO2 forms an addition compound sulphuryl chloride with Cl2 in

presence of

A. Charcoal

B. CCl4

C. H + /K2Cr2O7

D. H + /KMO4

Answer: A

Watch Video Solution

48. Which of the following can undergo dispropotrionation ?

A. Se2Cl2

B. SF6

C. TeF4

D. SeCl4

https://dl.doubtnut.com/l/_y2hf9TRfyva1
https://dl.doubtnut.com/l/_lX0McRVcBBv9


Answer: A

Watch Video Solution

49. Which of the following has see saw geometry

A. SF6

B. SeF4

C. Se2Cl2

D. SCl2

Answer: B

Watch Video Solution

50. Which of the following is not true about SO2

A. It decolourise KMnO4 /H +

https://dl.doubtnut.com/l/_lX0McRVcBBv9
https://dl.doubtnut.com/l/_OoXTctD5tN5F
https://dl.doubtnut.com/l/_EVJjVtBseT2i


B. Liquid SO2 is a non aqueous solvent

C. It is a inear molecule

D. It can act like a preservative

Answer: C

Watch Video Solution

51. Most acidic oxide in group VI is formed by

A. oxygen

B. sulphur

C. nitrogen

D. chlorine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_EVJjVtBseT2i
https://dl.doubtnut.com/l/_xw0ZNCrZ2BMT
https://dl.doubtnut.com/l/_pRdPCc9YsLOt


52. The hybridization of sulphur in SO2 is: 

A. sp

B. sp3

C. sp2

D. dsp2

Answer: C

Watch Video Solution

53. In SO2 two oxygen atoms are linked to the sulphur atom through

double bonds. The two π bonds are

A. both pπ - pπ

B. both pπ - dπ

C. both dπ - dπ

D. one dπ - pπ one pπ - pπ

https://dl.doubtnut.com/l/_pRdPCc9YsLOt
https://dl.doubtnut.com/l/_iiNWyRegFYlj


Answer: D

Watch Video Solution

54. Peroxy linkage is present in 

A. H2S2O2

B. H2S2O2

C. H2S2O6

D. H2S2O8

Answer: D

Watch Video Solution

55. Pyrosulphurous acid is 

A. H2S2O5

https://dl.doubtnut.com/l/_iiNWyRegFYlj
https://dl.doubtnut.com/l/_J5fy5tseExUE
https://dl.doubtnut.com/l/_KMVsGS6auKMp


B. H2S2O2

C. H2S2O3

D. H2S2O4

Answer: A

Watch Video Solution

56. Basicity of any oxyacid of sulphur is

A. 3

B. 4

C. 2

D. 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KMVsGS6auKMp
https://dl.doubtnut.com/l/_vyfHGtJhZDn5
https://dl.doubtnut.com/l/_7RVBw5LrHQyb


57. Partial neutralisation of sulphuric acid gives

A. Sulphites

B. Bisulphates

C. Sulphates

D. Bisulphites

Answer: B

Watch Video Solution

58. Hybridisation of central sulphur in all oxo anions of sulphur is

A. sp3d

B. sp3

C. sp3d2

D. sp2d

https://dl.doubtnut.com/l/_7RVBw5LrHQyb
https://dl.doubtnut.com/l/_bpJgBBSbe1gy


Answer: B

Watch Video Solution

59. What is the number of sigma and pi bonds present in H2SO4 molecule

? 

A. 6σ and 2π

B. 6σ and 0π

C. 2σ and 4π

D. 2σ and 2π

Answer: A

Watch Video Solution

60. Permonosulphuric acid is known as

https://dl.doubtnut.com/l/_bpJgBBSbe1gy
https://dl.doubtnut.com/l/_me6tD870vlw2
https://dl.doubtnut.com/l/_wX5KQw3VeQ8d


A. Marshall's acid

B. Caro's acid

C. Sulphuric acid

D. fSulphurous acid

Answer: B

Watch Video Solution

61. Identify the correct sequence of increasing number of π -  bonds in the

structures of the following molecules. 

I. H2S2O6  

II. H2SO3  

III. H2S2O5

A. I,II,III

B. II,III,I

C. II,I,III

https://dl.doubtnut.com/l/_wX5KQw3VeQ8d
https://dl.doubtnut.com/l/_M74fcUY1Zil4


D. I,III,II

Answer: B

Watch Video Solution

62. Match the folowing 

A. A - 4, B - 2, C - 3, D - 5

B. A - 3, B - 2, C - 1, D - 5

C. A - 2, B - 4, C - 5, D - 1

D. A - 2, B - 4, C - 3, D - 1

Answer: D

https://dl.doubtnut.com/l/_M74fcUY1Zil4
https://dl.doubtnut.com/l/_oBxiSyyqJnsY


Watch Video Solution

63. The anhydride of pyrosulphuric acid is

A. SO2

B. S2O
2 -
2

C. SO3

D. S2O
2 -
7

Answer: C

Watch Video Solution

64. In HO -

O
∣ ∣

S - OH the oxidation states of S are

A. +4, - 2

B. +4, 0

https://dl.doubtnut.com/l/_oBxiSyyqJnsY
https://dl.doubtnut.com/l/_Tn3tEUoyTXFr
https://dl.doubtnut.com/l/_xDQ280zJnusx


C. +2, - 2

D. +4, - 4

Answer: A

Watch Video Solution

65. Acid that contains S - O - S linkage is

A. H2S2O7

B. H2S2O5

C. H2S2O6

D. H2S2O4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xDQ280zJnusx
https://dl.doubtnut.com/l/_dvBJBtUXMB7C


66. Which of the following has S-S bond

A. H2S2O8

B. H2S2O7

C. Mustard gas

D. H2S2O6

Answer: D

Watch Video Solution

67. The formation of O3 from O2 is

A. exothermic and reversible

B. endothermic nd irreversible

C. endothermic and reversible

D. exothermic and spontaneous

https://dl.doubtnut.com/l/_ZP41Eg1TkOJk
https://dl.doubtnut.com/l/_WZFVOh70trxY


Answer: C

Watch Video Solution

68. Dry bleaching agent is

A. O3

B. SO2

C. Cl2

D. H2O2

Answer: A

Watch Video Solution

69. A black compound 'X' when treated with O3 turned white. The

compound 'X' is

https://dl.doubtnut.com/l/_WZFVOh70trxY
https://dl.doubtnut.com/l/_VOlG2qPBYroh
https://dl.doubtnut.com/l/_eSC67cTg4nGw


A. ZnS

B. PbS

C. CuS

D. Ag2S

Answer: B

Watch Video Solution

70. The O - O bond length in Ozone is 

A. 1.33A0

B. 1.28A0

C. 1.48A0

D. 1.39A0

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_eSC67cTg4nGw
https://dl.doubtnut.com/l/_qZj3e2QzJZvW


71. With respect to both oxygen and ozone, which one of the following

statements is not correct?

A. They are alotropes together

B. oxygen is colourless while ozone is coloured

C. valency of oxygen is 2 in both

D. oxygen has 2 bonds and ozone has 3 bonds

Answer: C

Watch Video Solution

72. In the tailing of mercury ozone oxidises X to Y, X and Y are

respectively 

A. Hg, Hg(I)O

B. Hg, Hg(II)O

https://dl.doubtnut.com/l/_qZj3e2QzJZvW
https://dl.doubtnut.com/l/_f330V8vfFTZe
https://dl.doubtnut.com/l/_q5qTtMbc7UbT


C. Hg(I)O, Hg(II)O

D. Hg(II)O, Hg(I)O

Answer: A

Watch Video Solution

73. Which is a mutual reduction reaction ? 

A) KMnO4 + O3  

B) H2O2 + O3  

3) Ag2O + O3  

D) KI + H2O + O3

A. A,B

B. A,C

C. A,D

D. B,C

Answer: D

https://dl.doubtnut.com/l/_q5qTtMbc7UbT
https://dl.doubtnut.com/l/_BqUYE0lZAw1m


Watch Video Solution

74. In which of the following reactions ozone acts as a reducing agent?

A. BaO2 → + O3 → BaO + 2O2

B. 2HCl + O3 → H2O + O2

C. PbS + 4O3 → PbSO4 + O2

D. 2KI + O3 + H2O → 2KOH + I2 + O2

Answer: A

Watch Video Solution

75. Which gas is used to imporve the atmosphere of crowded places ?

A. H2

B. O2

C. O3

https://dl.doubtnut.com/l/_BqUYE0lZAw1m
https://dl.doubtnut.com/l/_BbnNAEDCwEC3
https://dl.doubtnut.com/l/_cQWntWy16EvY


D. N2O

Answer: C

Watch Video Solution

76. O3 is prepared by subjecting 0, to silent electric discharge. The

favourable conditions for the formation of ozone according to Le-

chatlier's principle are

A. low temperature, low pressure

B. highe temperature, high pressure

C. low pressure , high pressure

D. high temperature, low pressure

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_cQWntWy16EvY
https://dl.doubtnut.com/l/_oIYW4DpsfnrL
https://dl.doubtnut.com/l/_uLhyNpw3lCUf


77. Mercury sticks to glass when it comes in contact with

A. H2O

B. HNO3

C. I2

D. O3

Answer: D

Watch Video Solution

78. Decomposition of Ozone into Oxygen has

A. ΔG = - ve

B. ΔS = - ve

C. ΔH = + ve

D. All of these

https://dl.doubtnut.com/l/_uLhyNpw3lCUf
https://dl.doubtnut.com/l/_qSq8gAkHKCZ7


Answer: A

Watch Video Solution

79. Which of the following statements is not correct ?

A. Ozone is not a green houe gas

B. Ozone can oxidise NO to NO2

C. Ozone is a bent molecule

D. Ozone �lters the ultraviole light in upper stratosphere

Answer: A

Watch Video Solution

80. Oil of vitriol is

A. H2SO4

https://dl.doubtnut.com/l/_qSq8gAkHKCZ7
https://dl.doubtnut.com/l/_QJZ5jbK3L6Fk
https://dl.doubtnut.com/l/_sArdDF9cf2O6


B. H2SO3

C. H2S2O7

D. H2S2O8

Answer: A

Watch Video Solution

81. In the preparation of H2SO4

A. SO2 is dissolved in H2SO4

B. SO2 is dissolved in water

C. SO3 is dissolved in conc. H2SO4

D. SO3 is dissolved in dilute H2SO4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_sArdDF9cf2O6
https://dl.doubtnut.com/l/_SmvJSHikf5xZ
https://dl.doubtnut.com/l/_UFffcAeCHSVO


82. Poison for platinum, a catalyst in Contact process is 

A. S

B. P

C. As

D. C

Answer: C

Watch Video Solution

83. In Contact process impurities of arsenic are removed by: 

A. Al(OH)3

B. Fe(OH)3

C. Cr(OH)3

D. Fe2O3

https://dl.doubtnut.com/l/_UFffcAeCHSVO
https://dl.doubtnut.com/l/_MMXj9k8vEfKu


Answer: B

Watch Video Solution

84. The gas liberated when aluminium reacts with conc. H2SO4 is

A. Protein

B. Fat

C. Hydrocarbon

D. Carbohydrate

Answer: D

Watch Video Solution

85. Oleum or fuming H2SO4 is

A. A mixture of conc. H2SO4 and oil

https://dl.doubtnut.com/l/_MMXj9k8vEfKu
https://dl.doubtnut.com/l/_2tCHqBwSLlef
https://dl.doubtnut.com/l/_O4vRHLIIR4rU


B. Sulphuric acid which gives fumes of sulhure dioxide

C. Sulphuric acid saturated with sulphur trioxide, i.e., H2S2O7

D. A mixture of sulphuric acid and nitric acid

Answer: C

Watch Video Solution

86. Practical pressure utilised in contact tower 

A. 2 bar

B. 0.2 bar

C. 20 bar

D. 200 bar

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_O4vRHLIIR4rU
https://dl.doubtnut.com/l/_NWJLTamShG1I
https://dl.doubtnut.com/l/_GIHJ5iivBpYo


87. Which reaction represents the oxidizing behaviour of H2SO4 ?

A. 2HI + h2SO4 → I2 + SO2 + 2H2O

B. Ca(OH)2 + H2SO4 → CaSO4 + 2H2O

C. NaCl + H2SO4 → NaHSO4 + HCl

D. 2PCl5 + H2SO4 → 2POCl3 + 2HCl + SO2Cl2

Answer: A

Watch Video Solution

88. Hypo is a salt of the oxyacid

A. thiosulphuric aicd

B. thiosulphurous acid

C. dithionous acid

D. dithionic acid

https://dl.doubtnut.com/l/_GIHJ5iivBpYo
https://dl.doubtnut.com/l/_1G4QYTmQH5eY


OBJECTIVE EXERCISE-2

Answer: A

Watch Video Solution

89. The catalyst uned in the manufacture of H2SO4 by contact process is

A. Al2O3

B. Cr2O3

C. V2O5

D. MnO2

Answer: C

Watch Video Solution

1. The most abundant VA group element in the earth's crust is 

https://dl.doubtnut.com/l/_1G4QYTmQH5eY
https://dl.doubtnut.com/l/_rf76TLjRnpda
https://dl.doubtnut.com/l/_CvIEESR45wDu


A. O

B. Se

C. S

D. Te

Answer: A

Watch Video Solution

2. Oxygen exhibits least oxidation state in

A. OF2

B. KO2

C. H2O

D. H2O2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CvIEESR45wDu
https://dl.doubtnut.com/l/_7gaPR8nmWtCd


3.   

The correct match is

A. 
A B C D
4 5 1 3

B. 
A B C D
2 5 1 2

C. 
A B C D
4 3 1 2

D. 
A B C D
3 4 1 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7gaPR8nmWtCd
https://dl.doubtnut.com/l/_H8vRg8NgPwkw


4. Polyanion formation is maximum in

A. Nitrogen

B. Oxygen

C. Sulphur

D. Boron

Answer: C

Watch Video Solution

5. In a compound of sulphur, the sulphur atom is in second excited state.

The possible hybridisation of sulphur is 

A. sp2

B. sp3

C. sp3(d)( or )sp3d2

D. sp2( or )sp3( or )sp3d2

https://dl.doubtnut.com/l/_AZSsfCIkhb5c
https://dl.doubtnut.com/l/_d95SRdp4N0zS


Answer: D

Watch Video Solution

6. Which of the following has strong metallic interactions ? 

A. Oxygen

B. Sulphur

C. Selenium

D. Tellurium

Answer: D

Watch Video Solution

7. The chalcogen having same number of electrons both in penultimate

and antipenultimate shells is

https://dl.doubtnut.com/l/_d95SRdp4N0zS
https://dl.doubtnut.com/l/_PvWdxxy4gNbt
https://dl.doubtnut.com/l/_7sSDwX5uz5xA


A. O

B. S

C. Se

D. Te

Answer: D

Watch Video Solution

8. The number of paired and unpaired electrons in the valence shell of the

members of oxygen family are

A. 4 and 2

B. 2 and 4

C. 3 and 4

D. 2 and 3

Answer: A

https://dl.doubtnut.com/l/_7sSDwX5uz5xA
https://dl.doubtnut.com/l/_Ckh0hATrdeoD


Watch Video Solution

9. The oxidaton sttae of sulphur in the anions follow the order

A. S2O
4 -
2 < SO2 -

3 < S2O
2 -
6

B. S2O
2 -
4 < S2O

2 -
3 < S2O

2 -
6

C. S2O
2 -
4 < S2O

2 -
6 < SO2 -

3

D. S2O
2 -
6 < S2O

2 -
4 < SO2 -

3

Answer: A

Watch Video Solution

10. In which allotropic form of sulphur, puckered S8 rings are not present

?

A. Chair form of sulphur

B. Rhombinc sulphur

https://dl.doubtnut.com/l/_Ckh0hATrdeoD
https://dl.doubtnut.com/l/_RT13jHejLXej
https://dl.doubtnut.com/l/_7qvqLAK3zYpe


C. Monoclinic sulphur

D. γ -  monoclinic sulphur

Answer: A

Watch Video Solution

11. Oxygen molecules is

A. Diamagnetic with no unpaired electrons

B. Diamagnetic witgh two unpaired electrons

C. Paramagnetic with two unpaired electrons

D. Paramagnetic with no unpaired electrons

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7qvqLAK3zYpe
https://dl.doubtnut.com/l/_iuIZP1qVcFqA


12. In the species O2, O -
2 and O2 -

2 ,  the correct decreasing order of bond

strength is given as

A. O2 > O +
2 > O -

2 > O2 -
2

B. O +
2 > O2 > O -

2 > O2 -
2

C. O2 -
2 > O -

2 > O +
2 > O2

D. O -
2 > O2 -

2 > O2 > O +
2

Answer: B

Watch Video Solution

13. All of the following decompose easily on heating to give O2 except

A. HgO

B. MnO2

C. Pb NO3 2

D. NaNO3

( )

https://dl.doubtnut.com/l/_KRAO3ENiwNtA
https://dl.doubtnut.com/l/_oxZXUOxiU5Yz


Answer: B

Watch Video Solution

14. In which one of the following reactions, 16 group element is

precipitated

A. Na2SO3 + Cl2 + H2O →

B. SO2 + 2H2O + Cl2 →

C. 2FeSO4 + H2SO4 + Cl2 →

D. Na2S2O3 + Cl2 + H2O →

Answer: D

Watch Video Solution

15. The number of lone pairs and S-S bonds, in S8 molecule, respectively

https://dl.doubtnut.com/l/_oxZXUOxiU5Yz
https://dl.doubtnut.com/l/_Dt9kz6rk6Wct
https://dl.doubtnut.com/l/_N5d8kwmgMtR7


A. 8&8

B. 4&4

C. 16&8

D. 16&4

Answer: C

Watch Video Solution

16. When PbO2 reacts with conc. HNO3, the gas evolved is

A. NO2

B. O2

C. N2

D. N2O

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_N5d8kwmgMtR7
https://dl.doubtnut.com/l/_85XJwJNatumt


17. The geometry of H2S and its dipole moment are

A. Angular and non zero

B. Angular and zero

C. Linear and non zero

D. Linear and zero

Answer: A

Watch Video Solution

18. Regarding H2O2 the wrong statement is

A. H2O in an exothermic compound

B. It is an associated liquid

C. Central atom is sp3 hybridised

https://dl.doubtnut.com/l/_85XJwJNatumt
https://dl.doubtnut.com/l/_2xO2fhuwA0Wq
https://dl.doubtnut.com/l/_tuvH8yTZyFIO


D. It is an excellent solvent for covalent compounds

Answer: D

Watch Video Solution

19. In which of the following bond angle can not be explained by Valence

Bond Theory?

A. H2O

B. H2Po

C. H2S

D. H2Te

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_tuvH8yTZyFIO
https://dl.doubtnut.com/l/_mgXcbS3YSqfY


20. Which of the following order is wrong ?

A. H2O > H2S > H2Se > H2Te  

(Thermal stability)

B. H2S < H2Se < H2Te < H2O (Boiling points)

C. H2O < H2S < H2Se < H2Te (pKa value)

D. O - H > S - H > Se - H > Te - H (Bond Energy)

Answer: C

Watch Video Solution

21. The hydride of group 16 elements which shows greater Lewis base

character

A. H2O

B. H2Te

C. H2S

https://dl.doubtnut.com/l/_t4amq6libWyQ
https://dl.doubtnut.com/l/_RPss3eBtU2w9


D. H2Se

Answer: A

Watch Video Solution

22. Amongst H2O, H2S, H2Se and H2Te,  the one with the highest boiling

point is

A. H2O because of hydrogen bonding

B. H2Te because of higher molecular weight

C. H2S because of hydrogen bonding

D. H2Se because of lower molecular weight

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RPss3eBtU2w9
https://dl.doubtnut.com/l/_bKHMU7g3fWT7


23. Which of the following hydrides shows the highest boiling point ?

A. H2O

B. H2S

C. H2Se

D. H2Te

Answer: A

Watch Video Solution

24. The correct order of boiling points of the given hydrides of 16th group

elements is

A. H2O > H2Te > H2Se > H2S

B. H2Te > H2Se > H2S > H2O

C. H2Te > H2Se > H2O > H2S

D. H2O > H2S > H2Se > H2Te

https://dl.doubtnut.com/l/_A5dYcXRTwROk
https://dl.doubtnut.com/l/_Oy3M9PIXz3ma


Answer: A

Watch Video Solution

25. Among the following the weakest conjugate base is

A. OH

B. SH

C. SeII

D. TeII

Answer: D

Watch Video Solution

26. The shape of sulpher hexa�uoride molecule is

A. Tetrahedral

https://dl.doubtnut.com/l/_Oy3M9PIXz3ma
https://dl.doubtnut.com/l/_36ST9lQP0yo8
https://dl.doubtnut.com/l/_w57TDE47y1lg


B. Square planar

C. Pyramidal

D. Octahedral

Answer: D

Watch Video Solution

27. The acidic character of dioxides of memebers of oxygen family

decreases in the order

A. SeO2 > SO2 > TeO2 > PoO2

B. SO2 > SeO2 > TeO2 > PoO2

C. PoO > TeO2 > SeO2 > SO2

D. TeO2 > PoO2 > SeO2 > SO2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_w57TDE47y1lg
https://dl.doubtnut.com/l/_vKkWhmFq4tXg


28. The statements about oxides of chalcogens 

i) The solubility of dioxides decreases from SO2 to PoO2  

ii) TeO2 is highly acidic in nature  

(iii) Trioxides are more acidic than dioxides 

The correct combination is

A. i&iii are correct

B. all are correct

C. only iii is correct

D. i&ii are correct

Answer: A

Watch Video Solution

29. Regarding SF6,  the wrong statement is

https://dl.doubtnut.com/l/_vKkWhmFq4tXg
https://dl.doubtnut.com/l/_AcgdBCfcgwFl
https://dl.doubtnut.com/l/_CdebJlPao6Pp


A. It is a inert and does not undergo hydrolysis

B. It is a covalent compoind

C. Hybridisation of S is sp3d2 and shape is octahedral

D. S forms SF6 in third excited state

Answer: D

Watch Video Solution

30. Sulphur shows maximum coordination number is SXn.  Where 'X' is

A. F

B. Br

C. I

D. Cl

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CdebJlPao6Pp
https://dl.doubtnut.com/l/_iWnAVDOu7zJ4


31. The molecule having one pπ - pπ and two pπ - dπ bonds is

A. SO2

B. SO3

C. CO2

D. N2

Answer: B

Watch Video Solution

32. Which in an amphoteric oxide ?

A. SO2

B. B2O3

C. ZnO

https://dl.doubtnut.com/l/_iWnAVDOu7zJ4
https://dl.doubtnut.com/l/_gCu2DrcTcz0S
https://dl.doubtnut.com/l/_KMRnC0DiPfff


D. Na2O

Answer: C

Watch Video Solution

33. One gas bleaches the colour of the �owers by reductin while the other

by oxidation in the presence of mositure. The gases are

A. CO and CO2

B. H2S and Br2

C. SO2 and Cl2

D. NH3 and SO3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KMRnC0DiPfff
https://dl.doubtnut.com/l/_ljf7tAXKKgPG


34. SCl4 on hydrolysis gives

A. H2SO4, HCl

B. H2S, HClO

C. SOCl2, HCl

D. H2SO3, HCl

Answer: D

Watch Video Solution

35. Sulphurous anhydride is

A. SO2

B. SO3

C. HSO -
3

D. SO2 -
3

https://dl.doubtnut.com/l/_vAi2otYw3Nnr
https://dl.doubtnut.com/l/_sylaJWEYXFGI


Answer: A

Watch Video Solution

36. Which of the following dissolves in water but does not give any

oxyacid solution? 

A. SO2

B. OF2

C. SCl4

D. SO3

Answer: B

Watch Video Solution

37. In OF2 molecule, the total number of bond pairs and lone pairs of

electrons present respectively are

https://dl.doubtnut.com/l/_sylaJWEYXFGI
https://dl.doubtnut.com/l/_PySMzntVHYty
https://dl.doubtnut.com/l/_Q54nlonhvXH6


A. 2, 6

B. 2, 8

C. 2, 10

D. 2, 9

Answer: B

Watch Video Solution

38. Which of the following ions does not have S-S linkage ?

A. S2O
2 -
8

B. S2O
2 -
6

C. S2O
2 -
5

D. S2O
2 -
4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Q54nlonhvXH6
https://dl.doubtnut.com/l/_lK7TL56KPXFF


39. C12H12O11

H2SO4

→ H2O + A
H2SO4

→ B + C + H2O  

If the compound C is an oxide of group VIA elemet then the compound B

is

A. SO2

B. CO

C. CO2

D. C2O2

Answer: C

Watch Video Solution

40. When moist coloured �owers are added inot SO2 gas the �owers are

decolourised because

A. SO2 absorbs colourding matter

https://dl.doubtnut.com/l/_lK7TL56KPXFF
https://dl.doubtnut.com/l/_XKCfmIK059Oc
https://dl.doubtnut.com/l/_rCT5XZiMWthT


B. SO2 oxidised vegetable colouring matter

C. SO2 reduces vegetable colouring matter

D. SO2 gives colourless product

Answer: C

Watch Video Solution

41. Which of the following can give an oxyacid when dissolved in H2O ?

A. Cl2O

B. SO3

C. SO2

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rCT5XZiMWthT
https://dl.doubtnut.com/l/_iUJA01hAoURo
https://dl.doubtnut.com/l/_cqLQGrBANvNJ


42.   

The correct match of the above lists is

A. 
A B C D
2 5 2 4

B. 
A B C D
3 2 1 4

C. 
A B C D
4 5 1 2

D. 
A B C D
2 3 1 5

Answer: C

Watch Video Solution

43. A salt of sulphurous acid is called

https://dl.doubtnut.com/l/_cqLQGrBANvNJ
https://dl.doubtnut.com/l/_zZ0z2BTwPzec


A. Sulphate

B. Sulphurate

C. Sulphite

D. Sulphide

Answer: C

Watch Video Solution

44. Which of the following sppecies is basec and reducing ?

A. SO2 -
3

B. SO2 -
4

C. S2O
2 -
4

D. HSO -
4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zZ0z2BTwPzec
https://dl.doubtnut.com/l/_BWZzHpC68HXQ


45. In aqueous solutions H2SO4 ionises as:  

H2SO4 + H2O ⇔ H2SO
-
24 + H3O

+ , Ka1  

H2SO
-
4 + H2O ⇔ SO2 -

4 + H3O
+ , Ka2.   

The relation between Ka1 and Ka2 is

A. Ka1 < Ka2

B. Ka1 > Ka2

C. Ka1 = Ka2

D. 2KaA1 = 3Ka2

Answer: B

Watch Video Solution

46. Single bond between sulphure atoms is present in

A. H2S2O7

https://dl.doubtnut.com/l/_BWZzHpC68HXQ
https://dl.doubtnut.com/l/_NQkfbpcAcFHb
https://dl.doubtnut.com/l/_l4thDLYH5TPA


B. H2S2O8

C. H2S2O6

D. H2S2O3

Answer: C

Watch Video Solution

47. Number of hydorxyl groups present in pyrosulphuric acid is

A. 3

B. 4

C. 2

D. 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_l4thDLYH5TPA
https://dl.doubtnut.com/l/_YF59bEvSdlRk
https://dl.doubtnut.com/l/_Mr2xQKO2p9oE


48. The acid containing S - O - O - S bond is

A. H2SO5

B. H2S2O7

C. H2S2O6

D. H2S2O8

Answer: D

Watch Video Solution

49. S-S bond is not present in

A. Pyro sulphurous acid

B. Dithionic acid

C. Dithionous acid

D. Pyro sulphuric acid

https://dl.doubtnut.com/l/_Mr2xQKO2p9oE
https://dl.doubtnut.com/l/_rafToIfLwkeE


Answer: D

Watch Video Solution

50. Oxidation sttae of S in H2SO5 and H2S2O8 respectively are

A. +6, + 6

B. +6, + 4

C. +8, 7

D. +4, + 4

Answer: A

Watch Video Solution

51. The ratio of pπ - dπ bond is SO2 and SO3 molecules

A. 1: 1

https://dl.doubtnut.com/l/_rafToIfLwkeE
https://dl.doubtnut.com/l/_xjbwNOEk9Eeq
https://dl.doubtnut.com/l/_cTvao13s1QYr


B. 1: 2

C. 2: 1

D. 2: 3

Answer: B

Watch Video Solution

52. Identify the correct sequence of increasing number of π -  bonds in

the structures of the following molecules. 

I. H2S2O6  

II. H2SO3  

III. H2S2O5

A. I, II, III

B. II, III, I

C. II, I, III

D. I, III, II

https://dl.doubtnut.com/l/_cTvao13s1QYr
https://dl.doubtnut.com/l/_CAHtyUoswSCe


Answer: B

Watch Video Solution

53. The number of sigma and pi bonds in peroxodisulphuric acid are,

respectively.

A. 9 and 4

B. 11 and 4

C. 4 and 8

D. 4 and 9

Answer: B

Watch Video Solution

54. Iron sulphide is heated in air to form A, an axide of sulphir. A is

dissolved in water to give an acid . The basicity of this acid is

https://dl.doubtnut.com/l/_CAHtyUoswSCe
https://dl.doubtnut.com/l/_7E9bpzzpVQty
https://dl.doubtnut.com/l/_AxWldXtk1xhb


A. 2

B. 3

C. 1

D. zero

Answer: A

Watch Video Solution

55. Which of the following has S-O-S bond in it is

A. Pyrosulphurous acid

B. Oleum

C. Caro's acid

D. Marshal's acid

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AxWldXtk1xhb
https://dl.doubtnut.com/l/_uvgaI5h51Fch


56. Which statement is correct ?

A. Ozone is a resonance hybride of oxygen

B. Ozone is an allotropic modi�cation of oxygen

C. Ozone is an isomer of oxygen

D. Ozone has no relationship with oxygen

Answer: B

Watch Video Solution

57. The incorrect statement among the following is

A. Ozone is an angular molecule

B. O3 is a poisonus gas

C. O3 is highly soluble in water

https://dl.doubtnut.com/l/_uvgaI5h51Fch
https://dl.doubtnut.com/l/_vuMEDlNnpVix
https://dl.doubtnut.com/l/_zwXajWWEa7Rf


D. Ozne is present in stratosphere

Answer: C

Watch Video Solution

58. Ozonization of water is carried out to remove

A. Bacterial impurties

B. Bad taste

C. Excess of chlorine present

D. Calcium and magnesium slat present in it

Answer: A

Watch Video Solution

59. Which of the following conversinon is not brought about by ozone ?

https://dl.doubtnut.com/l/_zwXajWWEa7Rf
https://dl.doubtnut.com/l/_W07WafwUSgry
https://dl.doubtnut.com/l/_OcRFGSm4QEL2


A. HF to F2

B. Moist KI to I2

C. Ag2O to Ag

D. PbS to PbSO4

Answer: A

Watch Video Solution

60. Number of volumes of Oxygen that gives 4 volumes of Ozone is

A. 4

B. 6

C. 8

D. 2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OcRFGSm4QEL2
https://dl.doubtnut.com/l/_zEbH6tUHD42N


61. Starch paper moistened with KI solutin turns blue in ozone because of

A. Iodine Iiberatin

B. Oxygen liberatin

C. Alkali formation

D. Ozone is acidic

Answer: A

Watch Video Solution

62. Pure ozone is

A. Pale blue gas

B. Darkk blue liquid

C. Violet back solid

https://dl.doubtnut.com/l/_zEbH6tUHD42N
https://dl.doubtnut.com/l/_fVshTm9aQN9G
https://dl.doubtnut.com/l/_CE7qHnhh07Nz


D. All the above

Answer: D

Watch Video Solution

63. Ethylene on reaction with ozone gives

A. Glyoxal

B. Formaldehyde

C. Ethylene ozonide

D. Acetaldehyde

Answer: C

Watch Video Solution

64. Which of the following is not correct ?

https://dl.doubtnut.com/l/_CE7qHnhh07Nz
https://dl.doubtnut.com/l/_q96NBAhSbMTx
https://dl.doubtnut.com/l/_qoZiHxCEcV38


A. 3O2

Silent electric
⇔ discharge2O3, ΔH = - 284.5KJ

B. Ozone undergoes addition reaction with unsaturated charbon

compounds.

C. Nitrogen oxides emitted from jet planes might bee slowly depleting

ozone.

D. Ozone oxidises lead sulphide to lead sulphate

Answer: A

Watch Video Solution

65. Select the wrong statemet

A. Ozone is a pale blue gas

B. O3 acts as both oxidant and reductant

C. Ozone is used as an antiseptic inhaleer

D. Ozone is used in sterlization of water

https://dl.doubtnut.com/l/_qoZiHxCEcV38
https://dl.doubtnut.com/l/_8HrkiNRTBstF


Answer: C

Watch Video Solution

66. Ozone oxidises iodide to

A. iodine

B. hypoiodite

C. iodate

D. periodate

Answer: A

Watch Video Solution

67. Which of the following substances do not react with ozone ?

A. PbS

https://dl.doubtnut.com/l/_8HrkiNRTBstF
https://dl.doubtnut.com/l/_GXbCs7N6YSeP
https://dl.doubtnut.com/l/_laeAiwT673Vr


B. Starch iodide

C. KMnO4

D. Bleaching powder

Answer: C

Watch Video Solution

68. Which of the following will not react with O3 ?

A. KMnO4

B. KI

C. FeSO4

D. K2MnO4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_laeAiwT673Vr
https://dl.doubtnut.com/l/_B20SbgkJnpCS
https://dl.doubtnut.com/l/_5tAP9lXxBwmW


69. In the preparation of H2SO4,  by Constact process V2O5 is used as a

catalyst in the reaction.

A. S + O2 → SO2

B. SO3 + H2SO4 → H2S2O7

C. SO3 + H2O → H2SO4

D. 2SO2 + O2 → 2SO3

Answer: D

Watch Video Solution

70. H2SO4 has very corrosive action on skin because

A. It reacts with proteins

B. It acts as an oxidizing agent

C. It acts as dehydrating agent

https://dl.doubtnut.com/l/_5tAP9lXxBwmW
https://dl.doubtnut.com/l/_cmN79L89jjII


D. It acts a dehydrating agent and absorption of water is highly

exothermic

Answer: D

Watch Video Solution

71. Concentratged H2SO4 is not used to prepare HBr from KBr becaue it

A. Oxidizes HBr

B. Reduces HBr

C. Caused disporportionation of HBr

D. Reacts too slowly with KBr

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cmN79L89jjII
https://dl.doubtnut.com/l/_OPGHh8aRY6FZ


72. Which of te following statements regarding the manufacture of

H2SO4 by Contact preocess is not true ?

A. Sulphur is burnt in air to form SO2

B. SO2 is catalytically oxidised to SO3

C. SO3 is dissolved in water to get 100 %  sulphuric acid

D. H2SO4 obtined by contact process is of higher purity than that

obtained by other processes

Answer: C

Watch Video Solution

73. Sulphuric acid is used 

A) In petroleum re�ning 

B) In galvanising 

C) IN making fertilizers

https://dl.doubtnut.com/l/_h9arP5WUf0BP
https://dl.doubtnut.com/l/_e5drPx9IUSkk


A. A,B

B. B,C

C. A,C

D. A,B,C

Answer: D

Watch Video Solution

74. The element which evolves two gases on reacting with conc. H2SO4 is

A. Si

B. C

C. S

D. P

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_e5drPx9IUSkk
https://dl.doubtnut.com/l/_SqSgH8zW5tkj


75. Which reaction represents the oxidizing behaviour of H2SO4 ?

A. 2PCl5 + H2SO4 → 2POCl3 + 2HCl + SO2Cl2

B. 2NAOH + H2SO4 → Na2SO4 + 2H2O

C. NaCl + H2SO4 → NaHSO4 + HCl

D. 2HI + H2SO4 → I2 + SO2 + 2H2O

Answer: D

Watch Video Solution

76. Which characterstic property of H2SO4 is responsible for its chemical

properties

A. low volatility

B. weak acidic nature

C. acting as reductant

https://dl.doubtnut.com/l/_SqSgH8zW5tkj
https://dl.doubtnut.com/l/_M5ZPixHM00x1
https://dl.doubtnut.com/l/_jYPRCTwlRQlA


D. a�nity for water

Answer: D

Watch Video Solution

77. Pick out the ideal condition for H2SO4 manufactured by contact

process

A. Low temperature, high pressure and high concentrtion of reactants

B. Low temperature, low pressure and low concentration of reactants

C. High temperature, high pressure and high concentration of

reactants

D. Low temperature, low pressure and high concentration of reactants

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jYPRCTwlRQlA
https://dl.doubtnut.com/l/_JR2G233zg4Gy
https://dl.doubtnut.com/l/_Hk6O0cmvP9Ui


78. Hydrolysis of one mole of perxodi-sulphuric acid produces :

A. two moles of sulphuric acid

B. two moles of peroxomono-sulphuric acid

C. one mole of sulphuric acid, one mole of peroxomono-sulphuric acid

D. one mole of sulphuric acid, one mole of peroxomono-sulphuric acid

and one mole of hydrogen peroxide

Answer: C

Watch Video Solution

79. HCOOH reacts wihth conc. H2SO4 to produce

A. CO

B. CO2

C. NO

D. NO2

https://dl.doubtnut.com/l/_Hk6O0cmvP9Ui
https://dl.doubtnut.com/l/_2gFiwWPmL1Jv


OBJECTIVE EXERCISE-3 (Previous NEET/AIPMT Questions)

Answer: A

Watch Video Solution

80. Consider the following reactions 

X (aq ) + H2SO4 (dil ) → Y,  colourless gas with pungent smell

A. SO2 -
3 , SO2

B. NO -
3 , NO

C. S - 2, H2S

D. Cl - , HCl

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2gFiwWPmL1Jv
https://dl.doubtnut.com/l/_kj3XZWagsP8D


1. Which of the following is the most basic oxide?

A. SeO2

B. Al2O3

C. Sb2O3

D. Bi2O3

Answer: D

Watch Video Solution

2. The angular shape of ozone moecule O3   

consists of

A. 1σ and 1π bond

B. 2σ and 1π bond

C. 1σ2π binds

( )

https://dl.doubtnut.com/l/_4t5OFelfiwhI
https://dl.doubtnut.com/l/_XySHYbDfPwUr


D. 2σ and 2π bonds

Answer: B

Watch Video Solution

3. Sulphur troxide can be obtained by which of the following reaction ?

A. CaSO4 + C
Δ
→

B. Fe2 SO4 3

Δ
→

C. S + H2SO4

Δ
→

D. H2SO4 + PCl5
Δ
→

Answer: B

Watch Video Solution

( )

4. Which one of the following molecules contains no π bond ?

https://dl.doubtnut.com/l/_XySHYbDfPwUr
https://dl.doubtnut.com/l/_rrLOxtZOxLHT
https://dl.doubtnut.com/l/_zAHMOYQYto1J


A. SO2

B. NO2

C. CO2

D. H2O

Answer: D

Watch Video Solution

5. Acidity of diprotic acids in aqueous solutions increases in the order

A. H2S < H2Se < H2Te

B. H2Se < H2S < H2Te

C. H2Te < H2S < H2Se

D. H2Se < H2Te < H2S

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zAHMOYQYto1J
https://dl.doubtnut.com/l/_RmpMSpQMnlhf


6. The formation of the oxide ion O2 -
(g )  from oxygen atom requires �rst an

exothermic and then an endothermic step as shown below : 

O (g ) + e - → O -
(g ) , ΔfH

0 = - 141kJmol - 1  

O -
(g ) + e - → O - 2

(g ) , ΔfH
0 = + 780kJmol - 1  

Thus, process of formation of O2 -  in gas phase is unfavourable even

thrugh O2 -  is isoelectronic with neon. It is due to the fact that (2015)

A. O -  ion has comparatively smaller size than oxygen atom

B. Oxygen is more electronegative

C. Addition of electron in oxygen result in larger size of the ion

D. Electron repulsion outweights the stability gained by achieving

noble gas con�guration.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RmpMSpQMnlhf
https://dl.doubtnut.com/l/_5f3qQrVnkiTw


7. Hot concentrated sulphuricacid is a moderately strong oxidizing agent.

Which of the following reactions does not show oxidizing behaviour ?

A. Cu + 2H2SO4 → CuSO4 + SO2 + 2H2O

B. 3S + 3H2SO4 → 3SO2 + 2H2O

C. C + 2H2SO4 → CO2 + 2SO2 + 2H2O

D. CaF2 + H2SO4 → CaSO4 + 2HF

Answer: D

Watch Video Solution

8. Name the gas that can readily decolourise acidi�ed KMnO4 soulution.

A. P2O5

B. CO2

C. SO2 and Cl2

D. NO2

https://dl.doubtnut.com/l/_gMtfbIwuYnam
https://dl.doubtnut.com/l/_UCcW3gz5Jhsf


OBJECTIVE EXERCISE-4 (Assertion (A) & Reason (R) Type Question)

Answer: C

Watch Video Solution

9. In which pair of ions both the species contains S-S bond ?

A. S4O
2 -
6 , S2O

2
7

B. S2O
2 -
7 , S2O

2 -
3

C. S4O
2 -
6 , S2O

2 -
3

D. S2O72 - ,S2O
2 -
8

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UCcW3gz5Jhsf
https://dl.doubtnut.com/l/_gZmKCoSDzOiy


1. (A) Thermal stability of the hydrides of VIA group elements decreases

from H2O to H2Po  

(R ) The heats of disociation of M-H bond of hydrides of VIA group

decreases down the group

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

2. (A): H,0 is thermally more stable than H2S  

(R): H2O molecules can form inter-molecular hydrogen bonds where as 

H2S molecules can not.

https://dl.doubtnut.com/l/_zQ17AgwcZc3d
https://dl.doubtnut.com/l/_qeCl2CqmYXvj


A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

3. (A): Direct absorption of SO3 in H2O is commercially not possible  

(R): Direct absorption of SO3 in water forms a mist of corrosive vapours. 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

https://dl.doubtnut.com/l/_qeCl2CqmYXvj
https://dl.doubtnut.com/l/_ysZGwMhwR6fi


D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

4. (A) The formation of SO3 by contact process is an example of

heterogeneous catalysis 

(R): The reactants and product are in di�erent phase in the formation of

SO3 by contact process 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_ysZGwMhwR6fi
https://dl.doubtnut.com/l/_sLTCYyCka6FY


Watch Video Solution

5. (A): Oxygen has highest tendency, among chalcogens, to form

dinegative ion 

(R): Electron a�nity of oxygen is highest among chacogens

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: C

Watch Video Solution

6. (A) Diatomic sulphur hs a dicovalent bond 

(R ) General valency of sulphur is two

https://dl.doubtnut.com/l/_sLTCYyCka6FY
https://dl.doubtnut.com/l/_7cdsTxL2SE6i
https://dl.doubtnut.com/l/_Fyw39jdW2Nvf


A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

7. (A): Water forms hydronium ion in acid solutions 

(R): The maximum covalency of oxygen is three 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

https://dl.doubtnut.com/l/_Fyw39jdW2Nvf
https://dl.doubtnut.com/l/_uxMGEUTGVopd


D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

8. (A): Sulphur is hexavalent in the ground state 

(R): Sulphur can form a minimum of six bonds 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_uxMGEUTGVopd
https://dl.doubtnut.com/l/_5jZvgfXyQxkK
https://dl.doubtnut.com/l/_7wdYhw0A0E65


9. (A): Oxygen exhibits positive oxidation states in some of its compounds

(R): In binary �uorides, �uorine is always more electronegative

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

10. (A): Ozone is an allotrope of oxygen. 

(R): Ozone is better oxidising agent as compared with oxygen. 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

https://dl.doubtnut.com/l/_7wdYhw0A0E65
https://dl.doubtnut.com/l/_ylMu099COxaD


B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

11. (A): Catanation ability of sulphur is observed in polysulphides 

(R): A polysulphide with eight sulphur atoms is known 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_ylMu099COxaD
https://dl.doubtnut.com/l/_oDjKHEMvC8T8


Answer: C

Watch Video Solution

12. (A): Water is the most stable hydride of chalcogens 

(R): Among M-H bonds of chacogen hydrides, O - H bond is more stable. 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oDjKHEMvC8T8
https://dl.doubtnut.com/l/_Vc84nnRAF2Hu


13. (A): Ozone can be used qualitatively to distinguish unsaturated

hydrocarbons from saturated 

(R): Ozonides are formed with unsaturated hydrocarbons

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

14. (A) Formic acid is made poisonous with the presence of sulphuric acid 

(R ) Sulphuric acid acts as dehydrating agent liberating carbon monoxide

from formic acid

https://dl.doubtnut.com/l/_WcFt08tX3nO1
https://dl.doubtnut.com/l/_3m4HSgAf7JeH


A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

15. (A): Conc.H2SO4 reacts with KCl to give Cl2 gas  

(R): HCI cannot be oxidised by conc.H2SO4 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

https://dl.doubtnut.com/l/_3m4HSgAf7JeH
https://dl.doubtnut.com/l/_N6QGJSjjYT6e


D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

16. (A): SO3 molecule has a planar structure  

(R) : S atom in SO3 is sp2 -  hybridized and O - S - O bond angle is 120 ∘

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_N6QGJSjjYT6e
https://dl.doubtnut.com/l/_b0kKKc2uXvTF
https://dl.doubtnut.com/l/_TgyWtVgxdPX9


17. (A) Tendency of forming multiple bond is highest for oxygen among

chalcogens 

(R ) Size of oxygen is smallest among chalcogens

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

18. (A) Oxygen is most abundant in earth's atmosphere 

(R ) Oxygen is the stablest ga present in the air

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

https://dl.doubtnut.com/l/_TgyWtVgxdPX9
https://dl.doubtnut.com/l/_uX1W0wUxZS1Y


B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

19. (A) White suspension of lead (II) sulphate turns blackish on passing

ozone though it. 

(R ) Ozone oxidises SO2 -
4  to S2O

2 -
8  ion.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_uX1W0wUxZS1Y
https://dl.doubtnut.com/l/_n7VHzTjrZqmm


Answer: D

Watch Video Solution

20. (A) There is no sulphur sulphur bond in thiosulphate 

(R ) All sulphur sulphur bonded compounds are persulphates

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_n7VHzTjrZqmm
https://dl.doubtnut.com/l/_aD333oUUuTB4


21. (A) Oxygen belongs to group 16 of the long form of the periodic table 

(R ) Oxygen has relative atomic mass 16U

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

22. (A) When conc. H2SO4 comes into contact with cane sugar, the later

becomes black. 

(R ) Conc.H2SO4 dehydrate sugar to black residue carbon

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

https://dl.doubtnut.com/l/_y1H6FZK7xJVC
https://dl.doubtnut.com/l/_qrHnpN2NZlii


B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

23. (A) When SO2 is passed into dichromate solution, green colour is

observed 

(R ) SO2 acts as oxidant as well as reductant

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_qrHnpN2NZlii
https://dl.doubtnut.com/l/_t9vSBDuNqx9V


Answer: B

Watch Video Solution

24. (A) O -
2  ion is more stable than O +

2  ion  

(R ) Negative ions are always more stable than positive inos

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_t9vSBDuNqx9V
https://dl.doubtnut.com/l/_uEEFOc7mdPyR


25. (A) Conc. H2SO4 is an example of viscous liquid  

(R ) Hydrogen bonding is presenet between molecules of sulphuric acid

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

26. (A) Caro's acis has S atom in + 6 oxidation state 

(R ) Caro's acid contains the peroxo o2 -
2  group

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

https://dl.doubtnut.com/l/_Auw2meKYiI4j
https://dl.doubtnut.com/l/_DFS0WM5lrwkt


B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

27. (A) OF2 is named as oxygen di�uoride  

(R ) In OF2,  oxygen is less electronegative than �uorine

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_DFS0WM5lrwkt
https://dl.doubtnut.com/l/_fGhLL1h9eLnl


Answer: A

Watch Video Solution

28. (A) Both SO2 and SO3 are reducing agents  

(R ) Both SO2 and SO3 bleach the articles by reduction

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fGhLL1h9eLnl
https://dl.doubtnut.com/l/_4QnHXNB0RoB8


29. (A) Among chalcogens, tendency of catenation is maximum for

sulphur 

S-S bond dissociation energy is less then O-O bond dissociation energy.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: C

Watch Video Solution

30. (A) In SO2,  the bond angle is 1190 whereas in SO3,  the bond angle is 

1200.   

(R ) S atom in both SO2 and SO3 is sp2 -  hybridized.

https://dl.doubtnut.com/l/_W9dZyzYLuzyi
https://dl.doubtnut.com/l/_a5e9x7kE63An


A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

31. (A) : H2SO4 is called king of chemicals  

(R ) : H2SO4 has wide range of applications in industries.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

https://dl.doubtnut.com/l/_a5e9x7kE63An
https://dl.doubtnut.com/l/_Ryju6mL0ZX3v


D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

32. (A) Oxygen does not exhibit oxidation number more than +2 n its

compounds. 

(R ) Oxygen is the highest electronegative element in 16th group.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Ryju6mL0ZX3v
https://dl.doubtnut.com/l/_qmhozeh59OHK


33. (A) Oxygen is least electron a�nity element in 16th group  

(R ) Oxygen does not contain vacant dorbitals.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

34. (A) Thermal stability of 16th group hydrides decreases from H2O to 

H2PO  

(R ) From H2O to H2PO bond dissociation energy increases.

https://dl.doubtnut.com/l/_qmhozeh59OHK
https://dl.doubtnut.com/l/_wsap0dD8A8ln
https://dl.doubtnut.com/l/_EGQlf567wUr0


A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: C

Watch Video Solution

35. (A) Dioxygen does not react directly with Au and Pt 

( R) au ad Pt are noble metals

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

https://dl.doubtnut.com/l/_EGQlf567wUr0
https://dl.doubtnut.com/l/_9A8g2TFreNrN


D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

36. (A) Mn2O7 and CrO3 are acidic oxides.  

(R ) In Mn2O7 and CrO3 the Mn and Cr are in their highest oxidation

states.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_9A8g2TFreNrN
https://dl.doubtnut.com/l/_IV2ASyLGaN0s


37. (A) SO2 is reducing agent and TeO2 is oxidising agent  

(R )From SO2 to TeO2 acidic nature of dioxides increases.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: C

Watch Video Solution

38. (A) H2O is a liquid while H2S is gas at room temperature  

(R ) Both H2O and H2S are exothermic compounds

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

https://dl.doubtnut.com/l/_IV2ASyLGaN0s
https://dl.doubtnut.com/l/_N0WSIVdeTQDy
https://dl.doubtnut.com/l/_wgRkGPg1Ub7f


B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

39. (A) Ozone is thermodynamically unstable than oxygen. 

(R ) Decomosition of ozone into oxygen results in the liberation of heat

and an increase in entropy.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_wgRkGPg1Ub7f
https://dl.doubtnut.com/l/_jiCZJSAZi06B


Answer: B

Watch Video Solution

40. (A) Conversin of PbS to PbSO4 consumes four moles of ozone  

(R ) O3 → O2 + (O)

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jiCZJSAZi06B
https://dl.doubtnut.com/l/_fykXcCE3HzyQ


41. (A) Exhaust systems of supersonic jet aeroplanes slowly depleting the

concen-tration of ozone layer. 

(R ) NO (g ) + O3 (g ) → NO2 (g ) + O2 (g )

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

42. (A) The two oxygen-oxygen bond lengths in the ozone molecule are

identical (128 pm) 

(R ) Ozone exhibit resonance.

https://dl.doubtnut.com/l/_Bq1AmYVBfKRv
https://dl.doubtnut.com/l/_qxD59jaMTJaX


A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

43. (A) In vapour state S2 molecule is paramagnetic like O2 

(R ) S2 molecule in vapour state contains two unpaired electrons in

bonding molecular orbitals

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

https://dl.doubtnut.com/l/_qxD59jaMTJaX
https://dl.doubtnut.com/l/_5EcdvUYdJbY9


D. Both (A) and (R ) are false

Answer: C

Watch Video Solution

44. (A) Sulphur dioxide acts as antichlor 

(R ) In presence of charcoal SO2 combine with Cl2 to form sulphuryl

chloride

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5EcdvUYdJbY9
https://dl.doubtnut.com/l/_3YdJ08hVcstF


45. (A) SO2 is angular molecule  

(R ) In SO2 sulphur exhibit SP2 hybridisation

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: B

Watch Video Solution

46. (A) SO2 acts as good reducing agent in aqueous solutions  

(R ) SO2 + 2HO→H2SO4 + 2 (H )

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

https://dl.doubtnut.com/l/_3YdJ08hVcstF
https://dl.doubtnut.com/l/_bKazjQnRYZGI
https://dl.doubtnut.com/l/_GKP6Jlt4bG6a


B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

47. (A) Ozone is used for bleaching oils, ivory, �our, starch ect. 

(R ) O3 → O2 + (O)

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_GKP6Jlt4bG6a
https://dl.doubtnut.com/l/_JmGh1XIrzv3f


Answer: A

Watch Video Solution

48. (A) 369 K is considered as transition temperature of sulphur 

(R ) At 369 K both α and β sulphur are exist in equilibrium

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_JmGh1XIrzv3f
https://dl.doubtnut.com/l/_Mi8Q2VjjWb7u


49. (A) H2SO4 is used in the preparation of HCl from NaCl  

(R ) H2SO4 is lower volatile cid than HCl

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

50. (A) Sulphuric acid forms two series of salts with alkalies 

(R ) Sulphuric acis is a diabasic acid

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

https://dl.doubtnut.com/l/_E18pDTu87ABR
https://dl.doubtnut.com/l/_aX1tC7N6yRNT


B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: A

Watch Video Solution

51. (A) Ozone is a linear molecule. 

(R ) In a molecule of ozone, the central oxygen atom is attached with two

more oxygen atoms.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_aX1tC7N6yRNT
https://dl.doubtnut.com/l/_g4nLPIr95mv3


LEVEL-I (EXERCISE)

Answer: A

Watch Video Solution

1. The second most electronegative element in periodic table is

A. F

B. O

C. Cl

D. N

Answer: B

Watch Video Solution

2. Element with higher catenation capacity is

https://dl.doubtnut.com/l/_g4nLPIr95mv3
https://dl.doubtnut.com/l/_XyCCsvE9jFhc
https://dl.doubtnut.com/l/_NfYUN6gMXKuK


A. S

B. Se

C. Te

D. Po

Answer: A

Watch Video Solution

3. The most common oxidation state of VI A group elements is

A. -2

B. +2

C. +4

D. +6

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NfYUN6gMXKuK
https://dl.doubtnut.com/l/_2SPfQgM3agOe


4. Chair form of S6 rings are present in

A. α - sulphur

B. β- sulphur

C. Engle's sulphur

D. γ - sulphur

Answer: C

Watch Video Solution

5. The chalogen containing equal number of 's' and 'p' electrons is

A. O

B. S

C. Mg

https://dl.doubtnut.com/l/_2SPfQgM3agOe
https://dl.doubtnut.com/l/_4IhiHsgPlr9x
https://dl.doubtnut.com/l/_VF8CaalLrAs5


D. Te

Answer: A

Watch Video Solution

6. Most abundant element in earth crust is

A. O

B. Se

C. S

D. Te

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VF8CaalLrAs5
https://dl.doubtnut.com/l/_C6COWg7cumyY


7. 

LIST-1 LIST-2
(A)Pyrolusite (1)FeS2

(B)Heamatite (2)ZnS
(C)Iron Pyrities (3)Fe2O3

(D)Zinc blende (4)MnO2

(5)Fe3O4

 

The correct match is

A. 
A B C D
4 5 1 3

B. 
A B C D
3 5 1 2

C. 
A B C D
4 3 1 2

D. 
A B C D
3 4 1 2

Answer: C

Watch Video Solution

8. Oxygen cannot exhibit higher oxidation states due to

A. small size

https://dl.doubtnut.com/l/_y4ZYKbzbLJJm
https://dl.doubtnut.com/l/_qkrsv1hRr59e


B. more electronegativity

C. less density

D. absence of 'd' orbitals

Answer: D

Watch Video Solution

9. Magnetic moment of O2 is nearly 

A. 1.8 BM

B. 2.8 BM

C. 3.8 BM

D. Zero

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qkrsv1hRr59e
https://dl.doubtnut.com/l/_YG0P5hb3O4sj
https://dl.doubtnut.com/l/_g4vKzcoOI8GD


10. Oxygen exhibits least oxidation state in

A. OF2

B. KO2

C. H2O

D. H2O2

Answer: C

Watch Video Solution

11. The oxidation number of sulphur in S8, S2F2 and H2S are 

A. 0, +1 and -2

B. +2, + 1 and - 2

C. 0, + 1 and + 2

D. -2, + 1 and - 2

https://dl.doubtnut.com/l/_g4vKzcoOI8GD
https://dl.doubtnut.com/l/_nWhQbMQoB8zT


Answer: A

Watch Video Solution

12. Polyanion formation is maximum in

A. Nitrogen

B. Oxygen

C. Sulphur

D. Boron

Answer: C

Watch Video Solution

13. In a compound of sulphur, the sulphur atom is in second excited state.

The possible hybridisation of sulphur is 

https://dl.doubtnut.com/l/_nWhQbMQoB8zT
https://dl.doubtnut.com/l/_wvn5ffa5ESbd
https://dl.doubtnut.com/l/_dUymONZhpzeA


A. sp2

B. sp3

C. sp3d2

D. sp2( or )sp3( or )sp3d2

Answer: D

Watch Video Solution

14. The pair of exothermic hydrides of VI A group are 

A. H2O, H2S

B. H2O, H2Se

C. H2Se, H2Te

D. H2S, H2Te

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_dUymONZhpzeA
https://dl.doubtnut.com/l/_s97PVIL6dV8h


15. Which is non poisonous hydride ?

A. H2O

B. H2S

C. H2Se

D. H2Te

Answer: A

Watch Video Solution

16. Sulphur uses ...... orbitals for bonding in H2S

A. sp3

B. sp2

C. one s and one p

https://dl.doubtnut.com/l/_s97PVIL6dV8h
https://dl.doubtnut.com/l/_DUfzpufcGm1R
https://dl.doubtnut.com/l/_PSpoGHLjvI3d


D. pure p orbitals

Answer: D

Watch Video Solution

17. (A): Thermal stability of the hydrides of VIA group elements decreases

from H2O → H_(2)Po` 

(R): The heats of dissociation of M-H bond of hydrides of VIA group

decreases down the group 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. (A) is false but (R ) is true

Answer: A

W t h Vid S l ti

https://dl.doubtnut.com/l/_PSpoGHLjvI3d
https://dl.doubtnut.com/l/_CcmT5hw2qi4P


Watch Video Solution

18. A stronger reducing agent is

A. H2O

B. H2S

C. H2Se

D. H2Te

Answer: D

Watch Video Solution

19. Correct decreasing order of volatility is

A. H2O > H2S > H2Se

B. H2S > H2O > H2Se

C. H2Se > H2O > H2S

https://dl.doubtnut.com/l/_CcmT5hw2qi4P
https://dl.doubtnut.com/l/_u8u031DB0Rad
https://dl.doubtnut.com/l/_9pM9JJ6YduDl


D. H2S > H2Se > H2O

Answer: D

Watch Video Solution

20. The most acidic and thermally stable hydride of chalcogens are

respectively 

A. H2O, H2Te

B. H2Te, H2S

C. H2S, H2Te

D. H2Te, H2O

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_9pM9JJ6YduDl
https://dl.doubtnut.com/l/_i2r3ri0zetmZ


21. In the hydrides of VIA elements largest bond angle and bond length is

observed respectively in 

A. H2O, H2O

B. H2Po, H2O

C. H2O, H2Po

D. H2S, H2Se

Answer: C

Watch Video Solution

22. The e�ect of repulsion between the two lone pairs of electrons

present on oxygen in H2O molecule is

A. no change in H-O-H bond angle

B. increase in H-O-H bond angle

C. decrease in H-O-H bond angle

https://dl.doubtnut.com/l/_cPfaiJUv1Wul
https://dl.doubtnut.com/l/_I7ddvceOgdZa


D. all atoms will be in one plane

Answer: C

Watch Video Solution

23. Which of the following is a weakest acid in its aqueous solution ?

A. H2Te

B. H2Se

C. H2S

D. H2Po

Answer: C

Watch Video Solution

24. Which of the following is least covalent hydride?

https://dl.doubtnut.com/l/_I7ddvceOgdZa
https://dl.doubtnut.com/l/_8xbrRBC6ZbVz
https://dl.doubtnut.com/l/_tqRYFRBBf5fH


A. H2O

B. H2S

C. H2Se

D. H2Te

Answer: A

Watch Video Solution

25. The bond angle in H2S is

A. 1090281

B. 1040511

C. 1200

D. 92.50

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_tqRYFRBBf5fH
https://dl.doubtnut.com/l/_TZZf3WDMhepw


26. Among the following, the weakest conjugate base is 

A. OH -

B. SH -

C. SeH -

D. TeH -

Answer: D

Watch Video Solution

27. The geometry of H2S and its dipole moment are

A. Angular and non zero

B. Angular and zero

C. Linear and non zero

https://dl.doubtnut.com/l/_TZZf3WDMhepw
https://dl.doubtnut.com/l/_w2qbIm6pTWBm
https://dl.doubtnut.com/l/_aKGThCf9ZCDb


D. Linear and zero

Answer: A

Watch Video Solution

28. In the hydrides of VI A group elements, the acidic strength gradually

increases from top to bottom. This is due to

A. decreases in the EN of the chalcogens

B. increase in their Ka values

C. increase in the metallic strength of chalcogen

D. increase in the m.p. of chalcogen

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_aKGThCf9ZCDb
https://dl.doubtnut.com/l/_04uEjDuAZhba


29. Oxygen is more electronegative than sulphur, yet H2S is acidic while 

H2O is neutral. This is because

A. Water is highly associated compound

B. H-S bond is weaker than H-O bond

C. H2S is a gas while H2O is a liquid

D. The molecular weight of H2S is more

Answer: B

Watch Video Solution

30. In which of the following bond angle can not be explained by Valence

Bond Theory?

A. H2O

B. H2Po

C. H2S

https://dl.doubtnut.com/l/_l8g2CcZUuEzH
https://dl.doubtnut.com/l/_MjqwxyKJtwkx


D. H2Te

Answer: A

Watch Video Solution

31. The element of VI A group which cannot form hexahalides is

A. O

B. S

C. Se

D. Te

Answer: A

Watch Video Solution

32. When sulphur is treated with F2, the main product formed is

https://dl.doubtnut.com/l/_MjqwxyKJtwkx
https://dl.doubtnut.com/l/_Wmt76ekirGFA
https://dl.doubtnut.com/l/_pZOPOcIMOxNu


A. SF6

B. SF2

C. SF4

D. S2F2

Answer: A

Watch Video Solution

33. The hybridization of Sin SF4 is

A. sp3d2

B. sp3d

C. sp3d3

D. sp3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pZOPOcIMOxNu
https://dl.doubtnut.com/l/_hFgMhPbOXG2C


34. Which of the following is foul smelling red liquid

A. SF6

B. S2Cl2

C. SCl2

D. SCl4

Answer: C

Watch Video Solution

35. Which of the following has open book-structure

A. SCl2

B. S2Cl2

C. SF4

https://dl.doubtnut.com/l/_hFgMhPbOXG2C
https://dl.doubtnut.com/l/_VWtDZFthZujT
https://dl.doubtnut.com/l/_2u1S8YnqTV5I


D. SF2

Answer: B

Watch Video Solution

36. Bond angles in SCl2 and OF2 respectively are

A. 1070, 101.50

B. 1030, 109.50

C. 101.50, 1050

D. 1030, 1030

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2u1S8YnqTV5I
https://dl.doubtnut.com/l/_ThvKVxEwmmO3


37. In OF2 molecule, the total number of bond pairs and lone pairs of

electrons present respectively are

A. 2, 6

B. 2, 8

C. 2, 10

D. 2, 9

Answer: B

Watch Video Solution

38. The bond angle in TeBr2 is

A. 101.5 ∘

B. 98 ∘

C. 103 ∘

D. 90 ∘

https://dl.doubtnut.com/l/_pcARl4XsOigE
https://dl.doubtnut.com/l/_O4VrpRoWQ95h


Answer: B

Watch Video Solution

39. Which among the following compound cannot be prepared by direct

union of elements ?

A. SF6

B. Se2Br2

C. S2Cl2

D. SF4

Answer: D

Watch Video Solution

40. SF4 is obtained by treating sulphur with

https://dl.doubtnut.com/l/_O4VrpRoWQ95h
https://dl.doubtnut.com/l/_p10R1PzqiVWi
https://dl.doubtnut.com/l/_YmERPAlNvTWs


A. F2

B. CoF2

C. CoF3

D. CoF3 -
6

Answer: C

Watch Video Solution

41. Wrong statement about O2F2 is

A. It is non-planar molecule

B. It is evolved when dil NaOH reacts with F2

C. It is polar molecule

D. It has both polar and non-polar bonds.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YmERPAlNvTWs
https://dl.doubtnut.com/l/_Eq0CN0cZ3YjW


42. SCl4 on hydrolysis gives

A. H2SO4, HCl

B. H2S, HClO

C. SOCl2, HCl

D. H2SO3, HCl

Answer: D

Watch Video Solution

43. S + 2Cl2 → X
H2O

→ Y + HCl, Y → Z + H2O. Oxidation state of S in 'Z' is

A. +1

B. +4

C. +6

https://dl.doubtnut.com/l/_Eq0CN0cZ3YjW
https://dl.doubtnut.com/l/_nWvit5KGMWsR
https://dl.doubtnut.com/l/_BAR5h4jy98hn


D. +2

Answer: D

Watch Video Solution

44. The hydrolysis of which compound is an example of

disproportionating reaction?

A. SCl4

B. OF2

C. S2Cl2

D. S2Cl2 and OF2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BAR5h4jy98hn
https://dl.doubtnut.com/l/_puUjANl9FQtz


45. Which of the following is a liquid?

A. SCl4

B. SF6

C. SF4

D. OF2

Answer: A

Watch Video Solution

46. The hybridisation of sulphur atom in SCl4 and the shape of the

molecule are

A. sp3 and tetrahedral

B. sp3d and distorted tetrahedral

C. sp3d and trigonal bipyramidal

D. sp3d and tetrahedral

https://dl.doubtnut.com/l/_DliEurPINt7C
https://dl.doubtnut.com/l/_xH1poqF0Xsco


Answer: B

Watch Video Solution

47. When S2Cl2 is hydrolysed, the product formed is

A. HCl

B. SO2

C. S

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xH1poqF0Xsco
https://dl.doubtnut.com/l/_FXlLrASlqBuG


48. 

LIST - 1 LIST - 2
A) SF6 1) angular

B) SF4 2) open book

C) SF2 3) octahedral

D) S2F2 4) pyramidal

5) distorted tetrahedral

 

The correct match is

A. 
A B C D
1 2 3 4

B. 
A B C D
4 2 5 3

C. 
A B C D
2 4 1 5

D. 
A B C D
3 5 1 2

Answer: D

Watch Video Solution

49. TeCl4is expected to be

A. Tetrahedral

https://dl.doubtnut.com/l/_cCQplQoUUjoL
https://dl.doubtnut.com/l/_r3wGSpFOdUtQ


B. Square planar

C. Octahedral

D. Trigonal bipyramid

Answer: D

Watch Video Solution

50. In SCl2 the central atom involves

A. sp3 hybridization

B. sp3d hybridization

C. sp2d2 hybridization

D. dsp2 hybridization

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_r3wGSpFOdUtQ
https://dl.doubtnut.com/l/_dFVPlDqvxlQK
https://dl.doubtnut.com/l/_QgF3MU9y4ago


51. NaOH + F2 →  pale yellow gas (X). The hybridisation and bond angle

in X are

A. sp3, 1030

B. sp3d2, 900

C. sp3, 109.281

D. sp3d, 1200

Answer: A

Watch Video Solution

52. The total number of bond pairs and lone pairs in Se2Br2 molecule are

respectively

A. 3, 10

B. 3, 8

C. 2, 6

https://dl.doubtnut.com/l/_QgF3MU9y4ago
https://dl.doubtnut.com/l/_eSowF310cef5


D. 2, 10

Answer: A

Watch Video Solution

53. Which of the following can give an oxyacid when dissolved in H2O ?

A. Cl2O

B. SO3

C. SO2

D. All

Answer: D

Watch Video Solution

54. The oxide obtained in the roasting of ironpyrites 

https://dl.doubtnut.com/l/_eSowF310cef5
https://dl.doubtnut.com/l/_bEbJdrwIcSHs
https://dl.doubtnut.com/l/_OcrO8w9AoHJU


A. SO2

B. SO3

C. FeO

D. SO2 and SO3

Answer: A

Watch Video Solution

55. On passing SO2 gas through an acidi�ed solution of K2Cr2O7

A. The solution turns blue

B. The solution is decolourised

C. SO2 is reduced

D. Green Cr2 SO4 3
 is formed

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_OcrO8w9AoHJU
https://dl.doubtnut.com/l/_u7Wa2RuzpQ2p


56. SO2 bleaches by

A. Reduction

B. Oxidation

C. Hydrolysis

D. Acidic nature

Answer: A

Watch Video Solution

57. The hybridization of sulphur in SO2 is: 

A. sp

B. sp3

C. sp2

https://dl.doubtnut.com/l/_u7Wa2RuzpQ2p
https://dl.doubtnut.com/l/_Y1JbkuzafvJE
https://dl.doubtnut.com/l/_K8fmGQ0yNJo0


D. dsp2

Answer: C

Watch Video Solution

58. In SO2 two oxygen atoms are linked to the sulphur atom through

double bonds. The two π bonds are

A. both pπ - pπ

B. both pπ - dπ

C. both dπ - dπ

D. one pπ - pπ and one pπ - dπ

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_K8fmGQ0yNJo0
https://dl.doubtnut.com/l/_Z5oOvmKPBTiN


59. In solid cyclic form of SO3, each sulphur atom is surrounded by ……

oxygen atoms

A. 4

B. 3

C. 5

D. 6

Answer: A

Watch Video Solution

60. The number of S-S bonds in sulphur trioxide trimer S3O9 is

A. Three

B. Two

C. One

D. Zero

https://dl.doubtnut.com/l/_GGxss70ED9Ct
https://dl.doubtnut.com/l/_YPfBv4ABW2fb


Answer: D

Watch Video Solution

61. The type of bonds present in sulphuric anhydride are

A. 3σ and three pπ - dπ

B. 3σ, one pπ - pπ and two pπ - dπ

C. 2σ and three pπ - dπ

D. 2σ and two pπ - dπ

Answer: B

Watch Video Solution

62. Which is an amphoteric oxide ?

A. SO2

https://dl.doubtnut.com/l/_YPfBv4ABW2fb
https://dl.doubtnut.com/l/_8Dw7gARkhE2a
https://dl.doubtnut.com/l/_FUTcWpFfxDIA


B. B2O3

C. ZnO

D. Na2O

Answer: C

Watch Video Solution

63. Which of the following is least soluble in water?

A. TeO2

B. SO2

C. PoO2

D. SeO2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FUTcWpFfxDIA
https://dl.doubtnut.com/l/_pQOYPf0CPfmi
https://dl.doubtnut.com/l/_in2jWOt1CG25


64. The acidic character of dioxides of members of oxygen family

decreases in the order 

A. SeO2 > SO2 > TeO2 > PoO2

B. SO2 > SeO2 > TeO2 > PoO2

C. PoO2 > TeO2 > SeO2 > SO2

D. TeO2 > PoO2 > SeO2 > SO2

Answer: B

Watch Video Solution

65. During the bleaching action of SO2, it is converted to

A. H2SO3

B. SO3

C. H2S

D. H2SO4

https://dl.doubtnut.com/l/_in2jWOt1CG25
https://dl.doubtnut.com/l/_l3fp0WO7xP59


Answer: D

Watch Video Solution

66. Reducing property of SO2 is shown in  

A) 2H2S + SO2 → 3S + 2H2O  

B) I2 + SO2 + 2H2O → SO - 2
4 + 2I - + 4H +   

C) 3Fe + SO2 → 2Fe + FeS

A. A

B. B

C. A, B

D. A, C

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_l3fp0WO7xP59
https://dl.doubtnut.com/l/_F0aF97gkB4Cj


67. When moist coloured �owers are added into SO2 gas the �owers are

decolourised because

A. SO2 absorbs colouring matter

B. SO2 oxidised vegetable colouring matter

C. SO2 reduces vegetale colouring matter

D. SO2 gives clourless product

Answer: C

Watch Video Solution

68. Bond angle, bond length and hybridisation in SO3 molecule

respectively are

A. 119.50, 143nm, sp2

B. 119.50, 143 ± , sp2

C. 119.50, 143 ± , sp3

https://dl.doubtnut.com/l/_We8DX2xfvps3
https://dl.doubtnut.com/l/_nXMfzkc1lUvA


D. 119.5, 143A0, sp2

Answer: B

Watch Video Solution

69. Sulphurous anhydride is

A. SO2

B. SO3

C. HSO -
3

D. SO2 -
3

Answer: A

Watch Video Solution

70. Number of ′ σ′  and ′ π′  bonds in solid SO3 cyclic structure are

https://dl.doubtnut.com/l/_nXMfzkc1lUvA
https://dl.doubtnut.com/l/_NI38Mkpn2lp6
https://dl.doubtnut.com/l/_ZxnUNpeod5mC


A. 12σ and 6π

B. 12σ and 12π

C. 6σ, and 12π

D. 6σ and 6π

Answer: A

Watch Video Solution

71. Which of the following dissolves in water but does not give any

oxyacid solution ?

A. SO2

B. OF2

C. SCl4

D. SO3

Answer: B

https://dl.doubtnut.com/l/_ZxnUNpeod5mC
https://dl.doubtnut.com/l/_YJPHrURHifqu


Watch Video Solution

72. The type of bonds present in sulphuric anhydride are

A. 3σ and three pπ - dπ

B. 3σ, one pπ - pπ and two pπ - dπ

C. 2σ and three pπ - dπ

D. 2σ and two pπ - dπ

Answer: B

Watch Video Solution

73. The ratio of pπ - dπ bonds is SO2 and SO3 molecules 

A. 1: 1

B. 1: 2

C. 2: 1

https://dl.doubtnut.com/l/_YJPHrURHifqu
https://dl.doubtnut.com/l/_ZVLzOumVljBw
https://dl.doubtnut.com/l/_rnwz3EjdeU5v


D. 2: 3

Answer: B

Watch Video Solution

74. In γ-form of SO3, the hybridisation of sulphur is

A. sp

B. sp3d

C. sp2

D. sp3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rnwz3EjdeU5v
https://dl.doubtnut.com/l/_vNfi4pknqt0c


75. X and Y are anhydrides of sulphurous and sulphuric acid respectively.

The hybridisation state and the shape of X and Y are

A. 
X Y

sp2,angular sp2, tetrahedral

B. 
X Y

sp2, angular sp2, angular

C. 
X Y

sp2, angular sp2, planar triangular

D. 
X Y

sp3planar sp3, planar

Answer: C

Watch Video Solution

76. In HO -

O
∣ ∣

S - OH the oxidation states of S are

A. +4, - 2

B. +4, 0

C. +2, - 2

https://dl.doubtnut.com/l/_7DqvGxhJqSVe
https://dl.doubtnut.com/l/_Wu3lGYLVoDOq


D. +4, - 4

Answer: A

Watch Video Solution

77. Acid that contains S - O - S linkage is

A. H2S2O7

B. H2S2O5

C. H2S2O6

D. H2S2O4

Answer: A

Watch Video Solution

78. Which of the following has S-S bond

https://dl.doubtnut.com/l/_Wu3lGYLVoDOq
https://dl.doubtnut.com/l/_g9L3sHltJyg8
https://dl.doubtnut.com/l/_AbUOMFWpZf01


A. H2S2O8

B. H2S2O7

C. mustard gas

D. H2S2O6

Answer: D

Watch Video Solution

79. Peroxy linkage is present in 

A. H2S2O2

B. H2S2O3

C. H2S2O6

D. H2S2O8

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AbUOMFWpZf01
https://dl.doubtnut.com/l/_wr7SfI7SoGNt


80. Pyrosulphurous acid is 

A. H2S2O5

B. H2S2O2

C. H2S2O3

D. H2S2O4

Answer: A

Watch Video Solution

81. Two tautomeric structures are possible for

A. H2SO4

B. H2S2O8

C. H2S2O7

https://dl.doubtnut.com/l/_wr7SfI7SoGNt
https://dl.doubtnut.com/l/_HmMmHvS9ctn4
https://dl.doubtnut.com/l/_JxOplTuyiJ1F


D. H2SO3

Answer: D

Watch Video Solution

82. Hybridisation of central sulphur in all oxo anions of sulphur is

A. sp3d

B. sp3

C. sp3d2

D. sp2d

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JxOplTuyiJ1F
https://dl.doubtnut.com/l/_7et0Z0Z6F0g1


83. What is the number of sigma and pi bonds present in H2SO4 molecule

? 

A. 6σ and 2π

B. 6σ and 0π

C. 2σ and 4π

D. 2σ and 2π

Answer: A

Watch Video Solution

84. Permonosulphuric acid is known as

A. Marshall's acid

B. Caro's acid

C. Sulphuric acid

D. Sulphurous acid

https://dl.doubtnut.com/l/_xG016L9gORjU
https://dl.doubtnut.com/l/_pdcwYxZsyIBq


Answer: B

Watch Video Solution

85. An oxyacid of sulphur contained S = S linkage and the oxidation

number of S in it is +6 and -2. It belongs to 

A. - ous series

B. - ic series

C. peroxo series

D. thionic acid series

Answer: B

Watch Video Solution

86. Sulphate ion has …… geometry

https://dl.doubtnut.com/l/_pdcwYxZsyIBq
https://dl.doubtnut.com/l/_wAjpp9j4kUqy
https://dl.doubtnut.com/l/_CkRMcnulGbq2


A. Trigonal

B. Square planar

C. Tetrahedral

D. Angular

Answer: C

Watch Video Solution

87. The anhydride of pyrosulphuric acid is

A. SO2

B. S2O
2 -
3

C. SO3

D. S2O
2 -
7

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CkRMcnulGbq2
https://dl.doubtnut.com/l/_GbRaJbu70GIl


88. Number of hydorxyl groups present in pyrosulphuric acid is

A. 3

B. 4

C. 2

D. 1

Answer: C

Watch Video Solution

89. 

LIST - 1 LIST - 2
A) H2SO4 1) +4

B) H2(S)nO6 2) +3

C) H2SO3 3) +2, - 2

D) H2SO3 4) +6

5) +5,0

 

The correct match is

https://dl.doubtnut.com/l/_GbRaJbu70GIl
https://dl.doubtnut.com/l/_CmJYmNFkSKJI
https://dl.doubtnut.com/l/_Uby7aFlaz1Gh


A. 
A B C D
2 5 2 4

B. 
A B C D
3 2 1 4

C. 
A B C D
4 5 1 2

D. 
A B C D
2 3 1 5

Answer: C

Watch Video Solution

90. Which of the following does not contain a symmetrical structure ?

A. H2S2O4

B. H2S2O5

C. H2S2O7

D. H2S2O6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Uby7aFlaz1Gh
https://dl.doubtnut.com/l/_YkuukB4Pbm4M


91. The acid containing S - O - O - S bond is

A. H2SO5

B. H2S2O7

C. H2S2O6

D. H2S2O8

Answer: D

Watch Video Solution

92. S-S bond is not present in

A. Pyro sulphurous acid

B. Dithionic acid

C. Dithionous acid

https://dl.doubtnut.com/l/_YkuukB4Pbm4M
https://dl.doubtnut.com/l/_18gURUazZTBW
https://dl.doubtnut.com/l/_sAGoyQPrmUTG


D. Pyro sulphuric acid

Answer: D

Watch Video Solution

93. In the following oxyacid of sulphur the two sulphur atoms exhibit the

oxidation numbers of + IV and - II

A. H2S2O2

B. H2S2O7

C. H2S2O3

D. H2S2O6

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_sAGoyQPrmUTG
https://dl.doubtnut.com/l/_nobZoshz08ql


94. Disulphuric acid is

A. H2S2O6

B. H2S2O7

C. H2S2O8

D. H2S2O5

Answer: B

Watch Video Solution

95. Oxidation state of S in H2SO5 and H2S2O8 respectively are

A. +6, + 6

B. +6, + 4

C. +8, 7

D. +4, + 4

https://dl.doubtnut.com/l/_PuQK3cdqSKk8
https://dl.doubtnut.com/l/_AgckFADNwmxU


Answer: A

Watch Video Solution

96. Iron sulphide is heated in air to form A, an axide of sulphir. A is

dissolved in water to give an acid . The basicity of this acid is

A. 2

B. 3

C. 1

D. zero

Answer: A

Watch Video Solution

97. Identify the correct sequence of increasing number of π -  bonds in

the structures of the following molecules. 

https://dl.doubtnut.com/l/_AgckFADNwmxU
https://dl.doubtnut.com/l/_p01ZKiwHBPTo
https://dl.doubtnut.com/l/_2IggA3wcwqfc


I. H2S2O6  

II. H2SO3  

III. H2S2O5

A. I, II, III

B. II, III, I

C. II, I, III

D. I, III, II

Answer: B

Watch Video Solution

98. Which of the following is a thioacid.

A. H2S2O4

B. H2S2O7

C. H2S2O8

https://dl.doubtnut.com/l/_2IggA3wcwqfc
https://dl.doubtnut.com/l/_HYIdmvxW4ZNd


D. H2SO5

Answer: A

Watch Video Solution

99. The number of sigma and pi bonds in peroxodisulphuric acid are,

respectively.

A. 9 and 4

B. 11 and 4

C. 4 and 8

D. 4 and 9

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HYIdmvxW4ZNd
https://dl.doubtnut.com/l/_TS1kkip2rV6z


100. Oil of vitriol is

A. H2SO4

B. H2SO3

C. H2S2O7

D. H2S2O8

Answer: A

Watch Video Solution

101. In the preparation of H2SO4

A. SO2 is dissolved in H2SO4

B. SO2 is dissolved in water

C. SO3 is dissolved in conc. H2SO4

D. SO3 is dissolved in dilute H2SO4

https://dl.doubtnut.com/l/_aCQJvS4dSuAs
https://dl.doubtnut.com/l/_U0TbGXy44VA2


Answer: C

Watch Video Solution

102. Poison for platinum, a catalyst in Contact process is 

A. S

B. P

C. As

D. C

Answer: C

Watch Video Solution

103. In Contact process impurities of arsenic are removed by: 

A. Al(OH)3

https://dl.doubtnut.com/l/_U0TbGXy44VA2
https://dl.doubtnut.com/l/_hCpKbv38J636
https://dl.doubtnut.com/l/_s3ZU4a9Y7pVv


B. Fe(OH)3

C. Cr(OH)3

D. Fe2O3

Answer: B

Watch Video Solution

104. (A) : H2SO4 is called king of chemicals  

(R ) : H2SO4 has wide range of applications in industries.

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. (A) is false but (R ) is true

Answer: A

https://dl.doubtnut.com/l/_s3ZU4a9Y7pVv
https://dl.doubtnut.com/l/_1wicN5Ott2Mx


Watch Video Solution

105. Pick out the ideal condition for H2SO4 manufactured by Contact

process

A. Low temperature, high pressure and high concentration of

reactants

B. Low temperature, low pressure and low concentration of reactants

C. High temperature, high pressure and high concentration of

reactants

D. Low temperature, low pressure and high concentration of reactants

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1wicN5Ott2Mx
https://dl.doubtnut.com/l/_11ERLjYYjYog


106. Oxide of nitrogen used as a catalyst in the lead chamber process for

the manufacture of sulphuric acid is

A. NO

B. N2O

C. N2O3

D. N2O5

Answer: A

Watch Video Solution

107. (A): Direct absorption of SO3 in H2O is commercially not possible  

(R): Direct absorption of SO3 in water forms a mist of corrosive vapours. 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

https://dl.doubtnut.com/l/_g9SxGN6tvodV
https://dl.doubtnut.com/l/_hvtUWBkR93lV


C. (A) is true but (R ) is false

D. (A) is false but (R ) is true

Answer: A

Watch Video Solution

108. The advantage of manufacturing H2SO4 by Contact process than

other methods is 

A) The acid obfained is highly pure and concentrated 

B) It is comparitively cheap method. 

C) The impurities can be tested and the reactants can be recycled.

A. The acid obtained is highly pure and concentrated

B. It is comparitively cheap method.

C. The impurities can be tested and the reactants can be recycled.

D. all

Answer: D

https://dl.doubtnut.com/l/_hvtUWBkR93lV
https://dl.doubtnut.com/l/_pB5T2toz9nZZ


Watch Video Solution

109. (A) The formation of SO3 by contact process is an example of

heterogeneous catalysis 

(R): The reactants and product are in di�erent phase in the formation of

SO3 by contact process 

A. Both (A) and (R ) are true and (R ) is the correct explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the correct explanation of

(A)

C. (A) is true but (R ) is false

D. (A) is false but (R ) is true

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pB5T2toz9nZZ
https://dl.doubtnut.com/l/_Q0ERqUJPdFtn


110. The electrolyte used in the preparation of ozone by Brodie's ozoniser

is

A. AgNO3 solution

B. CuSO4 solution

C. NaCl solution

D. MgCl2 solution

Answer: B

Watch Video Solution

111. O3 is prepared by subjecting 0, to silent electric discharge. The

favourable conditions for the formation of ozone according to Le-

chatlier's principle are

A. low temperature, low pressure

B. high temperature, high pressure

https://dl.doubtnut.com/l/_7VnXKQkjxKZJ
https://dl.doubtnut.com/l/_ANyWwcqMWkmI


C. low temperature, high pressure

D. high temperature, low pressure

Answer: B

Watch Video Solution

112. Mercury sticks to glass when it comes in contact with

A. H2O

B. HNO3

C. I2

D. O3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ANyWwcqMWkmI
https://dl.doubtnut.com/l/_AZesoAtUoHvZ


113. The compound formed in the tailing of mercury by O3 is

A. HgO

B. Hg2O

C. Hg2O2

D. HgO + Hg2O

Answer: B

Watch Video Solution

114. Ozone does not give oxygen when reacted with

A. SO2

B. moist I2

C. PbS

D. HCl

https://dl.doubtnut.com/l/_yvn5v395A7i9
https://dl.doubtnut.com/l/_ZbZwgQpMjor7


Answer: A

Watch Video Solution

115. Dry bleaching agent is

A. O3

B. SO2

C. Cl2

D. H2O2

Answer: A

Watch Video Solution

116. Ozone blackens bright silver foil. Here the reaction involved

A. oxidation

https://dl.doubtnut.com/l/_ZbZwgQpMjor7
https://dl.doubtnut.com/l/_C0CyCZ0I2Wvh
https://dl.doubtnut.com/l/_w34vfsJxRn5B


B. reduction

C. tailing

D. oxidation followed by reduction

Answer: D

Watch Video Solution

117. A black compound 'X' when treated with O3 turned white. The

compound 'X' is

A. ZnS

B. PbS

C. CuS

D. Ag2S

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_w34vfsJxRn5B
https://dl.doubtnut.com/l/_9cGfP92xxC39


118. The O - O bond length in Ozone is 

A. 1.33A0

B. 1.28A0

C. 1.48A0

D. 1.39A0

Answer: B

Watch Video Solution

119. With respect to both oxygen and ozone, which one of the following

statements is not correct?

A. They are allotropes together

B. oxygen is colourless while ozone is coloured

C. valency of oxygen is 2 in both

https://dl.doubtnut.com/l/_9cGfP92xxC39
https://dl.doubtnut.com/l/_GAxDcNnPZbgk
https://dl.doubtnut.com/l/_s8gUMOyENGzB


D. oxygen has 2 bonds and ozone has 3 bonds

Answer: C

Watch Video Solution

120. In which of the following reactions ozone acts as a reducing agent?

A. BaO2 + O3 → BaO + 2O2

B. 2HCl + O3 → Cl2 + H2O + O2

C. PbS + 4O3 → PbSO4 + 4O2

D. 2KI + O3 + H2O → 2KOH + I2 + O2

Answer: A

Watch Video Solution

121. Which one of the following reactions does not occur?

https://dl.doubtnut.com/l/_s8gUMOyENGzB
https://dl.doubtnut.com/l/_lwworTf5mCj5
https://dl.doubtnut.com/l/_hyG9OL7AlW69


A. BaO + O3 → BaO2 + O2

B. PbS + 4O3 → PbSO4 + 4O2

C. H2O2 + O3 → H2O + 2O2

D. 2Hg + O3 → Hg2O + O2

Answer: A

Watch Video Solution

122. The compound that cannot be oxidised by ozone is 

A. KMnO4

B. PbS

C. KI

D. SO2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hyG9OL7AlW69
https://dl.doubtnut.com/l/_DPM6TxfZYYbx


123. Select the wrong statement

A. Ozone is a pale blue gas

B. O3 acts as both oxidant and reductant

C. Ozone is used as an antiseptic inhaler

D. Ozone is used in sterlization of water

Answer: C

Watch Video Solution

124. Regarding ozone the wrong statement is

A. The bond angle is 1160491

B. O3 acts as both oxidant and reductant

C. O-O bond lengths are equal

https://dl.doubtnut.com/l/_DPM6TxfZYYbx
https://dl.doubtnut.com/l/_qtWDgV8OkMtn
https://dl.doubtnut.com/l/_E6sJQ03OarV1


D. It is paramagnetic

Answer: D

Watch Video Solution

125. Ozone uses all oxygen atoms in the oxidation reaction with

A. SO2 only

B. Acidi�ed SnCl2 only

C. PbS only

D. Both 1 and 2

Answer: D

Watch Video Solution

126. The correct order of O-O bond length in O2, H2O2 and O3 is

https://dl.doubtnut.com/l/_E6sJQ03OarV1
https://dl.doubtnut.com/l/_BM0vdzHptYpN
https://dl.doubtnut.com/l/_QDXM3QVbKLmZ


A. H2O2 > O3 > O2

B. O3 > O2 > H2O2

C. O2 > H2O2 > O3

D. H2O2 > O2 > O3

Answer: A

Watch Video Solution

127. The incorrect statement among the following is

A. O3 is soluble in glacial CH3COOH

B. O3 is a poisonous gas

C. O3 is highly soluble in water

D. ozone is present in stratosphere

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QDXM3QVbKLmZ
https://dl.doubtnut.com/l/_1J0uHJv3Guja


128. When O3 is passed through an aqueous solution of KI, the pH of the

resulting solution is

A. 7

B. 6.8

C. 2.8

D. 10 - 14

Answer: D

Watch Video Solution

129. Which of the following conversion is not brought about by ozone

A. HF to F2

B. Moist KI to I2

C. Ag2O to Ag

https://dl.doubtnut.com/l/_1J0uHJv3Guja
https://dl.doubtnut.com/l/_gyWHRL02NQ5V
https://dl.doubtnut.com/l/_OZW9nicEO2dc


D. SnCl2 to SnCl4

Answer: A

Watch Video Solution

130. Which is a mutual reduction reaction 

A KMnO4 + O3 B H2O2 + O3 C Ag2O + O3 D KI + H2O + O3

A. A, B

B. A, C

C. A, D

D. B, C

Answer: D

Watch Video Solution

) ) ) )

https://dl.doubtnut.com/l/_OZW9nicEO2dc
https://dl.doubtnut.com/l/_yMZsyeCRAOBT


131. Number of volumes of Oxygen that gives 4 volumes of Ozone is

A. 4

B. 6

C. 8

D. 2

Answer: B

Watch Video Solution

132. Starch paper moistened with KI solution turns blue in ozone because

of

A. Iodine liberation

B. Oxygen liberation

C. Alkali formation

D. Ozone is acidic

https://dl.doubtnut.com/l/_ZIQoKlnyhlCG
https://dl.doubtnut.com/l/_2qPBLXS5JmV8


Answer: A

Watch Video Solution

133. Which is not true for ozone ?

A. It oxidizes lead sulphate

B. It oxidizes potassium iodide

C. It oxidizes HCl

D. It can act as bleaching agent

Answer: A

Watch Video Solution

134. Reagent used to distinguish H2O2 and O3 is

A. PbS

https://dl.doubtnut.com/l/_2qPBLXS5JmV8
https://dl.doubtnut.com/l/_XJYDrfGVZXog
https://dl.doubtnut.com/l/_5DLpEesr32TB


B. Starch iodide

C. KMnO4

D. Bleaching powder

Answer: C

Watch Video Solution

135. In the tailing of mercury ozone oxidises X to Y. X and Y are

respectively

A. Hg, Hg(I)O

B. Hg, Hg(II)O

C. Hg(I)O, Hg(II)O

D. Hg(II)O, Hg(I)O

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5DLpEesr32TB
https://dl.doubtnut.com/l/_AXAuhKHXOh6P


136. Ethylene on reaction with ozone gives

A. Glyoxal

B. Formaldehyde

C. Ethylene ozonide

D. Acetaldehyde

Answer: C

Watch Video Solution

137. Which one of the following reactions does not occur?

A. BaO + O3 → BaO2 + O2

B. PbS + 4O3 → PbSO4 + 4O2

C. H2O2 + O3 → H2O + 2O2

D. 2Hg + O3 → Hg2O + O2

https://dl.doubtnut.com/l/_AXAuhKHXOh6P
https://dl.doubtnut.com/l/_DFOJAd7Yci2K
https://dl.doubtnut.com/l/_UpmfsRzW2xIx


Answer: A

Watch Video Solution

138. When hypo is reacted with dil.acid, the gas liberated is

A. SO2

B. SO3

C. H2S

D. Sulphur vapour

Answer: A

Watch Video Solution

139. In photography hypo is used as a �xing agent. Here the compound

formed is

https://dl.doubtnut.com/l/_UpmfsRzW2xIx
https://dl.doubtnut.com/l/_TZYfugBtKfFr
https://dl.doubtnut.com/l/_nHrWs483F5Ea


A. Na3 Ag S2O3 2

B. Na2S4O6

C. Ag2S2O3

D. Ag2S

Answer: A

Watch Video Solution

[ ( ) ]

140. When dil. Hypo is treated with excess AgNO3 the chemical �nally

formed is

A. Na3 Ag S2O3 3

B. Na3 Ag S2O3 2

C. Ag2S

D. Ag2S2O3

Answer: C

[ ( ) ]
[ ( ) ]

https://dl.doubtnut.com/l/_nHrWs483F5Ea
https://dl.doubtnut.com/l/_laON4LSgboIG


Watch Video Solution

141. Hypo never acts as a

A. Antichlor

B. Fixing agent

C. Reductant

D. Bleaching agent

Answer: D

Watch Video Solution

142. In the reaction of hypo with I2 to form Na2S4O6 and Nal, the

equivalent weight of hypo is ______ (M is mol.wt. of hypo)

A. M

B. M /2

https://dl.doubtnut.com/l/_laON4LSgboIG
https://dl.doubtnut.com/l/_kiqxn7GDs9BW
https://dl.doubtnut.com/l/_bcol9pvrLDtt


C. M /4

D. M /6

Answer: A

Watch Video Solution

143. In the reaction where hypo acts antichlore, hypo undergoes

A. oxidation

B. reduction

C. disproportionation

D. halogenation

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bcol9pvrLDtt
https://dl.doubtnut.com/l/_D6AeO80svbKR


144. What is the oxidation number of sulphur in Na2S4O6?

A. +2

B. +2.5

C. 3.5

D. -2.5

Answer: B

Watch Video Solution

145. The product obtained by passing through hypo solution are

A. S, HCl, Na2S

B. S, HCl, Na2SO3

C. S, HCl, Na2SO4

D. S, NaCl, H2SO4

https://dl.doubtnut.com/l/_w78EqC20ASl0
https://dl.doubtnut.com/l/_OhAU8g7GrAVH


Answer: C

Watch Video Solution

146. When very dilute hypo is added to AgNO3 solution gives 'X'. The

oxidation state of central metal atom in 'X' is

A. +4

B. +2

C. +1

D. -1

Answer: C

Watch Video Solution

147. Iodine oxidises S2O
2 -
3  ion to 'X', change in oxidation state of sulphur 

https://dl.doubtnut.com/l/_OhAU8g7GrAVH
https://dl.doubtnut.com/l/_8gHz5TnolaKj
https://dl.doubtnut.com/l/_wXU8koLbh7IO


A. +3

B. +2

C. +0.5

D. +4

Answer: C

Watch Video Solution

148. Which of the following is not correct?

A. 3O2

Silent electric
↔ discharge2O3, ΔH = - 284.5KJ

B. Ozone undergoes addition reaction with unsaturated carbon

compounds.

C. Sodium thiosulphate reacts with I2 to form sodium tetrathionate

and sodium iodide

D. Ozone oxides lead sulphide to lead sulphate

https://dl.doubtnut.com/l/_wXU8koLbh7IO
https://dl.doubtnut.com/l/_tJaIqR8K8UgY


LEVEL-II LECTURE SHEET (EXERCISE-I Single & One or More than One Correct

Answers)

Answer: A

Watch Video Solution

149. Which of the following is not correct

A. Iodine oxidizes sodium thiosulphate to sodium tetrathionate

B. Sodium thiosulphate is soluble in water

C. Ozone is used to locate the presence of unsaturation in alkenes

D. Sodium thiosulphate reacts reacts with iodine to form sodium

sulphate

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_tJaIqR8K8UgY
https://dl.doubtnut.com/l/_QkBSW4SdpgGd
https://dl.doubtnut.com/l/_QrVaq5xefBX3


1. What is the di�erence in maximum atomicity of oxygen and sulphur?

A. 2

B. 3

C. 4

D. 5

Answer: D

Watch Video Solution

2. What is the maximum number of 'S' atoms in a single plane of S8

molecule.

A. 4

B. 2

C. 3

D. 6

https://dl.doubtnut.com/l/_QrVaq5xefBX3
https://dl.doubtnut.com/l/_DfUEIz61plyY


Answer: A

Watch Video Solution

3. Which of the following forms black ppt. with H2S in acidi�ed solution?

A. Mg2 +

B. Na +

C. Cd2 +

D. Zn2 +

Answer: B

Watch Video Solution

4. Which of the following give ppt. with H2S only in alkaline medium?

A. Co2 +

https://dl.doubtnut.com/l/_DfUEIz61plyY
https://dl.doubtnut.com/l/_us9gEnGlqOHJ
https://dl.doubtnut.com/l/_vCOxo1OGQxGN


B. Pb2 +

C. Cu2 +

D. Bi3 +

Answer: A

Watch Video Solution

5. H2S is more volatile than water because

A. S' is more electro negative than 'O'

B. O' is more electro negative than 'S'

C. H2O shows H-bonding

D. H2O bond angle is more than H2S

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vCOxo1OGQxGN
https://dl.doubtnut.com/l/_w5vezC8aeNIz
https://dl.doubtnut.com/l/_w2ulyWgDvVBr


6. Weak dibasic acids among the following

A. H2SO4

B. H2S

C. H2O2

D. H2SO5

Answer: B::C

Watch Video Solution

7. SOCl2 can act as Lewis acid as well as Lewis base because

A. sulphur has a pair of electrons to donate

B. it has empty d-orbital to accept electrons

C. sulphur is a non metal

D. chlorine is more electronegative

https://dl.doubtnut.com/l/_w2ulyWgDvVBr
https://dl.doubtnut.com/l/_oMCYbJWVBP3N


Answer: A::B

Watch Video Solution

8. In presence of moisture, SO2 can

A. Lose electrons

B. Gain electrons

C. Act as oxidant

D. All

Answer: A

Watch Video Solution

9. SO2 is obtained when the following are heated in air

A. S

https://dl.doubtnut.com/l/_oMCYbJWVBP3N
https://dl.doubtnut.com/l/_mdsWmpUzwwv8
https://dl.doubtnut.com/l/_3GAhrhY42fdj


B. FeS2

C. HI

D. HIO3

Answer: A::B

Watch Video Solution

10. In the reaction PbO2 + SO2 → PbSO4

A. Lead is reduced from Pb4 +  to Pb2 +

B. SO2 is oxidised to sulphate

C. Oxygen undergoes disporportionation

D. Pb is neither oxidised nor reduced

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_3GAhrhY42fdj
https://dl.doubtnut.com/l/_oY4dLTnQzkmi
https://dl.doubtnut.com/l/_DsqPfVeOQ2sa


11. A gas X turns line water milky. The milkiness disappears if excess of 'X'

is passed. Milkiness reappears on heating the colourless solution. The gas

is

A. CO2

B. NO2

C. NH3

D. SO2

Answer: A::D

Watch Video Solution

12. In which of the following reactions, SO2 acts as an oxidising agent?

A. I2 + SO2 + 2H2O → SO2 -
4 + 4H + + 2I -

B. SO2 + 2H2S → 3S + 2H2O

C. 3Fe + SO2 → FeS + 2FeO

https://dl.doubtnut.com/l/_DsqPfVeOQ2sa
https://dl.doubtnut.com/l/_NlhZQUkdn4yq


D. K2Cr2O7 + 3SO2 + H2SO4 → Cr2 SO4 3
+ K2SO4 + H2O

Answer: B::C

Watch Video Solution

( )

13. Which of the following are amphoteric ?

A. BeO

B. Al2O3

C. ZnO

D. SO2

Answer: A::B::C

Watch Video Solution

14. Which of the following statement(s) is (are) correct ?

https://dl.doubtnut.com/l/_NlhZQUkdn4yq
https://dl.doubtnut.com/l/_Pfy0XzjreHea
https://dl.doubtnut.com/l/_kkuRDbU4fv1h


A. SO2 dissolves in water and forms sulphurous acid

B. SO2 acts as a bleaching agent

C. SO2 has pungent odour

D. SO2 acts only as oxidizing agent

Answer: A::B::C

Watch Video Solution

15. Which of the following statement(s) is (are) true for SO2 ?

A. It is a V-shaped molecule

B. The O-S-O bond angle is 1190301

C. The S-O bond length is 143 pm

D. It is a linear molecule

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_kkuRDbU4fv1h
https://dl.doubtnut.com/l/_EhB6cVAOG4gO


16. Sulphuric acid can be used as:

A. Hygroscopic agent

B. oxidising agent

C. sulphonating agent

D. e�orescent

Answer: A::B::C

Watch Video Solution

17. Which of the following ions give ppt. with BaCl2 solution?

A. SO2 -
4

B. S2O
2 -
3

C. S - 2

https://dl.doubtnut.com/l/_EhB6cVAOG4gO
https://dl.doubtnut.com/l/_71ZR3VWpoAy4
https://dl.doubtnut.com/l/_CGVwDaV4QPa3


D. SO2 -
3

Answer: A::C::D

Watch Video Solution

18. Which of the following gases can be collected by downward

displacement of water?

A. N2

B. O2

C. PH3

D. SO2

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_CGVwDaV4QPa3
https://dl.doubtnut.com/l/_UQ5SmdhZfbRU


19. Oxygen is not evolved when:

A. ZnO is heated with NaOH

B. NH4NO3 is heated

C. Na2O2 reacts with water

D. KClO3 is heated

Answer: A::B

Watch Video Solution

20. In the reaction H2S + O3 → ……….  the products are:

A. H2O

B. S

C. O2

D. SO2 + H2

https://dl.doubtnut.com/l/_GdIIehypoVOY
https://dl.doubtnut.com/l/_UGNEcPfFuDPb


Answer: A::B::C

Watch Video Solution

21. Which reagent does not give oxygen as one of the product during

oxidation with ozone?

A. SO2

B. SnCl2 /HCl

C. H2S

D. PbS

Answer: A::B

Watch Video Solution

22. Which of the following react with dilute H2SO4 to form H2.

https://dl.doubtnut.com/l/_UGNEcPfFuDPb
https://dl.doubtnut.com/l/_aXYhI4H2rc8L
https://dl.doubtnut.com/l/_xIkRDjgTtSIh


A. Al

B. Pb

C. Zn

D. Mg

Answer: A::C::D

Watch Video Solution

23. The compound which gives carbon with conc. H2SO4

A. Sugar

B. Wood

C. Starch

D. Alcohol

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_xIkRDjgTtSIh
https://dl.doubtnut.com/l/_tLmEYFQezlQh


24. The following reactions represents the dehydrating property of

H2SO4

A. Charring of sugar

B. formation of Diethyl ether from Ethyl alcohol

C. formation of ethylene from ethyl alcohol

D. reaction with NaOH

Answer: A::B::C

Watch Video Solution

25. Spring's reaction is / are

A. Na2S + Na2SO3 + I2 → Na2S2O3 + 2NaI

B. Na2SO3 + S → Na2S2O3

C. 2Na2S + SO2 + Na2CO3 → 3Na2S2O + CO2

https://dl.doubtnut.com/l/_tLmEYFQezlQh
https://dl.doubtnut.com/l/_3nX0Bxkq14O5
https://dl.doubtnut.com/l/_fds1XtHMfzph


D. 2Na2S + 3O2 → 2Na2S2O3 + 6S

Answer: A

Watch Video Solution

26. Certain reactions regarding H2SO4 are given 

H2SO4 + NaOH → NaHSO4 + H2O H2SO4 + 2NaOH → Na2SO4 + 2H2O  

C12H22O11 + H2SO4 → 12C + 11H2O  

These reactions shows that

A. it is a dibasic acid

B. charring agent

C. it is a dehydrating agent

D. it can form two types of salts

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_fds1XtHMfzph
https://dl.doubtnut.com/l/_IT19rPbODRhv


27. Hypo acts as a �xing agent. The correct statements are

A. It gives collodial sulphur as a precipitate

B. It dissolve unreacted AgBr from photographic emulsion

C. It forms a complex Na3 Ag S2O3 2

D. It forms a complex Na3 Ag2 S2O3

Answer: B::C

Watch Video Solution

[ ( ) ]
[ ( )]

28. Which of the following statements regarding sulphur is incorrect ?

A. SO2 molecule is paramagnetic

B. The vapour at 200 ∘C consists mostly of S8 rings

C. At 6000C by gas mainly consists of S2 molecules

https://dl.doubtnut.com/l/_mIPIpUh84Knw
https://dl.doubtnut.com/l/_0rLAAnd1wvqR


D. The oxidation state of sulphur is never less than +4 in its

compounds

Answer: D

Watch Video Solution

29. Sulphur trioxide gas when dissolved in H2SO4 the product obtained is

:

A. H2SO3

B. H2SO5

C. H2S2O7

D. H2S2O8

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0rLAAnd1wvqR
https://dl.doubtnut.com/l/_efrRKIqw1yqn


LEVEL-II LECTURE SHEET (EXERCISE-II Linked Comprehension type questions )

1. Passage-I : 

Metallic sulphates can be obtained by reacting the metals (above

hydrogen in ECS), or its oxide, hydroxide or carbonate with dil. H2SO4.

Group IA metals also form hydrogen sulphates which can be isolated in

solid. In general metal sulphates are soluble in water and crystallize with

water of crystallization. Sulphates are thermally more stable than

nitrates. 

Among the metals given below, which metal will not give its sulphate on

treatment with dil. H2SO4.

A. Ni

B. Cr

C. Co

D. Cu

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GMvoAfJSDJ6H


Watch Video Solution

2. Passage-I : 

Metallic sulphates can be obtained by reacting the metals (above

hydrogen in ECS), or its oxide, hydroxide or carbonate with dil. H2SO4.

Group IA metals also form hydrogen sulphates which can be isolated in

solid. In general metal sulphates are soluble in water and crystallize with

water of crystallization. Sulphates are thermally more stable than

nitrates. 

Select the sulphate which is water soluble:

A. Hg2SO4

B. SrSO4

C. Ag2SO4

D. Rb2SO4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GMvoAfJSDJ6H
https://dl.doubtnut.com/l/_AUKjonecZ4dV


3. Passage-I : 

Metallic sulphates can be obtained by reacting the metals (above

hydrogen in ECS), or its oxide, hydroxide or carbonate with dil. H2SO4.

Group IA metals also form hydrogen sulphates which can be isolated in

solid. In general metal sulphates are soluble in water and crystallize with

water of crystallization. Sulphates are thermally more stable than

nitrates. 

Which metal sulphate will decompose into SO3 and metal oxide when

heated:

A. K2SO4

B. Li2SO4

C. FeSO4

D. BaSO4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_J7bLVkkSkc5J
https://dl.doubtnut.com/l/_0gfWgUzCPol8


4. Passage-I : 

Metallic sulphates can be obtained by reacting the metals (above

hydrogen in ECS), or its oxide, hydroxide or carbonate with dil. H2SO4.

Group IA metals also form hydrogen sulphates which can be isolated in

solid. In general metal sulphates are soluble in water and crystallize with

water of crystallization. Sulphates are thermally more stable than

nitrates. 

Select the thermally more stable salt from given pairs: 

A Al2 SO4 3
B Al NO3 3

C Ca NO3 2
D CaSO4 E FeSO4 F Fe NO

A. A,C,E

B. A,D,E

C. B,C,F

D. B,D,E

Answer: B

Watch Video Solution

) ( ) ) ( ) ) ( ) ) ) ) (

https://dl.doubtnut.com/l/_0gfWgUzCPol8
https://dl.doubtnut.com/l/_pIZEVBXSGXCI


5. Passage-I : 

Metallic sulphates can be obtained by reacting the metals (above

hydrogen in ECS), or its oxide, hydroxide or carbonate with dil. H2SO4.

Group IA metals also form hydrogen sulphates which can be isolated in

solid. In general metal sulphates are soluble in water and crystallize with

water of crystallization. Sulphates are thermally more stable than

nitrates. 

Select the stable hydrogen sulphate which can be obtained in solid state:

A. KHSO4

B. CaHSO4

C. FeHSO4

D. All of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pIZEVBXSGXCI


6. Passage-I : 

Metallic sulphates can be obtained by reacting the metals (above

hydrogen in ECS), or its oxide, hydroxide or carbonate with dil. H2SO4.

Group IA metals also form hydrogen sulphates which can be isolated in

solid. In general metal sulphates are soluble in water and crystallize with

water of crystallization. Sulphates are thermally more stable than

nitrates. 

When BaCl2 solution is added in aq. Solution of NaHSO4 a white ppt. is

obtained which is of:

A. Ba HSO4 2

B. BaSO4

C. Ba. NaSO4

D. None of these

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_3vpgbNxkCbkz
https://dl.doubtnut.com/l/_2tsga9xBAxgC


7. Passage-II : 

Sulphuric acid is considered as the king of chemicals. The prosperity of

any country is measured by the amount of sulphuric acid it consumes.

Sulphuric acid is, thus a substance of very great commercial importance

as it is used practically in every important industry. This is due to the

following properties of sulphuric acid 

Sulphuric acid has very corrosive action on skin because:

A. it reacts with proteins

B. it acts as an oxidizing agent

C. it acts as a dehydrating agent

D. it acts as a dehydrating agent and absorption of water is highly

exothermic

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2tsga9xBAxgC


8. Passage-II : 

Sulphuric acid is considered as the king of chemicals. The prosperity of

any country is measured by the amount of sulphuric acid it consumes.

Sulphuric acid is, thus a substance of very great commercial importance

as it is used practically in every important industry. This is due to the

following properties of sulphuric acid 

Which of the following reactions predict the oxidizing behavior of H2SO4

?

A. 2HI + H2SO4 → I2 + SO2 + 2H2O

B. NaCl + H2SO4 → NaHSO4 + NaHSO4 + HCl

C. 2NaOH + H2SO4 → Na2SO4 + 2H2O

D. 2PCl5 + H2SO4 → 2POCl3 + 2HCl + SO2Cl2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hFlGddo5DhYK


9. Passage-II : 

Sulphuric acid is considered as the king of chemicals. The prosperity of

any country is measured by the amount of sulphuric acid it consumes.

Sulphuric acid is, thus a substance of very great commercial importance

as it is used practically in every important industry. This is due to the

following properties of sulphuric acid 

The formation of nitroglycerine is done by the use of concentrated nitric

and concentrated sulphuric acid. The process of conversion of glycerine

into nitroglycerine is termed as:

A. sulphonation

B. oxidation

C. nitration

D. dehydration

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wTp1AICp4mPE
https://dl.doubtnut.com/l/_G8gcw5BHHHJ0


10. Passage-II : 

Sulphuric acid is considered as the king of chemicals. The prosperity of

any country is measured by the amount of sulphuric acid it consumes.

Sulphuric acid is, thus a substance of very great commercial importance

as it is used practically in every important industry. This is due to the

following properties of sulphuric acid 

Only carbon is obtained when concentrated H2SO4 is added to :

A. formic acid

B. cane sugar

C. oxalic acid

D. ethyl alcohol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_G8gcw5BHHHJ0


11. Passage-II : 

Sulphuric acid is considered as the king of chemicals. The prosperity of

any country is measured by the amount of sulphuric acid it consumes.

Sulphuric acid is, thus a substance of very great commercial importance

as it is used practically in every important industry. This is due to the

following properties of sulphuric acid 

Concentrated H2SO4 cannot be used to prepare HBr or HI from KBr or KI

because it :

A. reacts too slowly with KBr or KI

B. reduces HBr or HI

C. Oxidizes HBr or HI

D. Oxidizes KBr to KBrO3 or KI to KIO3.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dw8o97KJdnei


12. Passage-III : 

The binary compounds of oxygen with other elements are called oxides.

They are classi�ed either depending upon their acid - base characteristics

or on the basis of oxygen content. 

a ) Normal oxides : These oxides which contain oxygen atoms as

permitted by the normal oxidation number, i.e., -2. Normal oxide may be

acidic, basic, amphoteric or neutral. 

b) Polyoxides : The oxides which contain oxygen atoms di�erent than

those permitted by the normal oxidation number of -2. 

i) Peroxides : Two oxygen atoms are linked to each other and oxygen has -

I oxidation number. They contain (O - O)2 unit.  

ii) Superoxides : These oxides contain (O - O) - 1 units, i.e., each O-atom

has oxidation number -1 /2.  

c ) Suboxides : These contain low content of oxygen than expected. 

d) Mixed oxides : These oxides are made of two simpler oxides. 

Which pair of species is referred to as suboxides?

A. CO, NO

B. SO2, CaO

https://dl.doubtnut.com/l/_pfm3DlcUsaL4


C. N2O, CO

D. S2O, C3O2.

Answer: D

Watch Video Solution

13. Passage-III : 

The binary compounds of oxygen with other elements are called oxides.

They are classi�ed either depending upon their acid - base characteristics

or on the basis of oxygen content. 

a ) Normal oxides : These oxides which contain oxygen atoms as

permitted by the normal oxidation number, i.e., -2. Normal oxide may be

acidic, basic, amphoteric or neutral. 

b) Polyoxides : The oxides which contain oxygen atoms di�erent than

those permitted by the normal oxidation number of -2. 

i) Peroxides : Two oxygen atoms are linked to each other and oxygen has -

I oxidation number. They contain (O - O)2 unit.  

ii) Superoxides : These oxides contain (O - O) - 1 units, i.e., each O-atom

https://dl.doubtnut.com/l/_pfm3DlcUsaL4
https://dl.doubtnut.com/l/_M3pik4flxMor


has oxidation number -1 /2.  

c ) Suboxides : These contain low content of oxygen than expected. 

d) Mixed oxides : These oxides are made of two simpler oxides. 

Which of the following pairs contains neutral oxides ?

A. SO2, SO3

B. N2O3, N2O5

C. CO, NO

D. Na2O, CaO

Answer: C

Watch Video Solution

14. Passage-III : 

The binary compounds of oxygen with other elements are called oxides.

They are classi�ed either depending upon their acid - base characteristics

or on the basis of oxygen content. 

a ) Normal oxides : These oxides which contain oxygen atoms as

https://dl.doubtnut.com/l/_M3pik4flxMor
https://dl.doubtnut.com/l/_mD2Qx2SUzDD6


permitted by the normal oxidation number, i.e., -2. Normal oxide may be

acidic, basic, amphoteric or neutral. 

b) Polyoxides : The oxides which contain oxygen atoms di�erent than

those permitted by the normal oxidation number of -2. 

i) Peroxides : Two oxygen atoms are linked to each other and oxygen has -

I oxidation number. They contain (O - O)2 unit.  

ii) Superoxides : These oxides contain (O - O) - 1 units, i.e., each O-atom

has oxidation number -1 /2.  

c ) Suboxides : These contain low content of oxygen than expected. 

d) Mixed oxides : These oxides are made of two simpler oxides. 

Which of the following pairs contains mixed oxides?

A. Pb3O4, Fe3O4

B. MnO2, BaO2

C. KO2Na2O2

D. Mn3O4, N2O5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mD2Qx2SUzDD6


15. Passage-III : 

The binary compounds of oxygen with other elements are called oxides.

They are classi�ed either depending upon their acid - base characteristics

or on the basis of oxygen content. 

a ) Normal oxides : These oxides which contain oxygen atoms as

permitted by the normal oxidation number, i.e., -2. Normal oxide may be

acidic, basic, amphoteric or neutral. 

b) Polyoxides : The oxides which contain oxygen atoms di�erent than

those permitted by the normal oxidation number of -2. 

i) Peroxides : Two oxygen atoms are linked to each other and oxygen has -

I oxidation number. They contain (O - O)2 unit.  

ii) Superoxides : These oxides contain (O - O) - 1 units, i.e., each O-atom

has oxidation number -1 /2.  

c ) Suboxides : These contain low content of oxygen than expected. 

d) Mixed oxides : These oxides are made of two simpler oxides. 

Which of the following oxides is paramagnetic in nature?

A. KO2

https://dl.doubtnut.com/l/_mD2Qx2SUzDD6
https://dl.doubtnut.com/l/_sIh18DgCFxLp


B. BaO2

C. H2O

D. CO2

Answer: A

Watch Video Solution

16. Passage-IV : 

Sulphur and rest of the elements of group 16 are less electronegative

than oxygen. Therefore, their atoms cannot take up electrons easily. They

can acquire ns2np6 con�guration by sharing two electrons with the atoms

of other elements and thus, exhibit +2 oxidation state in their

compounds. In addition to this, their atoms have vacant d-orbitals in their

valence shell to which electrons can be promoted from the p and s-

orbitals of the shell. As a result, they can show +4 and +6 oxidation states

shell. 

The nature of the compounds of sulphur having +4 oxidation state is :

https://dl.doubtnut.com/l/_sIh18DgCFxLp
https://dl.doubtnut.com/l/_UqhHFGYDgCmK


A. act as oxidizing agents

B. act as reducing agents

C. act as oxidizing as well as reducing agents

D. cannot be predicted

Answer: C

Watch Video Solution

17. Passage-IV : 

Sulphur and rest of the elements of group 16 are less electronegative

than oxygen. Therefore, their atoms cannot take up electrons easily. They

can acquire ns2np6 con�guration by sharing two electrons with the atoms

of other elements and thus, exhibit +2 oxidation state in their

compounds. In addition to this, their atoms have vacant d-orbitals in their

valence shell to which electrons can be promoted from the p and s-

orbitals of the shell. As a result, they can show +4 and +6 oxidation states

shell. 

https://dl.doubtnut.com/l/_UqhHFGYDgCmK
https://dl.doubtnut.com/l/_1RR1b92Ounui


Like sulphur, oxygen does not show +4 and +6 oxidation states. The

reason is :

A. that oxygen is a gas while sulphur is a solid

B. that oxygen has high ionization enthalpies in comparison to

sulphur

C. that oxygen has high electron a�nity in comparison to sulphur

D. that oxygen has no d-orbitals in its valence shell

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1RR1b92Ounui


18. Passage - V: 

  

Reference to the above �ow diagram whit ppt (D) is -

A. BaCO3

B. BaSO4

C. BaSO3

D. Ba HSO3 2

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_yUzFMPit6ZRl


19. Passage - V: 

  

Reference to the above �ow diagram Gas (C ) is

A. CO2

B. SO2

C. HCl

D. NH3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9zfcGJTMgD32


20. Passage - V: 

  

Reaction, C → G is

A. hydrolysis

B. neutralization

C. precipitation

D. Redox reaction

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_adhu3paMrvmQ


21. Passage - VI : 

Industrially sulphuric acid is produced by the following steps: 

Stage I : S + O2

Δ
→ SO2  

Stage II : 2SO2 + O2

V2O5

→ 2SO3  

Stage III : SO3 + H2O → H2SO4  

Since the reaction between SO3 and H2O is violent,  

SO3 is passed into 98 % H2SO4 to produce oleum H2S2O7  

Pure H2SO4 does not react with metal because -

A. Pure H2SO4 does not contain any water

B. Pure H2SO4 is not oxidising agent

C. Pure H2SO4 is strongly H - bonded

D. Pure H2SO4 does not contain any SO3

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_xuWA7OctNcMH


22. Passage - VI : 

Industrially sulphuric acid is produced by the following steps: 

Stage I : S + O2

Δ
→ SO2  

Stage II : 2SO2 + O2

V2O5

→ 2SO3  

Stage III : SO3 + H2O → H2SO4  

Since the reaction between SO3 and H2O is violent,  

SO3 is passed into 98 % H2SO4 to produce oleum H2S2O7  

Ionically the reaction between H2SO4 & Mg may be presented as,  

Mg + 2H3O
+ → Mg2 + + H2 + 2H2O  

Therefore, in the given reaction -

A. oxidising agent is H + H2O

B. reducing agent is H + H2O

C. oxidising agent is SO2 -
4

D. oxidising agent are SO2 -
4  & H3O

+  both

Answer: A

Watch Video Solution

( )

↑

( )
( )

https://dl.doubtnut.com/l/_LPijkBVm9pdb


23. Passage - VI : 

Industrially sulphuric acid is produced by the following steps: 

Stage I : S + O2

Δ
→ SO2  

Stage II : 2SO2 + O2

V2O5

→ 2SO3  

Stage III : SO3 + H2O → H2SO4  

Since the reaction between SO3 and H2O is violent,  

SO3 is passed into 98 % H2SO4 to produce oleum H2S2O7  

H2SO4 + PCl5 → (X)
H2O

→  two strong acids where 'x' is

A. SO2Cl2

B. SOCl

C. ClSO3H

D. POCl3

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_LPijkBVm9pdb
https://dl.doubtnut.com/l/_R31PVX8YypeB


24. Passage - VII : 

An aqueous solution of a gas (x) gives the following reactions 

(1) It decolourises an acidi�ed K2Cr2O7 solution 

(2) On boiling with H2O2 cooling it and then adding on aqueous solution

of BaCl2, a precipitation insoluble in dilute HCl is obtained  

(3) On passing H2S in the solution white turbidity (y) is obtained  

(4) When gas 'x' is heated with concentrated HNO3 evolves a brown

coloured gas (A) 

(5) When 'x' also dissolves in Na2SO3 solution on heating a clear solution

(C ) is formed. 

Gas 'x' is

A. SO3

B. S

C. SO2

D. H2S

Answer: C

https://dl.doubtnut.com/l/_R31PVX8YypeB
https://dl.doubtnut.com/l/_01LtiUQ8yONG


Watch Video Solution

25. Passage - VII : 

An aqueous solution of a gas (x) gives the following reactions 

(1) It decolourises an acidi�ed K2Cr2O7 solution 

(2) On boiling with H2O2 cooling it and then adding on aqueous solution

of BaCl2, a precipitation insoluble in dilute HCl is obtained  

(3) On passing H2S in the solution white turbidity (y) is obtained  

(4) When gas 'x' is heated with concentrated HNO3 evolves a brown

coloured gas (A) 

(5) When 'x' also dissolves in Na2SO3 solution on heating a clear solution

(C ) is formed. 

y is

A. SO2

B. H2SO4

C. BaCl2

D. S

https://dl.doubtnut.com/l/_01LtiUQ8yONG
https://dl.doubtnut.com/l/_cxOqVUmIZRsg


Answer: D

Watch Video Solution

26. Passage - VII : 

An aqueous solution of a gas (x) gives the following reactions 

(1) It decolourises an acidi�ed K2Cr2O7 solution 

(2) On boiling with H2O2 cooling it and then adding on aqueous solution

of BaCl2, a precipitation insoluble in dilute HCl is obtained  

(3) On passing H2S in the solution white turbidity (y) is obtained  

(4) When gas 'x' is heated with concentrated HNO3 evolves a brown

coloured gas (A) 

(5) When 'x' also dissolves in Na2SO3 solution on heating a clear solution

(C ) is formed. 

The brown coloured gas is

A. NO

B. NO2

https://dl.doubtnut.com/l/_cxOqVUmIZRsg
https://dl.doubtnut.com/l/_pXtH0G5mA7qr


C. SO2

D. H2S

Answer: B

Watch Video Solution

27. Passage - VII : 

An aqueous solution of a gas (x) gives the following reactions 

(1) It decolourises an acidi�ed K2Cr2O7 solution 

(2) On boiling with H2O2 cooling it and then adding on aqueous solution

of BaCl2, a precipitation insoluble in dilute HCl is obtained  

(3) On passing H2S in the solution white turbidity (y) is obtained  

(4) When gas 'x' is heated with concentrated HNO3 evolves a brown

coloured gas (A) 

(5) When 'x' also dissolves in Na2SO3 solution on heating a clear solution

(C ) is formed. 

"C" is

https://dl.doubtnut.com/l/_pXtH0G5mA7qr
https://dl.doubtnut.com/l/_fWjhiCji7WNv


A. Na2SO3

B. Na2S2O3

C. Na2SO4

D. Na2S4O6

Answer: B

Watch Video Solution

28. Passage - VIII : 

In this passage �ve observation are given. Question are asked with

reference to the given observations 

Observation (i) Gaseous oxygen is colourless whereas liquid and solid

oxygen are coloured substance. 

Observation (ii) When O2 is cooled below a certain temperature its

paramagnetic character decreases. 

Observation (iii) In ice H2O molecules are H bonded 

Observation (iv) Ozone is responsible for tailing of Hg(l)  

https://dl.doubtnut.com/l/_fWjhiCji7WNv
https://dl.doubtnut.com/l/_7zGh0K71Sh4n


Observation (v) O3(g) is almost unavailable in lower atmosphere  

Which of the following explain the observation (i)?

A. in liquid and solid oxygen there is a transition of bonding electrons

from the triplet state to the singlet state

B. in liquid and solid oxygen there is a transition of antibonding

electrons from the triplet state to the singlet state

C. in liquid and solid oxygen the two unpaired electrons of gasesous

oxygen are paired up

D. (a) and (c )

Answer: B

Watch Video Solution

29. Passage - VIII : 

In this passage �ve observation are given. Question are asked with

reference to the given observations 

https://dl.doubtnut.com/l/_7zGh0K71Sh4n
https://dl.doubtnut.com/l/_zoKZ5L0jEoVz


Observation (i) Gaseous oxygen is colourless whereas liquid and solid

oxygen are coloured substance. 

Observation (ii) When O2 is cooled below a certain temperature its

paramagnetic character decreases. 

Observation (iii) In ice H2O molecules are H bonded 

Observation (iv) Ozone is responsible for tailing of Hg(l)  

Observation (v) O3(g) is almost unavailable in lower atmosphere  

Which of the following explain the observation (ii)?

A. because below a certain temperature O2(g) is partially dimerized

B. the unpair electrons of O2(g) is paired up in some O2 molecules

C. O2(g) is partialy dissociated to atomic oxygen

D. O2(g) is converted partially to ozone

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zoKZ5L0jEoVz


30. Passage - VIII : 

In this passage �ve observation are given. Question are asked with

reference to the given observations 

Observation (i) Gaseous oxygen is colourless whereas liquid and solid

oxygen are coloured substance. 

Observation (ii) When O2 is cooled below a certain temperature its

paramagnetic character decreases. 

Observation (iii) In ice H2O molecules are H bonded 

Observation (iv) Ozone is responsible for tailing of Hg(l)  

Observation (v) O3(g) is almost unavailable in lower atmosphere  

O3 on reaction with Hg(l) as per observation (iv) produce -

A. HgO

B. Hg2O

C. HgO2

D. Hg2O3

Answer: B

https://dl.doubtnut.com/l/_t22AqTuHhMW1


Watch Video Solution

31. Passage - VIII : 

In this passage �ve observation are given. Question are asked with

reference to the given observations 

Observation (i) Gaseous oxygen is colourless whereas liquid and solid

oxygen are coloured substance. 

Observation (ii) When O2 is cooled below a certain temperature its

paramagnetic character decreases. 

Observation (iii) In ice H2O molecules are H bonded 

Observation (iv) Ozone is responsible for tailing of Hg(l)  

Observation (v) O3(g) is almost unavailable in lower atmosphere  

Reference to observation (v) O3(g) is unavailable in lower atmosphere

because -

A. at lower altitude O3 produced is decomposed to O2 due to the

higher temperature

https://dl.doubtnut.com/l/_t22AqTuHhMW1
https://dl.doubtnut.com/l/_yoaPkcqx0uDJ


LEVEL-II LECTURE SHEET (EXERCISE-III Match the following questions)

B. at lower temperature there is noise pollution, therefore O3

produced is decomposed to O2

C. O3(g) is heavier than air, hence available in the coal mines

D. in the lower altitude UV radiation of higher frequencies required for

the dissociation of gaseous O2 to atomic oxygen, are unavailable

Answer: D

Watch Video Solution

1. 

COLUMN-I COLUMN-II
(A)SO2 (p)+2 and '0' states of 'S'

(B)H2S (q)Trimer solid

(C)SO3 (r)Reductant

(D)S6O (s)Oxidant

(t)sp2sulphur

Watch Video Solution

https://dl.doubtnut.com/l/_yoaPkcqx0uDJ
https://dl.doubtnut.com/l/_DkBrRbzAVHIL


2. 

COLUMN-I COLUMN-II
(A)Crown shape (p)S2Cl2
(B)Angular shape (q)S8 molecule

(C)Planar trigonal (r)O3 molecule

(D)H2O2 like structure (s)SO3 molecule

Watch Video Solution

3. 

COLUMN-I COLUMN-II
(A)Thermal stability (p)H2Te > H2Se > H2S > H2O

(B)Acidic nature (q)H2O > H2S > H2Se > H2Te

(C)Boiling points (r)H2S < H2Se < H2Te < H2O

(D)∠MMH Bond angle (s)H2S > H2Se > H2Te = H2Po

Watch Video Solution

4. 

COLUMN-I COLUMN-II
(A)Number of pπ - dπ type π bondsin SO2 (p)2

(B)Number of pπ - dπ type π bonds in SO3 (q)1

(C)Number of pπ - dπ type π bonds in H2S2O5 (r)4

(D)Number of pπ - dπ type π bonds in H2S2O7 (s)3

Watch Video Solution

https://dl.doubtnut.com/l/_HqmVkGZSMIOV
https://dl.doubtnut.com/l/_sIwuMaxhvMIO
https://dl.doubtnut.com/l/_XvW3HljdLeeF


5. 

COLUMN-I COLUMN-II

(A)∠OSO in SO2 (p)1200

(B)∠OSO in SO3 (q)1030

(C)∠CISCI in SCl2 (r)1040

(D)∠SSCl in S2Cl2 (s)119030′

Watch Video Solution

6. Match List-I with List-II and select the correct answer using the codes

given below the lists. 

COLUMN-I COLUMN-II
(A)Engle's sulphur (p)Rings, Chair conformation, unstable
(B)Sulphur (q)Fibrous or rubber like
(C)Rhombic sulphur (r)Crystalline form yellow crystals
(D)monoclinic sulphur (s)Puckered S8 rings crown conformation

Watch Video Solution

https://dl.doubtnut.com/l/_XvW3HljdLeeF
https://dl.doubtnut.com/l/_vAygsw2noYbZ
https://dl.doubtnut.com/l/_qmYpUE7Npei3


7. 

COLUMN-I COLUMN-II
(A)Platinum (p)Decomposition of bleaching powder
(B)V2O5 (q)Manufacturing of HNO3

(C)Iron (r)Manufacturing of H2SO4

(D)Cobalt chloride (s)manufacturing of NH3

Watch Video Solution

8. 

COLUMN-I COLUMN-II
(A)Oleum (p)NO. HSO4

(B)Peroxy disulphuric acid (q)H2SO5

(C)Peroxy monosulphuric acid (r)H2S2O8

(D)Chamber Crystals (s)H2SO4. xSO3

Watch Video Solution

9. 

COLUMN-I COLUMN-II
(A)Sulphur dioxide (p)Laboratory reagent used during salt analysis
(B)Oxygen (q)Detection of position double bond in organic compound
(C)Ozone (r)Antichlor
(D)Hydrogen sulphide (s)Paramagnetic

Watch Video Solution

https://dl.doubtnut.com/l/_Wu4F0M80H9pc
https://dl.doubtnut.com/l/_hcsGarlrKwAA
https://dl.doubtnut.com/l/_urQkFr6majVi


LEVEL-II LECTURE SHEET (EXERCISE - IV Integer answer type Questions)

10. 

COLUMN-I COLUMN-II

(A)Sulphur S8 (p)Oleum

(B)Sulphuric acid (q)Vulcanizing rubber
(C)Fuming sulphuric acid (r)Marshall's acid

(D)Peroxy disulphuric acid (s)sp3 only

Watch Video Solution

( )

1. The atomicities of oxygen and sulphur are di�erent. What is the ratio of

the atomicities of sulphur to oxygen ?

Watch Video Solution

2. Peroxy links are present in H2SO5 and H2S2O8. How many number of

peroxy bonds are present in each acid?

Watch Video Solution

https://dl.doubtnut.com/l/_urQkFr6majVi
https://dl.doubtnut.com/l/_NVdeJ0OuyAV3
https://dl.doubtnut.com/l/_ioGmHBQs0O0T
https://dl.doubtnut.com/l/_ODlxqL1jw4L9


3. Maximum number of hydroge bonds that one water molecle is capable

of forming is

Watch Video Solution

4. Ozone tarnishes silver metal. How many number of moles of O2 are

evolved?

Watch Video Solution

5. During ozonolysis of 1mole of benzene, number of moles of ozone

consumed is

Watch Video Solution

https://dl.doubtnut.com/l/_ODlxqL1jw4L9
https://dl.doubtnut.com/l/_pye2FdVU9DAB
https://dl.doubtnut.com/l/_9QiiuwoibJRA
https://dl.doubtnut.com/l/_mEbITVhbljol


6. Sulphur is availble as various sulphates. A 'Mg' salt called Epsom

contains how many number of H2O molecules?

Watch Video Solution

7. In SF6 molecule, is formed in nth excited state of 's'. What is n ?

Watch Video Solution

8. How many number of hybrid orbitals are present in SO2?

Watch Video Solution

9. The oxidation number of sulphur in caro's acid is +x. What is value of x.

Watch Video Solution

https://dl.doubtnut.com/l/_rjQx6P36cwii
https://dl.doubtnut.com/l/_nqDUzibTzBrj
https://dl.doubtnut.com/l/_j0oFNWBhtHIa
https://dl.doubtnut.com/l/_NfVNu68fxxA4


PRACTICE SHEET - 1 (Single or more than one option questions)

1. The valency of sulphur in SO2 -
4  is :

A. 2

B. 1

C. 4

D. 6

Answer: D

Watch Video Solution

2. Which of the following bonds has the highest energy?

A. Se-Se

B. Te-Te

C. S-S

https://dl.doubtnut.com/l/_pjeVFTvs5XWg
https://dl.doubtnut.com/l/_QeamsyFVhbQz


D. O-O

Answer: C

Watch Video Solution

3. H2S when passed through dil HNO3 gives -

A. Rhombic sulphur

B. monoclinic sulphur

C. Colloidal sulphur

D. Plastic sulphur

Answer: C

Watch Video Solution

4. The para magnetic nature of oxygen is best explained by

https://dl.doubtnut.com/l/_QeamsyFVhbQz
https://dl.doubtnut.com/l/_tYryO2VDsKX1
https://dl.doubtnut.com/l/_nmgcrVX0OeqU


A. VB theory

B. VSEPR theory

C. MO theory

D. Free electron theory

Answer: C

Watch Video Solution

5. Half - life of polonium is of

A. 138 days

B. 56 days

C. 13.8 days

D. 110 days

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nmgcrVX0OeqU
https://dl.doubtnut.com/l/_EfLYunAwSrna


6. Galena is a sulphide of

A. Zn

B. Cu

C. Pb

D. None of these

Answer: C

Watch Video Solution

7. In the Kipp's apparatus, the reaction gets stopped on closing the outlet

because

A. Gas starts coming out from top

B. The contact between sulphide and the acid is broken by the

presence of gas collected in the free surface of the middle chamber

https://dl.doubtnut.com/l/_EfLYunAwSrna
https://dl.doubtnut.com/l/_L6qLNA9QJnPh
https://dl.doubtnut.com/l/_1muhaecwckRv


C. The acid becomes weak

D. A protective �lm is formed on iron sulphide

Answer: B

View Text Solution

8. The elements of group-16 which show negative oxidation state are 

1) Oxygen 2) Polonium 3) Tellurium 4) Selenium

A. 1, 2 and 3

B. 2, 3 and 4

C. 1, 3 and 4

D. 1, 2, 3 and 4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1muhaecwckRv
https://dl.doubtnut.com/l/_RzKx37ytx8dS
https://dl.doubtnut.com/l/_9GcBIxxknmzW


9. On adding Na2S to sodium nitro prusside solution

A. Na4 Fe(CN)5NOS  complex is formed

B. Fe(CN)5NOS
- 4 complex is formed

C. a violet colour is formed

D. All of the above

Answer: D

Watch Video Solution

[ ]
[ ]

10. What is the correct relation ship between the pH values of isomolar

solution of Na2 O pH1 , Na2S pH2 , Na2Se pH3 and Na2Te pH4  ?

A. pH1 < pH2 < pH3 < pH4

B. pH1 > pH2 > pH3 > pH4

C. pH1 < pH2 < pH3 = pH4

D. pH1 > pH2 = pH3 > pH4

( ( ) ( ) ( ) ( )

https://dl.doubtnut.com/l/_9GcBIxxknmzW
https://dl.doubtnut.com/l/_Wy6ztwJvL1Dn


Answer: B

Watch Video Solution

11. H2S on incomplete combustion with oxygen forms mainly

A. H2 and S

B. H2 and SO3

C. H2O

D. S

Answer: C::D

Watch Video Solution

12. Which occur(s) free in nature?

A. I2

https://dl.doubtnut.com/l/_Wy6ztwJvL1Dn
https://dl.doubtnut.com/l/_FizmzcB9sHmw
https://dl.doubtnut.com/l/_mXejjwu6cGzM


B. S

C. P

D. O

Answer: A::B::C::D

Watch Video Solution

13. In SOCl2 and SO2Cl2

A. The oxidation state of sulphur is di�erent

B. The hybridisation state of sulphur is same

C. The shapes of both SOCl2 and SO2Cl2 are same

D. The Cl-S-Cl angle in both SOCl2 and SO2Cl2 is same

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_mXejjwu6cGzM
https://dl.doubtnut.com/l/_XD4C5dT3bzYk
https://dl.doubtnut.com/l/_YDEAicKwPpZa


14. Which halide of sulphur undergoes disproportion ation in water?

A. SCl4

B. SF2

C. S2Cl2

D. All the above

Answer: B::C

Watch Video Solution

15. Which of the following statements are correct?

A. SF4 + BF3 → BF2
+ SF5

-

B. SF4 + PF5 → SF3
+ PF6

-

C. SF4 + CSF → [CS] + SF5
-

D. BF3 + LiF → [Li] + BF4
-

[ ] [ ]
[ ] [ ]

[ ]
[ ]

https://dl.doubtnut.com/l/_YDEAicKwPpZa
https://dl.doubtnut.com/l/_YlohIzTDoksu


PRACTICE SHEET - 1 (Linked Comprehension type questions)

Answer: B::C::D

View Text Solution

16. The correct statement about sulphur hexa �uoride

A. There are 12F-S-F 90 ∘  bond angle

B. S in SF6 has an expanded octet

C. With H2O, SF6 on accept lonepair of electron in the empty 3d

atomic orbital and gets hydrolysed

D. SF6 has a distorted octahedral geometry

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_YlohIzTDoksu
https://dl.doubtnut.com/l/_Hnqswtm8ZxPn


1. Passage - I : 

A yellow powder 'x' is burnt in a steam of Fluorine to obtain a colourless

gas 'y' which is thermally stable and chemically inert its molecule has

octahedral geometry another colourless gas 'z' with same constituent

atoms as that of 'y' is obtained when sulphur dichloride is heated with

sodium �uoride. It's molecule has trigonal bi-pyramidal geometry 

The yellow powder 'x' is

A. Fe2Cr2O7

B. FeCl3

C. K2CrO4

D. S

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fzVFQJgkWBX1


2. Passage - I : 

A yellow powder 'x' is burnt in a steam of Fluorine to obtain a colourless

gas 'y' which is thermally stable and chemically inert its molecule has

octahedral geometry another colourless gas 'z' with same constituent

atoms as that of 'y' is obtained when sulphur dichloride is heated with

sodium �uoride. It's molecule has trigonal bi-pyramidal geometry 

The colourless gas 'y' is

A. SF4

B. SF6

C. NaF

D. S2F2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qc5pJOlNdWJy


3. Passage - I : 

A yellow powder 'x' is burnt in a steam of Fluorine to obtain a colourless

gas 'y' which is thermally stable and chemically inert its molecule has

octahedral geometry another colourless gas 'z' with same constituent

atoms as that of 'y' is obtained when sulphur dichloride is heated with

sodium �uoride. It's molecule has trigonal bi-pyramidal geometry 

The colourless gas 'z' is

A. SF4

B. SF6

C. S4F4

D. NaF

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_tz4HUyj0RSj3


4. Passage - II : 

Sulphur forms hexahalides, tetrahalides, dihalides and monohalides,

sulphur forms only hexa �uorides but not hexachlorides, hexa bromides

and hexaiodides. Sulphur halides tend to hydrolyse easily. Sulphur hexa

�uorides is an exception. 

Of the oxohalides, the most important are those of sulphur especially

sulphur dichloride oxide (Thionyl chloride) SOCl2 and sulphurdichloride

dioxide (Sulphuryl chloride) SO2Cl2 these are also hydrolyse in water  

SF6 do not hydrolyse water because

A. Due to strong S-F bonds which cannot be broken easily

B. Because of steric hinderance of six �uorine atoms surrounding

sulphur H2O molecules can not approach sulphur

C. Due to double bond character of 'S-F' bonds because of back

bonding

D. All the above

Answer: B

https://dl.doubtnut.com/l/_OtKNaReZxAV7


Watch Video Solution

5. Passage - II : 

Sulphur forms hexahalides, tetrahalides, dihalides and monohalides,

sulphur forms only hexa �uorides but not hexachlorides, hexa bromides

and hexaiodides. Sulphur halides tend to hydrolyse easily. Sulphur hexa

�uorides is an exception. 

Of the oxohalides, the most important are those of sulphur especially

sulphur dichloride oxide (Thionyl chloride) SOCl2 and sulphurdichloride

dioxide (Sulphuryl chloride) SO2Cl2 these are also hydrolyse in water  

SOCl2 is dissolved in water which of the following statement is wrong

about the solution

A. The solution will give white ppt with baryta water soluble in dil.HCl

B. The solution turns the lead acetete paper to black

C. The solution turns orange dichromate to green

D. The solution is acidic in nature

https://dl.doubtnut.com/l/_OtKNaReZxAV7
https://dl.doubtnut.com/l/_mxbO8IlLzFI0


Answer: B

Watch Video Solution

6. Passage - II : 

Sulphur forms hexahalides, tetrahalides, dihalides and monohalides,

sulphur forms only hexa �uorides but not hexachlorides, hexa bromides

and hexaiodides. Sulphur halides tend to hydrolyse easily. Sulphur hexa

�uorides is an exception. 

Of the oxohalides, the most important are those of sulphur especially

sulphur dichloride oxide (Thionyl chloride) SOCl2 and sulphurdichloride

dioxide (Sulphuryl chloride) SO2Cl2 these are also hydrolyse in water  

SO2Cl2 is dissolved in H2O which of the following statement is wrong

about the solution

A. Gives white ppt with BaCl2 in soluble in any acid

B. The solution contain two di�erent type of acids a monobasic and

dibasic acid

https://dl.doubtnut.com/l/_mxbO8IlLzFI0
https://dl.doubtnut.com/l/_VxXqLGPMxqyK


PRACTICE SHEET - 1 (Match the following questions)

C. The solution can decolourize can decolourize the permanganate

D. The oxidaction states of the elements in SO2Cl2 do not change

when dissolve in water

Answer: C

Watch Video Solution

1. 

COLUMN-I COLUMN-II
(A)S2Cl2 (p)gives mustard gas with C2H4

(B)SF6 (q)gives dibasic acid on hydrolysis

(C)SCl4 (r)uniform bond angles

(D)SCl2 (s)Disproportionates on hydrolysis

Watch Video Solution

https://dl.doubtnut.com/l/_VxXqLGPMxqyK
https://dl.doubtnut.com/l/_Fgot1aLOhh1k


PRACTICE SHEET - 1 (Integer answer type Questions)

2. Match List-I with List-II and select the correct answer using the codes

given below the lists. 

COLUMN-I COLUMN-II
(A)Engle's sulphur (p)Rings, Chair conformation, unstable
(B)Sulphur (q)Fibrous or rubber like
(C)Rhombic sulphur (r)Crystalline form yellow crystals
(D)monoclinic sulphur (s)Puckered S8 rings crown conformation

Watch Video Solution

1. Green vitriol is a hydrated salt with formula FeSO4. xH2O. What is the

value of x

Watch Video Solution

2. In a double sulphate salt K2SO4Al2 SO4 3
4 × xH2O. The value of x is

Watch Video Solution

( )

https://dl.doubtnut.com/l/_k5QZxq0tblER
https://dl.doubtnut.com/l/_A4lGN23WaLyU
https://dl.doubtnut.com/l/_mwIIrc3CMwLc


3. How many dπ - pπ bonds are present in γ - SO3?

Watch Video Solution

4. The no. of radioactive elements in VI group is _____

Watch Video Solution

5. The total no. of oxidation states of sulphur (only magnitude) in

S8, SF2, H2S is

Watch Video Solution

6. Ordinary oxygen contain how many isotopes of oxygen ?

Watch Video Solution

https://dl.doubtnut.com/l/_mwIIrc3CMwLc
https://dl.doubtnut.com/l/_avM0lLuexd7z
https://dl.doubtnut.com/l/_ESeJrzcZOE1t
https://dl.doubtnut.com/l/_j8uh6Bvb1Qv6
https://dl.doubtnut.com/l/_Sg7OIgVufnZk


PRACTICE SHEET - 2 (Single or more than one option questions)

1. The product x in the following equation :

2KMnO4 → K2MnO4 + MnO2 + x, is :

A. Mn3O4

B. O2

C. MnO

D. All

Answer: B

Watch Video Solution

2. The oxide which on strong heating evolves oxygen is :

A. Na2O

B. Al2O3

https://dl.doubtnut.com/l/_tTgPinwchi1n
https://dl.doubtnut.com/l/_ddUffh6Q9vib


C. CaO

D. BaO2

Answer: D

Watch Video Solution

3. Non-metals combine with oxygen to form usually

A. basic oxides

B. neutral oxides

C. acidic oxides

D. amphoteric oxides

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ddUffh6Q9vib
https://dl.doubtnut.com/l/_w3TGpA1xzfJ3


4. A black sulphide when treated with ozone becomes white. The white

compound is :

A. ZnSO4

B. CaSO4

C. BaSO4

D. PbSO4

Answer: D

Watch Video Solution

5. Ozone readily dissolves in :

A. H2O

B. CH3OH

C. turpentine oil

D. ammonia

https://dl.doubtnut.com/l/_oZGpW9nLFifb
https://dl.doubtnut.com/l/_W8Ee5FXISYMm


Answer: C

Watch Video Solution

6. Oxygen does not react with :

A. Cl

B. S

C. Na

D. P

Answer: D

Watch Video Solution

7. Ozone turns benzidine paper :

A. violet

https://dl.doubtnut.com/l/_W8Ee5FXISYMm
https://dl.doubtnut.com/l/_oZoGH40aOJMa
https://dl.doubtnut.com/l/_ROUx3amoGNy3


B. brown

C. blue

D. red

Answer: B

Watch Video Solution

8. The number of S-S bonds in sulphur trioxide trimer S3O9 is

A. three

B. two

C. one

D. zero

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ROUx3amoGNy3
https://dl.doubtnut.com/l/_AIZHeJQufwHj
https://dl.doubtnut.com/l/_md2NEfqVbXh8


9. When SO2 is passed through cupric chloride solution :

A. the solution becomes colourless and a white ppt. of CuCl2 is

obtained

B. a white ppt. is obtained

C. the solution becomes colourless

D. no visible change take place

Answer: C

Watch Video Solution

10. Oxygen is ozonised until the partial pressures of both gases are same.

What percentage of oxygen is ozonised?

A. 40 %

B. 60 %

C. 50 %

https://dl.doubtnut.com/l/_md2NEfqVbXh8
https://dl.doubtnut.com/l/_lS8WpQFVjQey


D. 25 %

Answer: B

Watch Video Solution

11. At T(K), 100 L of dry oxygen is present in a sealed container. It is

subjected to silent electrical discharge till the volumes of oxygen and

ozone become equal What is the volume (in L) of ozone formed at T(K)?

A. 50

B. 60

C. 30

D. 40

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_lS8WpQFVjQey
https://dl.doubtnut.com/l/_qzPTkCC2w6IW
https://dl.doubtnut.com/l/_CbKW3qg5aJKp


12. In the bleaching action of SO2 ________

A. SO2 is reduced

B. SO2 is oxidised into H2SO4

C. H2S is formed

D. coloured matter is reduced

Answer: B::D

Watch Video Solution

13. Which of the following does not have Pπ - dπ bonding

A. NO -
3

B. SO2 -
3

C. BO3 -
3

D. CO2 -
3

https://dl.doubtnut.com/l/_CbKW3qg5aJKp
https://dl.doubtnut.com/l/_PfQ5k0VKbaSD


Answer: A::C::D

Watch Video Solution

14. In γ-form of SO3, the hybridisation of sulphur is

A. sp

B. sp3d

C. sp2

D. sp3

Answer: A::B::C

Watch Video Solution

15. The sulphur oxide SO2, can acts as

A. Reducing agent

https://dl.doubtnut.com/l/_PfQ5k0VKbaSD
https://dl.doubtnut.com/l/_EqJa6P9UrVIh
https://dl.doubtnut.com/l/_n36LMb1TLwtC


B. oxidising agent

C. bleaching agent

D. Lewi's base

Answer: A::B::C::D

Watch Video Solution

16. sp2 - Hybridisation is involved in the molecule of

A. CO

B. CO2

C. SO2

D. SO3

Answer: C::D

Watch Video Solution

https://dl.doubtnut.com/l/_n36LMb1TLwtC
https://dl.doubtnut.com/l/_NisTDvMEeRB3


PRACTICE SHEET - 2 (Linked Comprehension type questions)

1. Passage-I : 

When a gas 'A' is passed through dry KOH at low temperature a deep red

coloured compound, B and a gas 'C' are obtained. The gas A, on reaction

with but -2-ene, followed by treatment with Zn /H2O yields acetaldehyde.

Identify A, B & C. 

What is A

A. O2

B. O3

C. SO2

D. CO2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_aM4LKKTbcEPz


2. Passage-I : 

When a gas 'A' is passed through dry KOH at low temperature a deep red

coloured compound, B and a gas 'C' are obtained. The gas A, on reaction

with but -2-ene, followed by treatment with Zn /H2O yields acetaldehyde.

Identify A, B & C. 

What is deep red coloured compound

A. KO3

B. O3

C. CH3CHO

D. None of these

Answer: A

Watch Video Solution

3. Passage-I : 

When a gas 'A' is passed through dry KOH at low temperature a deep red

https://dl.doubtnut.com/l/_w84MmzLpiThG
https://dl.doubtnut.com/l/_eIRjMG7eGkIm


coloured compound, B and a gas 'C' are obtained. The gas A, on reaction

with but -2-ene, followed by treatment with Zn /H2O yields acetaldehyde.

Identify A, B & C. 

What is A

A. SO2

B. O2

C. H2S

D. O3

Answer: B

Watch Video Solution

4. Passage - II : 

The solid(A) is a laboratory reagent. Give the following reactions. 

i) On strongly heating it gives two oxides of sulphur 

ii) On adding aqueous NaOH solution to its aqueous solution a dirty

green precipitate is obtained, which starts turning brown on exposure to

https://dl.doubtnut.com/l/_eIRjMG7eGkIm
https://dl.doubtnut.com/l/_hZxbkWnesXf8


air. 

The solid A is

A. BaCl2

B. FeSO4

C. CaSO4

D. None of these

Answer: B

Watch Video Solution

5. Passage - II : 

The solid(A) is a laboratory reagent. Give the following reactions. 

i) On strongly heating it gives two oxides of sulphur 

ii) On adding aqueous NaOH solution to its aqueous solution a dirty

green precipitate is obtained, which starts turning brown on exposure to

air. 

What is compound in dirty green ppt.

https://dl.doubtnut.com/l/_hZxbkWnesXf8
https://dl.doubtnut.com/l/_vcpOie8ldWHd


A. Ca(OH)2

B. Fe(OH)2

C. Fe(OH)3

D. None of these

Answer: C

Watch Video Solution

6. Passage - II : 

The solid(A) is a laboratory reagent. Give the following reactions. 

i) On strongly heating it gives two oxides of sulphur 

ii) On adding aqueous NaOH solution to its aqueous solution a dirty

green precipitate is obtained, which starts turning brown on exposure to

air. 

The two oxides of sulphur are

A. SO2, SO3

https://dl.doubtnut.com/l/_vcpOie8ldWHd
https://dl.doubtnut.com/l/_0ZstUYOHbuqv


PRACTICE SHEET - 2 (Match the following questions)

B. SO, SO2

C. SO, SO3

D. S2O, S2O3

Answer: A

Watch Video Solution

1. 

COLUMN-I COLUMN-II
(Compound) (Use)
(A)SO2 (p)Antichlor

(B)Hypo (q)reducing agent
(C)Ozone (r)Purification of water
(D)H2SO4 (s)Dehydrating agent

Watch Video Solution

https://dl.doubtnut.com/l/_0ZstUYOHbuqv
https://dl.doubtnut.com/l/_L7bqpqRW1ZMM


PRACTICE SHEET - 2 (Integer answer type Questions)

2. 

COLUMN-I COLUMN-II
(A)SO2 (p)Acidic nature

(B)SO3 (q)Oxidising agent

(C)O3 (r)Reducing agent

(D)O - 2
2 (s)Bleaching agent

Watch Video Solution

1. The oxidation of naphthalene in presence of catalyst Hg /H2SO4 to

Phthalicacid. How many moles of SO2 is formed ? (CO2 evolved)

Watch Video Solution

2. Ozone reacts with dry Iodine to form an oxide having ______ Oxygen

atoms in its molecule.

Watch Video Solution

https://dl.doubtnut.com/l/_hK1DyMtdKkvY
https://dl.doubtnut.com/l/_2pW0MbN4tN2p
https://dl.doubtnut.com/l/_gvqwj7IWAVht


3. The bond order in O2 -
2  species is

Watch Video Solution

4. Cyclic trimer strucutre of SO3 contains ________no. of "S = O" bonds

Watch Video Solution

5. Oxygen is a gas while other are solids and S, Se, Te exist as staggered

rings in normal condition. Howmany number of atoms are present in one

ring

Watch Video Solution

6. Ozone reacts with dry Iodine to form an oxide having ______ Oxygen

atoms in its molecule.

Watch Video Solution

https://dl.doubtnut.com/l/_LVpBm8FTrg4l
https://dl.doubtnut.com/l/_pdsLzZdIKukg
https://dl.doubtnut.com/l/_nMwh9HdnLp5n
https://dl.doubtnut.com/l/_XvrFOVdjfFOe


PRACTICE SHEET - 3 (Single or more than one option questions)

1. 100 gms of 118 %  oleum reacted with excess water. How much H2SO4 is

formed?

A. 90 gm

B. 118 gm

C. 48 gm

D. 100 gm

Answer: B

Watch Video Solution

2. Mark the compound which gives carbon with conc. H2SO4:

A. formic acid

https://dl.doubtnut.com/l/_XvrFOVdjfFOe
https://dl.doubtnut.com/l/_8mUmqLx48D9Z
https://dl.doubtnut.com/l/_lvGd6wTKsozG


B. succinic acid

C. oxalic acid

D. sugar

Answer: D

Watch Video Solution

3. The molecule of SO2 is

A. Planar

B. Pyramidal

C. Angular

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lvGd6wTKsozG
https://dl.doubtnut.com/l/_IGNMJpNUlAj7
https://dl.doubtnut.com/l/_GcNQMCB2nX0n


4. 2NaOH + SO2 → A + H2O  

B + H2O + SO2 → 2NaHSO3. A and B are

A. A - Na2SO3, B - Na2SO3

B. A - NaHSO3, B - Na2SO3

C. A - Na2SO4, B - Na2O

D. A - NaHSO3, B - Na2SO4

Answer: A

Watch Video Solution

5. The behaviour of sulphur while reacting with water and alkali is similar

to that of

A. CO

B. O2

C. O3

https://dl.doubtnut.com/l/_GcNQMCB2nX0n
https://dl.doubtnut.com/l/_h0JI3yTpab02


D. CO2

Answer: D

Watch Video Solution

6. On passing SO2 gas through an acidi�ed solution of K2Cr2O7

A. The Solution gets decolourised

B. The solution becomes blue

C. SO2 is reduced

D. Green Cr2 SO4 3
 is obtained

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_h0JI3yTpab02
https://dl.doubtnut.com/l/_uTot0ivyfHdB


7. Which of the following can converts acidi�ed Cr2O
2 ( - )
7  to green

product?

A. SO2, H2SO3 and H2SO4

B. SO3, H2S and H2SO3

C. SO3, H2S and Fe + 3

D. SO - 2
3 , H2S and Fe + 2

Answer: B

Watch Video Solution

8. Which of the following statements are correct for SO3 gas? 

I) It act are bleaching agent in moist conditions 

II) It's molecule has linear geometry 

III) It's dilute solution is used as disintectant 

IV) It can be prepared by the reaction of dilute H2SO4 with Metal sulphide

https://dl.doubtnut.com/l/_9GqT3jdUcEzi
https://dl.doubtnut.com/l/_gT4nsoCVQtI4


A. I and III

B. II and IV

C. I and IV

D. II and III

Answer: A

Watch Video Solution

9. 1) M.P. of Rhombic sulphur is higher than that of monoclinic sulphur 

2) Speci�c gravity of Rhombic sulphur is lower then that of Rhombic

sulphur. 

Then incorrect statement(s) are

A. Only 1

B. Only 2

C. Both 1 and 2

D. Neither 1 nor 2

https://dl.doubtnut.com/l/_gT4nsoCVQtI4
https://dl.doubtnut.com/l/_OIOQudMKrUlf


Answer: C

Watch Video Solution

10. Consider the following bond angles α = O - O - O inozone, 

β = P - P - P in P4 (white), γ = N - N - N in azide anion N -
3 , δ = C - C - C

diamond, then

A. α + β = γ

B. β + δ > γ

C. 
δ
β

>
γ
δ

D. γ - α = α - β

Answer: C

Watch Video Solution

( )

11. Sulphur troxide can be obtained by which of the following reaction ?

https://dl.doubtnut.com/l/_OIOQudMKrUlf
https://dl.doubtnut.com/l/_DP3p4mJZDFk2
https://dl.doubtnut.com/l/_muOFrpFJZgGB


A. CaSO4 + C
Δ
→

B. Fe2 SO4 3

Δ
→

C. S + H2SO4

Δ
→

D. H2SO4 + PCl5
Δ
→

Answer: B

Watch Video Solution

( )

12. Which of the following shows wrong matching

A. H2C2O4

conc.H2SO4

→ CO + CO2 + H2O - H2SO4 an dehydrating agent

B. Cu + 2H2SO4 → CuSO4 + 2H2O + SO2 + H2SO4 as oxidizing agent

C. Na2S + H2SO4 → Na2SO4 + H2S - H2SO4 as an acid

D. 2HBr + H2SO4 → 2H2O + SO2 + Br2 - H2SO4 as reducing agent

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_muOFrpFJZgGB
https://dl.doubtnut.com/l/_ThDEDjz0YeJu


13. Which among the following are peroxo acid of sulphur?

A. H2SO3

B. H2SO5

C. H2S2O8

D. H2SO4

Answer: B::C

Watch Video Solution

14. Oxidation number of sulpher in caro's acid

A. sp2, + 10

B. sp3, + 10

C. sp2, + 6

https://dl.doubtnut.com/l/_ThDEDjz0YeJu
https://dl.doubtnut.com/l/_1TpMLgI9EWOa
https://dl.doubtnut.com/l/_977ixUzU8VC1


D. sp3, + 6

Answer: D

Watch Video Solution

15. Gas A + Na2CO3 + H2O → B + C(gas)  

B + Na2CO3 → D + C(gas) + H2O 

D + S
Δ
→ E  

Which of the following are correct?

A. A is SO2

B. D is Na2SO3

C. C is CO2

D. E is Na2S2O3

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_977ixUzU8VC1
https://dl.doubtnut.com/l/_LqL9AMWbflOQ


PRACTICE SHEET - 3 (Linked Comprehension type questions)

16. Which of the following statements regarding thiosulphate ion is/are

correct?

A. Shape of thiosulphate ion is tetrahedral

B. The two sulphur atoms in thiosulphate ion are equivalent

C. There is S-S bond in thiosulphate ion

D. With I2 thiosulphate ion gives tetrathionate ion

Answer: A::C::D

Watch Video Solution

1. Passage - I : 

X + H2SO4 → Y, a colourless gas with irritating smell. 

y + K2Cr2O7 + H2SO4 →  green solution.  

What is X?

https://dl.doubtnut.com/l/_mFu6f9M0R6pp
https://dl.doubtnut.com/l/_DsuYePmLo8cr


A. SO3

B. SO2 -
3

C. SO2

D. OF2

Answer: B

Watch Video Solution

2. Passage - I : 

X + H2SO4 → Y, a colourless gas with irritating smell. 

y + K2Cr2O7 + H2SO4 →  green solution.  

What is Y?

A. SO2

B. SO3

C. O3

D. O2

https://dl.doubtnut.com/l/_DsuYePmLo8cr
https://dl.doubtnut.com/l/_jRv6uMZfMSbt


Answer: A

Watch Video Solution

3. Passage - I : 

X + H2SO4 → Y, a colourless gas with irritating smell. 

y + K2Cr2O7 + H2SO4 →  green solution.  

The compound present in green solution

A. H2SO4

B. MnSO4

C. Cr2 SO4 3

D. None of these

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_jRv6uMZfMSbt
https://dl.doubtnut.com/l/_OxuTufDNZ2zv


4. Passage - II : 

Sulphuric acid is a substance of very great commercial importance as it is

used practically in every important industry. This due to the chemical

properties of sulphuric acid. This very reaction with metals & non-metals.

It has properties of dehydration, oxidation, reduction and sulphonation

etc. for example: 

H2SO4 + PCl5 → A
H2O

→ B + C.  

Where B & C are two strong acids. 

The compound A is

A. SO2Cl2

B. SO2Cl

C. ClSO3H

D. POCl3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_tvD1OAXnOKkW
https://dl.doubtnut.com/l/_bCC1lujrvcZZ


5. Passage - II : 

Sulphuric acid is a substance of very great commercial importance as it is

used practically in every important industry. This due to the chemical

properties of sulphuric acid. This very reaction with metals & non-metals.

It has properties of dehydration, oxidation, reduction and sulphonation

etc. for example: 

H2SO4 + PCl5 → A
H2O

→ B + C.  

Where B & C are two strong acids. 

The compound B is

A. POCl5

B. HOCl4

C. POCl3

D. H2SO4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bCC1lujrvcZZ
https://dl.doubtnut.com/l/_Uzg8HF6JO92u


6. Passage - II : 

Sulphuric acid is a substance of very great commercial importance as it is

used practically in every important industry. This due to the chemical

properties of sulphuric acid. This very reaction with metals & non-metals.

It has properties of dehydration, oxidation, reduction and sulphonation

etc. for example: 

H2SO4 + PCl5 → A
H2O

→ B + C.  

Where B & C are two strong acids. 

The compound C is

A. H2SO4

B. HCl

C. HOCl4

D. H2S2O7

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Uzg8HF6JO92u


PRACTICE SHEET - 3 (Match the following questions)

PRACTICE SHEET - 3 (Integer answer type Questions)

1. 

COLUMN-I COLUMN-II
(Oxy-acid of S) (Oxidation state of 'S'')
(A)H2SO3 (p) + 2

(B)H2S2O6 (q) + 3

(C)H2S2O3 (r) + 4

(D)H2S2O4 (s) + 5

Watch Video Solution

2. 

COLUMN-I COLUMN-II
(A)H2S2O5 (p)Dibasic

(B)H2S2O4 (q)S - O - S bond

(C)H2S4O6 (r)S - S bond with same oxidation state of sulphur

(D)H2S2O7 (s)S - S bond with different oxidation state of sulphur

(t)Atleast one 'S' in +6 oxidation state

Watch Video Solution

https://dl.doubtnut.com/l/_YvYzefGKU5Wc
https://dl.doubtnut.com/l/_1yPKF3bbwm7R


1. How many S-S bond are present in SO3 trimer

Watch Video Solution

2. How many S-S bond are there in S2O
- 2
7

Watch Video Solution

3. How many S-S bond in polythionic acid having molecular formula

H2S5O6?

Watch Video Solution

4. The total no. of diprotic acids among the following is

H3PO4, H2SO4, H3PO3, H2S2O7, H3BO3, H3PO2, H2CrO4, H2SO3, H2CO3

Watch Video Solution

https://dl.doubtnut.com/l/_oXQ8TpvtGboK
https://dl.doubtnut.com/l/_Ctsx4hJk1XyD
https://dl.doubtnut.com/l/_EHNEomiBnwNP
https://dl.doubtnut.com/l/_TCoZWxgzDhdt
https://dl.doubtnut.com/l/_xmn1VdPz8SLZ


PRACTICE SHEET - 4 (Single or more than one option questions)

5. Number of hydorxyl groups present in pyrosulphuric acid is

Watch Video Solution

6. The formal charges on the three oxygen atoms in O3 molecule are

Watch Video Solution

1. C12H22O11

H2SO4 →

 product, products of the reaction is /are

A. 12C + 11H2O

B. 11C + 12H2O

C. 5CO + 7CO2 + H2O

D. CO2 + H2O

https://dl.doubtnut.com/l/_xmn1VdPz8SLZ
https://dl.doubtnut.com/l/_b347iyUzSZhp
https://dl.doubtnut.com/l/_UsWE5dSynCXh


Watch Video Solution

2. H2SO4 is used in

A. Petroleum re�ning

B. manufactue of paints, pigments and dye stu�

C. detergent industry

D. all of the above are the uses of H2SO4

Watch Video Solution

3. An example of acid sulphate is

A. NaHSO4

B. CuSO4

C. Na2SO4

https://dl.doubtnut.com/l/_UsWE5dSynCXh
https://dl.doubtnut.com/l/_f1EKiEnVtXwv
https://dl.doubtnut.com/l/_0eEoTPyYpTAj


D. None of the above

Watch Video Solution

4. On adding of conc. H2SO4 ot a chloride salt colourless fumes are

evolved but in case of iodide salt. Violet fumes come out. This is because

A. HI is of violet colour

B. HI gets oxidised to I2

C. HI changes to HIO3

D. H2SO4 reduces HI to I2

Watch Video Solution

5. Hot conc. H2SO4 acts as moderately strong oxidising agent. It oxidises

both metal and non-metals. Element which gets oxidised by conc. H2SO4

https://dl.doubtnut.com/l/_0eEoTPyYpTAj
https://dl.doubtnut.com/l/_RdYiT46HG1BL
https://dl.doubtnut.com/l/_xO4cocg3mY0x


into two gaseous products is

A. Cu

B. Zn

C. S

D. C

Watch Video Solution

6. On t reating PCl5 with conc. H2SO4, SO2Cl2 is formed as the �nal

product this shows that H2SO4

A. is derivative of SO2

B. is a monobasic acid

C. has great a�nity for H2O

D. has two hydroxyl groups in its structure

https://dl.doubtnut.com/l/_xO4cocg3mY0x
https://dl.doubtnut.com/l/_uKDdsDexKWg6


Watch Video Solution

7. H2SO4 is a 

1) Dehydrating agent 2) Sulphonating agent 

3) Reducing agent 4) Highly viscous liquid 

Choose the correct set of choice from the options give below

A. 1, 2 & 3

B. 2, 3 and 4

C. 1, 3 and 4

D. 1, 2 and 4

Watch Video Solution

8. It is advised to add H2SO4 while preparing a standard solution of

Mohr's salt to avoid

https://dl.doubtnut.com/l/_uKDdsDexKWg6
https://dl.doubtnut.com/l/_yZ5wC299z1Jj
https://dl.doubtnut.com/l/_l9cApAGsv6vx


A. Hydration

B. Oxidation

C. Reduction

D. Hydrolysis

Watch Video Solution

9. H2SO4 has great a�nity for water because

A. It hydrolysis the acid

B. It decomposes the acid

C. Acid decomposes water

D. Acid forms hydrates with water

Watch Video Solution

https://dl.doubtnut.com/l/_l9cApAGsv6vx
https://dl.doubtnut.com/l/_LLzlnzXHF2NM
https://dl.doubtnut.com/l/_STqfnDnms0nF


10. When conc. H2SO4 comes in contact with sugar, it becomes black due

to

A. Hydration

B. Declourisation

C. Dehydration

D. Hydrolysis

Watch Video Solution

11. Formic acid is a dibasic acid in nature: hence, it forms:

A. CO

B. CO2

C. C3O2

D. SO2

https://dl.doubtnut.com/l/_STqfnDnms0nF
https://dl.doubtnut.com/l/_kOq7exoODYfX


Watch Video Solution

12. Sulphuric acid is dibasic acid in nature: hence, it forms:

A. Normal salt

B. Acidic and basic salt

C. Acidic salt

D. Double salt

Watch Video Solution

13. The catalyst uned in the manufacture of H2SO4 by contact process is

A. Plantinized asbestos

B. CO

https://dl.doubtnut.com/l/_kOq7exoODYfX
https://dl.doubtnut.com/l/_WRhjafwQusxA
https://dl.doubtnut.com/l/_FBE7cVFncu0X


C. NO

D. V2O5

Watch Video Solution

14. Which of the following does not give hydrogen peroxide on

hydrolysis?

A. H2S2O3

B. H2SO5

C. H2S2O7

D. H2S4O6

Watch Video Solution

https://dl.doubtnut.com/l/_FBE7cVFncu0X
https://dl.doubtnut.com/l/_fYsvbFN8SGLY


15. Select the correct statement about Na2S2O3.5H2O?

A. It is also called as hypo

B. It is used in photography to form complex with AgBr

C. It can be used as antichior

D. It is used to remove stains of I2

Watch Video Solution

16. The correct oxidation state of sulphur atoms in H2S2O3 is / are

A. +6, - 2

B. +4, - 2

C. +2, + 4

D. +5, - 1

https://dl.doubtnut.com/l/_iEN4zq5DvmQM
https://dl.doubtnut.com/l/_VVM1Hl4rYkM0


PRACTICE SHEET - 4 (Linked Comprehension type questions)

Watch Video Solution

1. Passage - I : 

  

Yellow solid 'A' is

A. H2SO5

B. S

C. S2O7

D. None of these

Watch Video Solution

https://dl.doubtnut.com/l/_VVM1Hl4rYkM0
https://dl.doubtnut.com/l/_2AFfULF8jupN
https://dl.doubtnut.com/l/_v5HE3ioAvrns


2. Passage - I : 

  

Brown gas 'B' is

A. H2S

B. NH3

C. NO2

D. All of these

Watch Video Solution

3. Passage - I : 

  

https://dl.doubtnut.com/l/_v5HE3ioAvrns
https://dl.doubtnut.com/l/_xcKiSKk4kS2k


Solution 'C' is

A. SO2Cl2

B. Na2S2O3

C. H2O3

D. None of these

Watch Video Solution

4. Passage - II : 

  

The oxidation state of 'Mn' in 'B' is

A. 0

https://dl.doubtnut.com/l/_xcKiSKk4kS2k
https://dl.doubtnut.com/l/_zfZckOXBznlg


B. +2

C. +4

D. +6

Answer: B

Watch Video Solution

5. Passage - II : 

  

During its reaction with Cl2, 'X' acts as

A. Oxidant

B. Reductant

https://dl.doubtnut.com/l/_zfZckOXBznlg
https://dl.doubtnut.com/l/_AmEphNrlCDq7


PRACTICE SHEET - 4 (Match the following questions)

C. Acid

D. Base

Answer: B

Watch Video Solution

6. Blue colour of 'C' is due to the formation of

A. Mn + 2

B. CrO5

C. I2

D. H2TiO4

View Text Solution

https://dl.doubtnut.com/l/_AmEphNrlCDq7
https://dl.doubtnut.com/l/_8LP0h9BynJfc


1. Na2S2O3 may react with the compound given in Column-I, Na2S2O3

exhibits the properties of the type give in the coloumn-II, matter the

reactants given in column-I with the type of property, properties given in

Column-II 

COLUMN-I COLUMN-II
(Reactant) (Type of property)
(A)Cl2 (p)Complexing agent

(B)AgBr (q)Disproportionation
(C)HCl (r)Only as reductant
(D)I2 (s)An antichlor

Watch Video Solution

2. Na2S2O3 may react with the compound given in Column-I, Na2S2O3

exhibits the properties of the type give in the coloumn-II, matter the

reactants given in column-I with the type of property, properties given in

Column-II 

COLUMN-I COLUMN-II
(A)SO2 (p)turns acidified K2Cr2O7 solution green

(B)CO2 (q)turns blue is Red

(C)H2S (r)turns lime water milky

(D)H2O2 (s)used for restoring old paintings in the museums

https://dl.doubtnut.com/l/_RrJkBNrgIVR6
https://dl.doubtnut.com/l/_7o9nNyRbDhP8


PRACTICE SHEET - 4 (Integer answer type Questions)

PRACTICE SHEET - 5 (Linked Comprehension type questions)

Watch Video Solution

1. Sulphuric acid acts as a powerful dehydrating agent. How many no of

carbons are formed when glucose molecule is dehydratred by H2SO4 as

reagent

Watch Video Solution

2. One molecule of H2SO4 forms how many no of series of salt's

Watch Video Solution

https://dl.doubtnut.com/l/_7o9nNyRbDhP8
https://dl.doubtnut.com/l/_xUrVKhCUtHBH
https://dl.doubtnut.com/l/_LjQEIhAw7SEN


1. Passage-II: 

 

'C' is

A. CO2

B. SO2

C. Cl2

D. H2S

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QaF3OlJC1SKB


2. Passage-II: 

 

'D' is

A. BaSO4

B. BaSO3

C. BaCO30

D. Ba3 PO4 2

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_IZCnzsaNK8yf


3. Passage-II: 

 

'G' is

A. CrO - 2
4

B. Cr + 3

C. CrO5

D. CrO3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qdNdHtDJMOJk


PRACTICE SHEET - 5 (Match the following questions)

PRACTICE SHEET - 5 ( Integer answer type Questions)

1. 

COLUMN-I COLUMN-II
(A)Na2S2O3 (p)NaCl

(B)Na2S2O3 + AgNO3 (q)Na3 Ag S2O3 2

(C)Na2S2O3 + Cl2 + H2O (r)Na2SO4

(D)Na2S2O3 + I2 (s)Na2S4O6

Watch Video Solution

[ ( ) ]

2. 

COLUMN-I COLUMN-II
(Elements) (Covalency)
(A)′O′ atom in O3 (p)1

(B)′ S′ atom in hyposulphorous acid (q)2

(C)′N′ atom in NO + and N2O4 (r)3

(D)′N′ atom in N3H (s)4

Watch Video Solution

https://dl.doubtnut.com/l/_6DF3yQrAD92s
https://dl.doubtnut.com/l/_WAPsKTYoWsFG


1. When This sulphate ion is oxidized by iodinc, new product 'X' is formed.

The number of s-s linkage isi/are present in 'X'?

Watch Video Solution

2. Find the the number of ions having S-S bond from the following 

S2O
- 2
4 , S2O

- 2
6 , S2O

- 2
2 , S2O

- 2
3 , S2O

- 2
7

Watch Video Solution

3. How many of the following is not oxidised by

O3?KI, FeSO4, KMnO4, K2MnO4

Watch Video Solution

4. The di�erence in the oxidation state of the two types of 'S' atoms in

Na2S4O6 is

https://dl.doubtnut.com/l/_I9BlBuN2Avkl
https://dl.doubtnut.com/l/_UHPV62ZvJUiX
https://dl.doubtnut.com/l/_SgzTmkf4EO8m
https://dl.doubtnut.com/l/_rP06RrRBOXbB


Watch Video Solution

5. The oxidation state of the product when 'KBr' and ′KBrO3′  react in

acidic medium is

Watch Video Solution

6. When F2 react with H2S a product (x) of sulphur is formed the

di�erence in the oxidation state of sulphur in H2S and the in the product

(x) is

Watch Video Solution

https://dl.doubtnut.com/l/_rP06RrRBOXbB
https://dl.doubtnut.com/l/_jyF54G49rklC
https://dl.doubtnut.com/l/_aRnuC5g7tWTK

